Table V-4.5 Results of Herders & Farmers Interview: 3.4 Livestock Dcreased (1/2)

03	35	Sa e	s I	l ösi	or (	Σ'n	ed J	l'air	is.																03	i Ça Hos	कर्ता इ.ज.	(2). I Entru	lorse sted	(3) <b>A</b> nin	Cat Na	ie, (4	) Ya	(5)	S	ер (	(6) (	Goal	7	Othe	rs. (	5): To	lek	Ųoil
	_	(2) [			Tota (S	Γ.				(1)	1) [(2)		um l		ner [(6)	[T/)	(1)	T (2)			eas(		5 ED	, I		Disa	sier	, Aa	ciden	1	1		Dan (3)		by W [(\$)		[/*	To		 4 [ <i>[</i> ] ]		Tota		
[1]		1	10	112	12	1 2		Ŋ	(ř. 179	7.4	13.2	13:7	1.7	1 -	100	122	13.6	11.1	13.	1 2	1	7 1	1	7 `	4	4:	115	113	113	3.5	"	1 149	13	57	13.2	12	[()	"	13	) (3	I (S	15	[6	1
		2	2	] :	37	1	1	٠.	52	-	-		ŀ		-	-	:	1.	-	:				.	. [ .	:	:	:	:	:	Į:	;	:	] :		:	:	:	:	:	:	:	]:	
5		23 12	19 2	30		0 3	0	- ŀ	310 179			2	:	16							1						-		:	:	]:	:	:	:	9	:	İ		1:	2	:	25	1,	
:	ľ		5		83				86 64	-		1	:	57	3				:		Τ:							5	3			:			Γ:			[:	1:	1	:	57 13		
:		اڼ	4	:	23	1 7	1	-	34 43	٠			1:			:	:			1:	1:	1	1.		1	:					1:		:			:	-	Ŀ	1:		-	-	:	١.
•	-	6	4	ŀ	55		1		65 21		3	2	•	15	3			-	:	:				-	.   :	1		10			Ŀ	2		:		Ŀ		Ŀ	1	3		25	3	
÷	1	٠	2	:	30	7	1	-	39]	1	i	li	:	15	i		:		:	:			٠ [ ٠	.			:				:	:		:				li	li	i		15	;	ľ
i		2	3		30	3		-	32 36			:	:	:	1	:	:	:		1:					. [		:	1:		:-	:	[:	:		] :	:		:	-		:	:	:	١.
÷	+	╣	2	-	10				88 20				-	<b> -</b> :-	÷	-	÷	-		1:	+:	+	-	-   -	- -	<del> </del>	-	<b>:</b>		- <u>-</u>	ŀ	l÷	ŀ	- <u>:</u>	-:	-	<del> </del>	ŀ	ŀ	+:	-	-	:	
:	Ì	4	:	12	107		-1		124 25		;	١.	:	:	:	:	<b> </b> :	:		:	:			: :	1.	:	:	1:		:	1:	-	:	:	:	:	:		1:	:	1:	1:	:	ŀ
•		1 6	3		29 19	1 10		٠	47 39			3	<b> </b> :	30	10	l :	Ŀ	-	1:	:	1:		1:	: :	: :	:	1:	:	:	1:	<b> </b> :	:	•	:	:	:		•	·	3		30	10	ŀ
÷		3	2		13 17	1	ι†	-	62 34			-	1	-	l →			-	1	1	1		1		+	1	-	Ť	-	H	H	-	-	-			-	-	H	+÷	Ι÷	-:-		ŀ
•	ŀ	i	i	-	40	6	1	-	49	-		:	-	:	ŀ	:	-		-	:	:	:					:	:	:	:	:	:	:		:	:	:	:	:	:	:	:	:	
·		3	6	i	19   59				27 106			:		i	:	:	:		:	:	.			. .		.	:	19	10	:	:	1:	:		:		:	:		1:	:	20	10	
•		3	7		10				11 51				:	2	5	:	:	:	T:	1:	] :						1:	:	1:	1:	[	:	Ë		:			Ĭ:	:	1:	:	ž	2	Ť
1	Ľ	9	3	:	100 20				195 30		•	<b> </b> :	1:	<b>:</b>	:	:	<b> </b> :	:	-	1:	:	:	1:	١.	.   .	<b> </b> :	1:		1:	١.	1:	l:	:	:	:	:	:	Ŀ	:	1:	ŀ	1	1	l
÷		<u>.</u>	3	Ŀ	52		2	-	77 15	-	•	Ŀ					<u>.</u>		١.	1:	:	-	1	- -	•	<u>:</u>	ŀ	ŀ	-		ŀ	ŀ		•			-	Ŀ	ŀ	1.	Ŀ	Ŀ	Ŀ	ļ_
:		:			17	10	ıļ.	-	33	-	-		-		-			-		-	-	:	-				:	:	:	:	ŀ	:			÷	-				:		:	:	ĺ
2		19	7		24 11!	× 58	,	. 2	37 201		-	:	:	:	]	:	:		:	-	:		:	:		:	-		-	-	]:			:	:		:	:	:		:		:	Ì
1		2	1		34 17			- 1:	\$3 23	$\div$			-	-:	÷	-			<del> </del>	-	+	1:	-	-	+		-	÷	-	-	-	-		•	- <u>:</u> -			-		:-		ŀ	-;-	-
;		1	2		18 12				30 29		:			:	:	•			:	1:	:	:			1:	:		1	1	-				•				:	:	1:		:	:	
?	5	50	5	8	90	25			179 28	3	•				:	•				-	:				1	:	:	:			1:	:	<b> </b> :					3	<b> </b> :	:	-	٠	:	
4	1	7	1	6	62 64	X	3	. 1	64 79						:	•	-		-	1	4	6			1	1-	1	1:			1	-	:	•	-	-	-	-	ļ :	Ť:	-	4	6	-
7	H			3	22		1	٠ [ :	34 17	•		-		ŀ	-		-	-		-	1		-			-	-	ļ -	,		ŀ	•		•	-					:	-			
÷	E	7	ij		31	1:	1	- :	35			÷	<del>                                     </del>	-	-	÷	-	-:-	2	-	:	ŧ	+:	:		-	:	-	÷	-	÷	÷	÷	-	•	-		÷	ŀ	2	-	÷	÷	ŀ
İ	l	ā	6		14 17	١.	:	-[:	23 32					5	:			*			:		:	:	:	.		:		:	:	:			:					1		2		
:	H	1	1		23	١-,		٠	43 2	:								:		:	:		:	1:	:	:	:			:					:				:	:		:	Ï	
:			11 15		19 87	21			53 128	-					:				Γ	Ι.	Γ.	Ι.			7	Γ			:		] .		-	•	•						:			
:	H	3	2		15 15				27 26	:1		4	:	15	3		:	:	1 !	:	3	2	1:	1:	1:	1:	l:	-		:	:	:		•	•	:	:		١;	5	:	18	3	
÷	H	- I.	-1		7	7	1	٠ ا	12 14	:			::		ļ.:				Ŀ	:	Ŀ	:	-			-	ŀ:			-:				<u></u>		-	_		ļ:	-				
•			8 19	٠	30	5	.	٠   ٠	43	-	•			•		•	•		•	•	•				.	-	-	•								٠	•	•	ŀ	-				
:	1	9 📗	4]		8	-		· [ :	21	- [				:					:	:	:	H	1	Į:	:		:	÷		-			:				$ \cdot $		:	:			Ĵ	
3	1		4	-	22	17	†	-13	18	÷			-	5	Ť	•	=		-	-	:	-	-	1	:	-	╁÷	-	÷	<del> </del>	-	:	-:-		÷		÷		:	<del>-</del>	:	5	Ť	-
:	1	2	1		21 7	2	.	٠,	36 12	-						٠.		-		:			:	:		-							23	-	:				-	23	:	•	-	ŀ
1		4	13	•	90 6	16		: [ ];	28 17	-	,	5 19	:  -	80	1		:	2	!	<u> </u> :	2	:	1:	:	1:	:	:	:		:		:	1					:	1 9	20	:	82	1	ľ
•		• [	10		37 38				51   52	- [					•	-	÷	2			-		<del>:</del>	1:	) : :	<u>:</u>	i	:	÷	-	_	÷	1	•	•	-		:	9		-		:	
2	1	3	3		10 27	11		:   :	16 47		•	3	•			:		•	:		;	:	-	1.	:	l :	:	:	:	:	<b> </b> :	:	:	:		:	:	:	١.		:	21	;	
2		9	3 6 8 2 2 17 7 3		11	13		:  ;	28 17 51 52 16 47 21	-	2	4		20 10 8 50 	5	•	1					:						<u>:</u>						-	÷		·-:	,	2	3		21 10 8	5	
1	1.	-	2	-	i	֓֞֞֞֞֞֞֞֞֞֓֞֞֞֞֞֓֓֓֞֞֓֓֡֓֓֡֓֓֡֓֡֡֡֓֡֓	} .	. [	9			5		8	1	-	•	•				-	١.	1.	١.	Į 2	-			· 1			3					·		10		8	.1	
•	2	23	7		128	20			78		170		·	50		-		•		:		Ŀ	:	١.	1 -		١.	:					:	· }	•		٠.	-	170			50		
:		3	3	:	27	20 5 5	-		39 39	$\exists$	-	2	:	3				•	2	:	16				<del>:</del>	-	:	-								1,14,14,14,17				2	-	16 3 4	4	
•	į	8	1		18	2			5 32	:		11	:	:	:	:		•			!	١.	-		:					:	:						:	:	:	11	:	4	-	
•	1	2	2		25	-	1	:   '	28 6				:	:	:	÷	: i			:		:		:	:		:	:				:	:				•	:	:	:		:	•	
:	1	10	3		20	1	Ĭ.		50 35	•		1	-	9	•	•	-	:		:		:		-			:				-					:	•	•	<u>:</u>	,		10 5	•	
	3	4	3		\$8 10 27 11 95 7 350 128 17 27 4 18 25 2 41 101	31	1:		9 167 178 28 39 5 5 6 50 55 54	:			:	5		:	:	•		:	:			:	۱.			:	:	:	:	:			:	:	•	:	•		•		- 1	:
	ļ	6	2242313512514		78	-		-   ',	ŭ)	-	-	2		- 3	•	-		:	2			-															-:			1		5	3	
	3	5	5	•	76 7		ŀ٠	- } 1	17	*			ı٠	<b>65</b>	•	-		•		١.	-	1 -	1 -	١.	1.		۱.	٠.	÷	•	· ¦	! - i			- 1	.:	٠	$ \cdot $	ì٠	1 - 1	÷	¥0		١.
:	3		4		35	27 3	:		14 58	-	2	2	:	10	•	-		:	5	ļ٠	:	:		١.	-	[ -	:		:	:		-				:	-	•		1 - 7			:	:
:	ľ	1	5		12	3	Ι,		21			12		10	3		:	•	:		:	:	:	:		:			:		:	1	5	•	3		:	:	8	17		13	3	
•		104766522411-268	5	11 4 12 23 9	190 30	36 15 10		2	88 20 21 37 31 32 52 34	-		•	۱ - ا	20	10	•	•	:		:	] :	١.	:		1:	-		:	·			-	-			-	:		:	:		20	10	
4	1	6	:	12	300 93	10	:	. 3	32 52	:	:	•		20			:	:	:	:	<b> </b> :	:	:	1:		:		:	:	:	:	:	:	:	:		:	:	į:	:		20	•	
	1	. [	٠.	9	25	28 20		. [	54	- [	٠,		۱.				- ]		<u>                                      </u>	Ŀ.	ĺ٠	1 -		١.	1.	۱.	١.		١.	١.	1.			٠,		-		١,		.				1

Table V-4.5 Results of Herders & Farmers Interview: 3.4 Livestock Ocreased (2/2)

03.3							80	Anin	r-a!																		63 T	Coss	ल€	ntrus	ed.	ហាក	ř						oĮ. C	901,				) To			_
(i)	C	2)	(3)	7) ] [4]	01a   (5)   22	1	6)	<u>(/)</u>	(8) 42	(1)				n 10 (4)		(6)	{/	U	(2			sea g		(6)	(7)	(1)	3) (c (4)	⊁sas [j]	er 8 [(4)	/cc (5)	(6)	12)	(1)	(2)	Dam [3]	ge t	(5)	(6)	(7)	<u>(i)</u>	(4)	(3)		(5)	(6)	[]	Į
7		-	2 13		30	) 2	9		42 32 89						•	:	:					-	:		-	:	:	:	:	:		:				:				•	:	] :	:	:	Ė	:	
. 2	1		19	:	12	0 7			212 37	ŀ						:	:	-				-			-								•		•	•	٠	:		•	:	:	:	:	:	:	
•	† 3	i	3		7	1	•		19 23		-	+		-	-	•	-	:				-			-					-		:	-	·	•	•		•	•		-	-	:			:	1
-	1	2	2 7		20	3	4		64 206		:	1		-		•,	-	1:			:	:	•	•	:	<b> </b> :	:			:						:	٠	:	•		:	:	:		:	:	
. 2		1	i	•	13		7	-:	22 40	÷	:				:	-:	:	-		1	:	:	-:-	-:-		÷	:	-	:	:	- :-	÷	:	-		:	:	:-	•			-:-	÷	:		:	
		4		5	13	1 2		:	61 15	:	:						:	:			.	-	:		-	:	:	:	:	:		:	:	:	:	:	:	:		:		<b> </b> :			:	:	
1			2 23	•	59 97	8	8	:	149 159	:	:		1	:	:	:		:			:		:	:	:	:	:	:	:		:	:	:		-	:		:	:	•	:	:	:	:	:	:	
2		1	•	8	59	ijī		:	63 27	7			1		•	•	-	-	-		- 1		•		:	-				:						-		•	•	7		1	:		:	:	
		-		2	36	2	3	:	96 48	:	:		:		:	:	:	:					:	•	:	:	:	:	:	:	:	:	:	:	:	:	•	:			:	:	:	:	:	:	
2		15		13	X	O I	15	÷	371 33	:-	-		-	:	15	-:-	-:	ŀ		-	-	-	.:		-:	-	-	-		2	-:-	÷	-:-	-:-			-:-	-	•	÷		-	÷	47	÷	-	
3	1:	2	11	2	50   12	1	7	:	71 179	:	:		:		:	:	•	:	:			-	:	:	:	:	:	:	:	:		:	[:	:	:	:		:	-	:		:	] :	:	:	:	
:		٠	10	:	27 43		8	:	34 71	:	:	I	-			:	- 2				:	:	:		-	<b> </b> :		-		:	:	•		:		:	•	:	-		:	:	:	:	:	:	
	1			7	75 30		7	:	112 41		]	1			:	•		-	:	1			:		٠,	[	T:	:		:			:		•	•		•	, ,	• •	·	:	-		:	-	
3 -	ļ	2	1	:	6	1:	5	:	88 11	:	:				6	2	:				:	-	5	1	-	:	:	:	:	1		:			:	:	:	•	:	:		:	:	9	4	[:	
2	1_	4	3	÷	18	1	5	÷	218 51	÷	-	╀	:	-	10	ž	-	<u> </u>	<del>:</del>	-   -	:	-	÷	÷	:	-	<u>:</u>	-	:	2	÷	-	÷		-	.:	÷	:	:			<u> </u>	:	12	2	-	
3			2		20	i :	6 7	:	34 23	:	]:		:				:	[:		:		:	:	:	:	:			:	:	:				:	:						:	:	:	:	:	
3	İ	3	1	5	3:	3	4	:	26	:	]:	Ĺ	:		•	•		:	:			-	:	-	:		<u>:</u>	:	-	:					:			:	•	:		:	:	i			
	1	3	1	7	9	1	73 -	•	73 10				:		11	2		,	.		:	-	2	1				:	-	:		:			-			:	•					-	3		
:		-	1		5	5] 2	29		9 85	2	:		:		•	•	:	:	:		:	-			:	:	:	] :	:	:	:	:	:	:	:	•				:				:		:	
	1	7	3	:	1	9	5	•	52 25	Ŀ	Ŀ		:		:	:			│.		.		:	•	:	Ŀ		<u>.</u>		:			Ŀ		Ŀ				•			Ŀ	Ŀ	-		Ŀ	_
5 .	۱	2	3	:	2	3   1	10	•	39 38		:		:		4		:	:	] 1			-	•	•	-	:	1		:	:			:	:			•	•	-	-	2		<u>:</u>	:		:	
1 .	ł	2	3	:	2 5	0	4 8 9	•	35 34 92		:				2	3	:		:		3	•	3	2	-	ŀ			:	-	:	-	·					:	•	٠	-	4		5	5	:	
5	1	23	6	-	5	5	3		76 18		-	- -			×	=	-		-	+		=	3	-		-	-	-	-	5	ŀ	Ť	-		-	-		-			ļ -·	-		37		ţ÷	
8 .	ı	6	6			1	•		0 27								:		:		:			-	:		:		:										•			:					
0 -		3	3	2	3	1	2		9 49			,			32							:	-1	-	÷	_		_	  -	-	:-		-	-			1	-4-	-	-	-	7	-	32	8		-
3	ŀ	15 19	4	11		7 1	18	٠	135 54					٠	6	ŀ	:	.	:		:	:	2	•	:	ŀ				•			ŀ	:	٠		•	•			:	:		0	·	-	
š .		3		11	1	6	2		32 58	<b> </b> :	1.	١	!		10	9	:	1:		-	:	:		:	:	1:	:	١.	:	4	:	:	<b> </b> :		-	•						1		10	3	· ;	
		4	3		3	Ħ	3	•	11 40	-·	1			:	•	•	:	1		-	:	:	•		-	-			:			:			-	•	•	•				:			i	•	•
8	1	3	4	:	6	- 1	3		12 78	<b> </b> :	:			:		٠		:	:		:	:		•		:			:		:	:	:		:	•	•	•			2		:	1:	:	:	
ì	- 2	5	6	11		0 :	14 21	•	52 81		-:	-	:	÷		÷		ŀ	:	-	-	:	-:-	- 1.		÷		-	:	៉	1		ŀ		-	-	÷		÷	-	-	-	÷	1:			
2 ·	ì		4	,	1	5			19	:	1.	١.	:	:				:	:		:	:	:	•	:	:		:		:	:	:	:	:	:	•		•			-	:	:		:	:	
5 .	1	10	4 2	13464	2	•	3 . 3	•	38 14 9	:	]:	.		5.	1	:		-				:	· -:	•		-			:			-	- - -		•	:		•	-	-			5	1 -	:	-	
5 .		2	2	13	2	0	3	•	9 38	-	1	١.		10	`. ; 7			-		·		:	•	•	-		į-		-	:	÷					•	•	•			-		10	;	<u>:</u>	1.	
9 .		5		6	1	. [	:	:	38 12 6 69 63 41 24 42 6	:		٠ [	٠١	•.	! -		1:	:	:			•	:	:	1:	:		:	:	:	:	:	:	:	:	•	:	-	:	:	:	١.		١.		:	
6	-	2	÷.	1	3	3	5 6	•	69 63		:	4		•	20	:	:	:				$\vdots$	:	-	<u>:</u>	:	:	÷	-:				-	<u>:</u>	:	:	÷	:	-	<u>:</u>	-:-	:	<u>:</u>	÷	•	÷	
3 .	į.		•	3	;	7	,	:	41 24	:	Ι,	1		٠	20	:	١.	۱.	١.		.	:	• :	-	١.	:						1:	۱-		:	:	-	-	۱-	١.		١.	١.	20	٠.		
5	ļ	2	1	i	1	8	:	•	6	:		. 1		•			ľ	]:	:		:	:	•	• • • • • • • • • • • • • • • • • • • •		Ŀ	:	1.		:			<u>:</u>		١.		•	:	-	<u>:</u>	:	:		5		:	
7	1	2 6 2 3 3 1	11 6 4 2 1	135.1.27	2 4 2 2 4 4 5	12	\$ 3 2		143	۱.		١.	?			t		:			:		2		÷	I٠				4			<u>:</u>	-			۱ - ا	•	٠		T			26 •			
20456789990000000000000000000000000000000000		3 1	1	2	3			•	12 8 34 161			٠ļ		-	:	1	4	۱-					•		,	:	١.	۱.	•		-	1:	۱.	:	:			:	:	:	:		١.	•		:	
Č,		8 7	8	·	1)	17	8 5	-	161					•	-:-			-					÷	-	:	~	-	•	:	:		~;	-	-	:	:	÷	·	÷		-	:	:	:		-	
01	*******	7 9 1	9		6	0	3	:	48 80	:	1	·	:			:	:		:				•	١.	:		١.		:			:	:	-		:		•	:	:	:	:	:		:	:	
05 ·	1	1	5323		36222	8	2 6 2 1	•	80 37 40 29 8 38					•	•				:				· ·	:	: :	<u>.</u>		1.	:	:			<u>:</u>	-	١.	:	:	:-	:	Ŀ	:		-:	-	:	:	
XI :		11	5	[	1	1	٤١		8	:	]	1				:			1:	1	:	•	•		:	١.		]:	:	:	:	•	١.		-	1		:	:	Ī		:	1:		:		

Table V-4.6 Results of Herders & Farmers Interview: 3.5.1 Cost of Livestock Breeding (1/2)

_			_(	Ħ.	Hire	dЪ	X)OR							Ϋ́			-		- -	٥2	Reg	ai a	ng ol	Aum	Hu				ſ			_	_			Ū,	, kk	U.S			_
	5 T	7	T A	T	unit	13	Only	H	ice	[-	Amol	7	Pimi	1	17.3	T 3	F	70 T	1	T 2	ΓĐ	U	ūģ Į	O ty	Pik	•	Amril'	Brad	1	12	31	Fig.	51	61	,	В	ษณ์ไ	Only	P 60	e Artv	- [
•	ij	•	-	t	•	t		1		†		1	•	t	1	1	t			1	† <del>፣</del>	1	:		<del> </del>	7	·····	,	ŀ	1	÷	it	1	1	-		-		1		•
	:		:	1	:	-		į		1			:	1:	[]:			1:			.		:			1		ļ :	ŀ		-			1					1	-	-
•	١	•			•		•	i		1			•	1		1	1	1	1	-	.		:		:	:	37 0^^	٠,		:	-		:1		:	:	:		:		_
-	1		1:	1	-:	-		ļ				+	÷	1		+:	+	1:	1	+	1	1-	:		1:	-}	34,500	! <del></del> -	1	÷	-	:	-	+	- -	-	- je	70	o, 1	0 105.0	00
٠	۱	•	١.	1	•	İ	•	į		ŀ		-	-	ŀ	•	Ŀ	1:	1:	1		ŀ		•			1	•		Ŀ		•	1	١.	•	-	:			3 15 00	0 45.0	)00)
			:				. :	į		ĺ		-	:	[:		1.					1:		:		Ί			Ì	:			:	:	:	-		1				
:	:		ŀ	ļ.		1.	<b>.</b>	·ŧ		¦					-	ŀ	1:	:		:	1	ļ	:			- ].	14		Ŀ	1:	$\cdot$	1	-	٠.	- -	:  -	<u>.</u>			25,0	00)
	:		:		:	ı		1		-			:	1:		:	Į.		η.		1.		.			-	-		ŀ				-	-	-]			,	-	1 10,0	XXX
•	:1	:	:	1			-	i		į		1	:	1:	1:	Ľ	1:		1:		1:		:			1			1:	1:	:		:	.]	:1.		:		]	26,3	00
		•	ŀ		_:	1_				-			•	ŀ					1		ŀ	_	.			•	2,500	( 	:					:[	- -	- ]				10,0	00
	:	:	:		:			į	•			1	:	1:	:	1:					1:		:					Ì	:	:	:		1	:	:					6,3	
•	٠l	•	١.	ŀ	•		-	ŀ		1		1	•	ŀ	•	1.	-	1.	·	•	1.		·		-	4	•		ŀ		•	$\cdot$	٠	٠Į	- -	·	-	: "	-	4	-
	:	:	:		:			Ì	٠.	1		1	:	Ľ		:	:				:		-	2	ĺ	1		į :	Į:	1:			1	:	[]		2		2	32,0	
•	1	•		1	•	T		T		T		i	-	E	13	1	1	ŀ		1	L	1		, .		1		-	Ľ	E	-	1	Τ	1			-		4 9 0	26.0	
	1		-	1	:			Ì				Ţ	:	1:		Į:		;			:	]	-					:	Ľ	]:			-[	1	-[]	Ϊ.		:	2.00	ю.	-{
:	:1	•	Ŀ	1	•	-		j		1		1	:	Ŀ	!	1:	:	1:	1:		1:		:			1		:	l:	1:	:		1	.1	1	: :			:	24,0	100
	1	•	-	+		1-		-				-}-	•	1	-	1:	1	1			1.					-}	:		1-	•	-	•	-	1	- -	-   -	•	<u>;</u>	-		╗
•	: 1	:	:		:			į	•	ĺ			:	1:	1:	1:	1:	1:	1:		1:	1	:		į		-	i :	1:	1:					1			1		20.0	000
	٠	•		1				ŀ		-				].	1-	1.	1.	1					.		-  `	-	-	•	•	٠	-		٠	•	- -	-   :	•.			-	•
	:	:	-:	1	-:-	-		į		<b>i</b> –	_	+		1:	-	+:	1:	1:	1:	-	1-		-		<u> </u>	- }-			:	:	-	$\div$	-	ŀ		+	-		12.00	-	
•	١	•		1	٠		-	-	٠,	1		1	٠	1	•		-	1.	1	1			:		1	-	-	•	•	:	-	:	:	1	:1:		:		1	72,0	) (00
	:		:		:			į		1		ij	:	1	1:	1:	-	1:		1	1:		:			-	-		ľ	;	;			:	. [ ]	-			41.50	0 41,5	60
	:		:	1	·:	-		ļ.		-		-}-		1:	-	<b>‡</b> :	1:	-	1:	1:	1.	-	:		ļ			j . ; .	1	:	-	:1	: -	:	: [:	: -	-		<u> </u>	50.0 20.0	DO:
					•.	1		ļ		-		-		Ŀ			-	.		-	1.		-			-	20,000	!	2		٠			-	-[-	-	-	4.1		10,0	œ
•	:1		١.			1:		į		)		1	•	1	:		1:			1.	1.		:					į :	1:	:	4		:	1	:[:		:			21.5	60
	١.	٠.		1	•	1		١.		-		1		Ŀ		1	1:	1.5				1.	ا۔:	j		-			ŀ	1	-		٠Ĺ	١.	-   -	<u>.</u>	.: .			- 7.5	60
	:1	•		1	:	Ì		į				j	-	1:	1:	1:		1:	1.	١.			:						:		:		:	]	: [ :				1	44.0	00
	١	٠	ŀ	۱	•	1		ŀ					, ÷	ŀ	1			•	١	1.	ŀ		٠	1		- 1	65,000		•	٠	•	-	۱.	1	4	١.	•		٠,	1	-
•	1	-	+	1	÷	+-		1-		ļ		+		1	-	1:		1:	+	+	1:	-		· ;		-+-		<b> </b>	╁	÷	Н	1	7	╁	+	-			9		-
•	·l	•	1	1	•			ł		ŀ		1		ŀ	•	1:		1	1	1	1		.			1	•		ŀ	٠	•	:	:	1	1	۱.	•	1	2		-
			<b> </b> :					]		1		1	:	L		1:	-	.			1		:			1	-	:	:	:		:	-	1	. [		12		1	}	-
	:	1		1	- <u>:</u> ,			j	: )	<b>;</b>  -		4		ŀ	-	H	1	:	-		1:		:-		ļ	-}-				:	:	:	:	1		: <b>ļ</b> -	-:-		5' 3		- 3
•	.	•	١.	1	•		٠.	-{		-[		-		1			١.	.   -		-	١.		- į			-{	25,000	•	ŀ	۱.	-	-	- [	- }	٠ إ ٠	١,	•		<b>č</b>	3,5	00
				1	:			Ì				Ì	•	1:		1	-	١,			1.		:				: :	j :	:	1		1				:	:	٠.	9		
	١	<u>.</u>	ŀ	1		١.		1.		-		4.	•	ŀ	1:		1:	1:	ŀ		ŀ		:		1				Ŀ	Ŀ		:	<u>-</u> [.	: [.	: [:	١,			اي		
				1				Ì.						1:						.	.		.		Į				l:	:	-		-	.	-	.		: '	4		Ţ.
•	۱	4	١.	١	•		-	1		1		-	•	ŀ	-		-	1.		-	1		٠		{	•	•	١.	ŀ	•	•	:1	:1	1	٠1	:	•	1	1		-
	-1			1	÷	1		!		}_			÷	L		Ŀ	-	-		.			.		.]	1			Ŀ	Ŀ		$\cdot$	.	-	. ] .	.	•		8	1	
	1	•	:	1	:			i					•	1:	1:	1:	:	1	1:		1.		:		j	1		i :	l:	:	:	:1	:	1	1	1	•		2		
	۱.		ŀ	1	•			-		1	1	-		ŀ	-	1.	1	1.		-	1		-	1 -	1	1			٠	[ • ]		$\cdot$	- [	٠[.	٠ [ .	-	- 1		4	-	ď
	1		1:	1	:								:	1:	1:	[:					1:	£ :	:	: 1	1		12,000		1:	[:	:	:	:	1	:[:	:		. !	4		ij
1.4	1		1	1		T	_	1		,		1	-	1	-	1-	1	1	1	1	1	1	==				:		-	1		1	- [ -	1	1	1		1	0	YO.	
	.		ŀ	1					: ;	-			:	1		1:		:			1:					-	-	:	ŀ	ŀ		.]		۱.	. [ .	. [			9		
			1:	١	:							1	:	1:	1:	1:				1:	7	ł					•	] :	[:	:	:		:	:	: [ :	[			8	27,0	00
		÷	<del> </del>	1	-:-	1		+		-	·	-,	÷	1:		1:			1.	-	1.	1-:	-		.]~:	•			1		-		:				•	• •		1	[
			1:	1	:			1	. :	į				1:						1	1:	١.	- 1				•	į .	1:	:		:			1	١,	-	1	3		
•	٠l	•	١.	1				1		-		-	•	1	-	1-		1.	1.	1	ŧ.				1	-	-		-		$ \cdot $		• [	١.	- -	•				+	1
	1	-:-	ŀ.	+	·:-		÷-:	Ì.		1-		-1		1:	į:	1:	+:	1		1	1:	1	-	,		4	10,000	i	-		:	:}		. 1 .	_å .	ij		·	٠ <del>(</del>	115	00
		• !	١.	1	•		•	1		-{		+	٠		-	1.	ľ	1 -	١.	٠   ٠	١.			٠.	1	4		!	•		-	1	t	- }	•   •				-  :	1	
	1	:	1:		:	Ì		1				-	:		· ! •	1:	1:		1:				. ¦						:			:	.	1	:   :	į	-	- 1	4.		
:	1	•	1:	1	<u>-</u> -	ļ.		1-		j 		- -		1:	1:	1.		1:	1:	- -	ļ.,	ļ	:   		ļ	-   -			:		-1	:1	- [-	1-	-  -	:  -					
	. [		١:		٠				, ,					1.	-		-	١.	١٠		I٠		- 1	-:		4			:	E		-	- [	- [	٠,		•		4.	1	
	1	•	1:	1	•	1.	-	1	: '	í		1					1	4		-	1:					1	8,000 12,800		1	1:			1			1	•			1	
	J		١,	1						ł		i		ŀ	-			1.	٠ŀ		Ĺ		. !		}	'		.,,	1.	J .	•	-									ا
			[:			-	3	1		ì	10,0	Α)				1					į :					j	•		:							1			6. 2	:	
١.	۱.	٠	۱.	.				•		-				1		1.		- 5	1	-	į.		-			ŀ	·		-	•	•	-	- [	- [		-	-		4	4	٠.
:	:		1:	1	:					)		:		1:	1:	1:	:				1:					1	•		1	:	:						:		Ś	1	j
			٠	ŀ		-		- .			_	4	-		ŀ	4 .	٠.	ij.	. 1	- 1	<u></u> } .	1 .	- 1		ļ	4.		ļ	-		-	:	Į.		-   :	٠ إ	•	٠.	4	ببيان	إ
			[:		:			: `		1			:	:							į.					: 3	1/0,000	grola	1					:[	: :	1	•			10,011,UX 10,0	(00) (00)
		-	١.	. [		İ		-		ŀ		.1		1.			١.						.				_	١.	١.	١,	•				. [ .	-1		1.	3	50.0 35.2	Ю,
				The state of the	Total Property   Tota			6         7         8           8         1         1         1           8         1         1         1           9         1         1         1           1         1         1         1           1         1         1         1           1         1         1         1           2         1         1         1           2         1         1         1           3         1         1         1           4         1         1         1           5         1         1         1           6         2         1         2           8         2         2         2           8         2         3         3           9         2         3         3           1         2         3         3           1         3         4         3           1         3         4         3           2         3         4         3           3         4         4         4           4         4         4				Arial Criy Price Arial									9 / 9   9   9   9   9   9   9   9   9				9 / 9   9   9   9   9   9   9   9   9			37.800 3.000	3.7,000	37,800 2,000 2,000 2,000 3	2.000 115.000	2.000 1 2.000	25.000 25.000 25.000 25.000 25.000 27.000 37.000 37.000 37.000 37.000 37.000 37.000 37.000 37.000 37.000 37.000	25,000 12,000 4 42,00	2.500	2500 28000	37.900 37	37.00 (1.1)	2.900 3 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	3.7800 (1.500)	Mart   Part
Table V-4.6 Results of Herders & Farmers Interview: 3.5.1 Cost of Livestock Breeding (2/2)

1_		_				_	_0	. Hare	d la	oor Nasa	Price		 آمشا			<u> </u>  -	. O	CUR	rai e.	om	+	2 R	eoa	nng o	Anina Oakz	operativi Rut	Anve	ER LO	npar 	y, •	. 25	Fion	1130	٠,	) SC	63 T.	oving	Price	Log r	22 12
П	2	3	. 1	3	Ē	7	8	1977	15	Zriy.	Price	1	Velini	, 1,	Uttair	1	2	3	1	3	[6]	7;	8	Oral	UNY	rnce		PUBLIC	1	[2]	3	Ϊ̈́		17	18	Unit				1
	:		:	:	:			:				į			:	:	1:		:					:	1	10,000	3,500 10,000	:	1:	:			.   .			-		2 12 000 2 10,000	24.0X 20.0X	,
	-	1:	•	•	-	•		•				1		1	•		•	•	:	•	:		$\cdot$	•	1	10,000	4,000 10,000		ŀ	$ \cdot $		•	·  :		•	-	;	3	40,000	<u>'</u>
	-					-		:				3			-			-	Ŀ		[.]		-			12,000	12,000		[:			-1.	١.			-	Ì			!
	•	:	٠	:	:	•		-	-			3			٠	<b> </b> :			1					•		50,000	50,000	1	E							•		5 10,000 5 10,000		
<b> </b> •	-		-		٠			. •	1			-		-	•	ļ - ˈ	٠	-	١.	-	-		-	÷	i	20,000	20,000	: -	١.	-		- -	١.	-		-		10,000	80,000	١,
:		:	-	Ċ	:			:				j			:		1:	]	:			1		:	1	20.0 30,000	20,000 30,000		ľ		:		: :	:		:	'	200	80,000	1
:	•	•	-	-	1:	-	-	. •	1			1		1	-	ŀ	:	-	7	•			1	÷		15,000	15,000	4 :- <u>-</u>	1	1-		- -	i.	1			† <u>:</u>	6,000	30,000	
		:	:	:	:			:			ĺ			ij	:		:		i.					:	,	10,000	10,000 20,000	: :	ľ					:		:		5 8 400 5 20 000	42,000 100,000	
	•	•	•	•	•	•		•				1		·	•	•		-	•	•			1	•	!	11,000	45,000 11,000		•	٠		1	•	-		•		,	60,000 60,000	
<b> </b> :	•	-	†÷	:	:		;		.			-  -		+	-÷-	:	-	:	÷	:		+	: -	<u>:</u>	<b>:</b>		-	•	i	-:	-	:	+	-	<b> </b>	-:	<del> </del>	76.000	26,000	)¦^
	•		:	•	:			•				-			•	•	:	•						•	1	40,000 30,000	40,000		•	٠	•			:	$\ \cdot\ $			18,000 20,000		
-			ŀ	ì		-						-		.[	•	٠	ŀ				$ \cdot $		1		i	60,000	60,000	-	ŀ		-	.].		-	$ \cdot $	-		17,560	\$2,680	)
┞┼	•	-	1:	:	:				-{		:	-		4		:	:	:	:	:			4	-:	!	8,000	8,000	<u> </u>	-	÷		- -	1:	1:	:	<u>:</u>	!!	20,000	100,000	4.
$ \cdot $	٠	٠	-			-		-	İ			1		·	•	-	٠	•		-	Н	-	-	4 -			10,000	١.	۱-	-		-]		-	-	•		:		1
	:	ï	:	:		:		:			:			:	:	:	:	:	:				:	:			]	:	1	:	:			:	[:	•	} ;	1 1	30,000	
<u> </u> :	•	. <b>:</b> .	·	:	Ŀ			_	1.	_:		- -		_لی	<u>.                                    </u>	اءا	Ŀ	Ŀ	Ŀ	Ŀ	닖	-	<u>.</u>	· ·			12,000		<u> </u>	Ŀ	-	1	1.	.			J		65,000	
:		i	:	:	:		:	:	1	į			80 <u>,</u> 00	~	:	:	Ï	:					:	:			150,000	:	ŀ	:	:	.   .		:	:	-		5,000	80,000	
$ \cdot $	-	•		•	ŀ	•		•		-		-	•		•	-	•	-		-	-			•		} -}	-		-	•	1	•	1.	-	$ \cdot $			10,000	10,000 18,000	) <u>!</u>
	-	Ŀ		-	Ŀ					Ţ.				_[			Ŀ							· 		[_ :	〕	<u>.</u>	[:		<u>'</u>	.		]:	[:]		L		34,000	
[:]	•	:	-	]	ľ	-			1		-			1			:	:		:		:[	:[		-			:	1:	[]					[:]	:		;	58,000	ľ
<b> </b> -	٠.			٠,			•	-	-			-		·ļ	•		-					.	-				•				-	.   .	.   .	-			]	10,000		
	-	ļ :	•	:	-	:	•	•	1				: :				:	:		1:			1				5,000	:	:	:			1:	:	1:1	•	'		·	
11	7	-	1-	·	-	-			1			1		-: -	· •	ŀ	-	-	3	=		-	4				-		7	1.	-	-	ţ.	t	1-1					†-
	:	1:	:	:	:	i :						ij:	. :		•	:	:	:		:			:						:					1:	1:1	:				ļ
-	-	-	-	١.	-	-	•		1	-		-		1		•	,	١.	•	٠			٠		-		** ***		1		ţ	-   -	.   -	١.	$ \cdot $	÷	] : ;		60,000	i
	:			1:	:	ij								į	:	:	ľ	1:					:	:		26,000	40,000		:		il			1:	1:1		] }	20,000	20,000 60,000	
	•		ŀ	Ī	1=			-	T						-	Ē	7	•	1	-			-1		-		20,000		17	١٠٠					171					Ť
۱٠,	ï	-			-			-	1			1					ŀ				$ \cdot $		-					1 :	:			.   .		:	:					1
П	•	1:	1:	l :	l :	1:	:	1	1	j	1			1	:	<b> </b> :	:		:	1:		:	:1	•					•	•			1.	:	:	2				i
-	•	1	-	7	;	7	-		1			1		1	<u> </u>	•	•	-		-			:1						ŀ	÷	-	- -	-	-		- <u>-</u> -	1			-
$ \cdot $	:	:	1:	:	:		:								:	:	:	1			:		:	-			•		l:	:			1	:	1:1	٠	1			
ا - ا		4	.	٠	٠	•	-	•			-	-	,	4	٠	•	١	•					- [		-		5 ° .		١.		1	٠,	١.	١.	•	-		3,750	7,500	ŀ,
-		:	1	-	Ξ	:		}-∹-		]	ļ	-		- [	÷	-	-		1:				1	- <u>:</u> - :			- 3,600 2,500	W000	:	:	- 1		L	;	!			: j		į
	٠	•	Ŀ	٠	•	Ŀ					;	1		1	•	ŀ	ŀ	-				-	-	•	- 1	1			ŀ		٠İ	- -		-	•	•		1 -		i.
		1	ŀ			ŀ	-				"	1	:	Ą	:	١:	]:	-	į.	:											-			:	]:					1
	-	÷	1:	:	į:	١.	-	- <u>:</u> -	-	]		:].	·	- ;		ŀ	:	1:	1:				-;}-	•••					1	÷	-	-   -		ŀ				J	13,000	<u>.</u>
ŀ	٠	-	ŀ		۱.	١.	-			-		4		.!		ŀ	١.	-	١.	-			$\cdot$				4,300				-			•	$ \cdot $					ŀ
	:		:	1:	:	1:	:	]				j			•	1:	1:	:	1:				:1				1,900		:						1:1	•				j
	-	:	1:		<u> </u> :	:	ļ	- <u>-</u> -	.			1		4		Ŀ	٠		:	-		$ \cdot $	$\cdot$	<u>.</u>			10,000		<u>:</u> .	•	1		1	-	$ \cdot $	_•_	1	6,000	30,000	4:
		:	ŀ	1:	[:	1:		:	ļ	-	:	1		į	:	1:	:		:	:							_					1	1	:	:	-				1
	:	:	1:	:	:	1:	-	:		-	'	1		-	:	1:	:	-	:		•			•	-	-	٠.٠		-	٠		:1:	1	-	$\left  \cdot \right $	•		; :		1
			ŀ		Ŀ	:		<u> </u>	1		ļ 	1.		1		Ŀ	Ŀ	Ŀ	Ŀ						:				Ŀ			]	Ι.	:			1			
	:		:			:		:	1		į			1	:	:			-	-	-				:				1:		•	: :			-			] ]		ľ
I٠i	١.	1 -	١.	-	-	ŀ	-			-		$\cdot$		1	:		١.		-	-	-	•	-	. •					ŀ		4	-[	١	1		•		{ }	,	
:	:		:	:		1:		١.	į		ļ	ì		j	٠	:				:			:	•		j :	100,000		-				: :				1	j j		į
ŀ	:	1:	13	-	:	:	:		1		; ···-·	1		-1	•	=	•		•	-			-	· •	ļ				•		-		: :	1	<del>:  </del>	-:-	1:-:	B,000	15,660	ż
1.1	١٠	-		•	ŀ	١٠	:	:	1	]		-		į	•	•	[:						•	•	] .		•						: :					] :	19,000	ļ
	:		1:	:	:	ľ			1			1		i	•		•	-	•		1.			•		-	-	:	:	•	-	•	٠ [ -			-		1	,	1
		;	:						1.			1					*   * * * , * * ; * . * . *	1-		:		5		- :-	ļ	·i		<del> </del> -	:		-	:	:	1			<del> </del>	<b></b> -		1-
<b> </b> :			١.	:			1:		1	1		1	1	ij	•					:	1:	:		a.t.			-	:	:	-	:	-1-	٠ [ ٠			-	20	151	36,000	ĺ
			:	١.	١.	ŀ	-			: -		-		4	•			١.	:	-	1						_	-	ŀ		• 1		Ι.	١-	-	-		4 4		1.
	-	ŧ	=	-	ŀ	ŀ	1:	. : -	1:		;·	: <b>]</b> -	<del></del>	-;		:	1	:	1:	H	:	:	:				:	<u> </u>	1:	-	-	: :	:   :	1:	:	· <del>:</del>	<del> </del>	]:		-
4 - ∣	-	ŀ	Ŀ	-	ŀ	ŀ				. •		-		-			-		-	,		•	-	: •	'		-		ŀ	-			.   .		•	١.	1			ļ
<b>a</b> . I				1	:	:		:	1				3.			:	1:	I٠	:	:		:					-		:		:				1:1	:	}		30,000	į
		ľ	-	-	١.	١.	•		1			1	1	-	•	١.	ŀ	ŀ		ŀ		-	- [		i .	1 -	· -		١.	٠	-	-	· [ -	ŀ	-			-  -		ŀ
<b> </b>	-	ß	Į,	:	١.	Ι;					1	ļ				:		:	:	1:	1		.	•				:	1:										6,000	
		-							100	12	10,00		120,6	8	•		:					111								•	• • • • • •					•			30,00 8,00	Ċ

Table V-4.6 Results of Herders & Farmers Interview: 3.5.2 Cost of Livestock Breeding (1/2)

7				Froi	n E T	y i		XI.	reeze	Ont	en /_	Price	Amil	Rmd	,,		3	FK			= .	8	ical in	Culy	Price	Amni	Find	-	51	কুন	Fion	1		6 F	eed an Ural	Qnty	Price	Amor	
•				-	<u> </u>	6	+	-	:		†	<del>-</del>		-	i	٠.	•	•		•	•	;	:				1:	†	:	:	i i		:	•	lay ba ackag	50	500	5,85 25,00	0
:	:			•		:			:		1	5,000	5,000	:	[:	:	:			:	ŀ		:	:			:	:			11:	:	:		)ackag	10 120	450	5,40	Ó
	·			:  .	١.	$\cdot  $	:		. <u></u> .					ļ		•	:	:	-	-		:	:					1	:	•	1	: :	:-	:	bale	120 45	909-700 200	156,90 78,60	
					-	. !	4	1			1	-			ŀ	-		-	٠			٠	•				1:	1:			1	1:	<b> </b> :	:	backag bag	44 5	1,354	60,00	Ô
	ŀ		Ì	•	·	-	-						:					- [		•		$\cdot$	÷	-		1		ŀ	$ \cdot $	•	]	-		-	ton	1,000		!	•
	-	+	+	:	: -	- 1	:		. :		+	:			-	•	÷	-	÷		÷						-	-	-	-	1		:		pag.	15	2,000	4,00	Ů
	:		Ì		:	:		:	:				:				:	:	:				:					:	:		! !		:	:	bale	20	-		•
•	:			•	:		:		-		1		:			-	:	:	:	:	:		:	:			: :	1.	:		1		:		ackag ackag	10 20			
-	-	1	†		:1		:		•		1			i :	:	:	:	-					:					1:	[:]	:	: :	:		[:]	•	500		8,00	0
-	١	.   .	1	-	-								¦ :	-	-	-		-	•	•			•		:			1:	<u> :</u>	:	1	1	:	:	bag bag	2 10	1,500	3,00	0
	Ŀ					.]	:	<u>:</u>	<u>.</u>	ļ	1			Ŀ		-	-	-	•	-		-	·	: <b>_</b>	ļ		<u> </u>	ŀ		:	:   :		Ŀ	-				L	
	:		Ì		-	:	:		:	١.	-		:	-			ŀ	-			-	-			:			.		-	-  -			-				İ	-
	:	: :	:		:		:		•				:	] :			:	-				:	:			į		1		-	-  :	-	ŀ		-				-
	-	:   :	: -	:	:{	-	╣	+	- <u>:</u>		+		<u> </u>		÷	-	:	-	-	-	÷	╣	-:-	:	;	<del> </del>		-		4	: -	+=	H			:			
	<b> </b> :	: :		:	:		:		:				:	:		:		:	-	•		:	:	:	] :			1:			i :	:	:		bag	: 5	5,600	28,00	0
	:	: :		-	:		:		•		-		-	:	Ŀ		:	-			:		:				:	1:		: -	: :	:		:		:			
	•	.   -	1	-	-	•	=1		•	1	7			1		-		-		•			:		·	1		1		1		1	:						•
-	:	.   .			-1		-	-	:		-			-	ŀ			÷		•		-		-	;			ŀ		•		•	•		bag .		2,800	22,40	
•	]-			1				-			1			<u> </u>						-	Ŀ	-					<u> </u>	Ŀ		4			Ŀ		·				•
	-			-1	.				:								:		:			:			] :					:	$\cdot   \cdot$	-							
•	:			:	-	: }							:			:		•				-	:					١.		:		:							
:	-	:   :	:	:	:	-	-:	:			-	:	ļ <b>:</b>		:	:		:	-		-	:	-:-		}`		:  - <u>:</u> -	١.		÷	: :	+:	1:	-				!	•
	:	:   :		:	:	:		:	:		1		:			:	:	-									:	١.		i		:	:			-			
	Ŀ			-	4	:	:	÷			-	· ·			-	-	÷	-:		÷	.:	:					:-:	1:	H	+	: :	:	:	-				-	:
-	-	- [ -	•	-	-	-	$\cdot$	•			ł						•	:		:	1			1 :			:	<b> </b> :		:			1:		:			15,00	
	-	.  :	:	-		-	$\cdot$				1			-	ŀ	-				-	•	-	٠	-	1		-	Ŀ			:1:	12	1	-	٠.			19,00	
•	-		-	-	-		+			<del> </del>	ij			+			÷			-	7		÷	ļi	} · ·		: -:-	:	$ \cdot $	-	-		:	-	-			24,00	
:		1		1	-	- i	:				1					-		; ;			3		:					ľ		4	-  :		:	1		1		] 24,00 	
	:	:   :		:	:	:					1		i :		:	:	:	-	3		•		:		İ	<u>.                                    </u>		Ŀ	:			:	:						•
:	-		:	:												] :		-					:							1		: :					:	İ	•
·	l :	:1:	:	:		:		-			1		:				:	•	-		•	:	:			1	: :	:		-		: :					i :		
	ļ			:	-	:	-			ļ		1		·		:	-	-		-	-	-		ļ		<del> </del>	<u>. </u>	-	-	:	:	:   :	-	Ŀ					
ŀ		-		-		•		•			1				-	•	-	- !	-			$ \cdot $	•	:			:	-	$ \cdot $	$\cdot$			1:	1:			} :		
:		. [	ŀ	-		-					-				-	-	-		-	•	-	·	•			1	1:	1:			•	: [:	-			:	:	19,00	C
-:	ŀ	:   :	:	:	:	-	-	-:	-:-		1		}`		ŀ	:	Ē			÷	-				1	1-	+ ÷	ľ		-	:   :		:			150		11,00	
:	:	: :	:	:		:	:	-	:		1		į .	į :	:	:		:		:				`	Ţ	Ì	] :	1:			-  :	٠   ٠		١.	kg	800	:	14,00	•
:			:	:		-	-		:	. [	:	:	i_ :	:	-	Ŀ	-		•	:	•		-		1	1	] ;	:			ı			·	•	<u> </u>	1		•
	ľ	-1-		•		:	-	•			1		i		[.	1	1:			٠	٠			] :	_	į		I٠	1.1	- [		:   :		-		:	] :		•
ŀ	ŀ	•	•	:	-	:	•	٠	:			•	] :	:	<b> </b> :			:		:	-						1:	:	ļ - [	:	•	: :	:	١.		:	:		•
:		: -	١:	-		٠		:	÷			<del>-</del>	<b> </b>		<u> </u> :	:				:		:	:		ļ	<b>;</b>	: -:	<u> </u> :		-1		: :		:	:		ļ <u>:</u>		
:		٠	٠١	٠,	-	•	- 1	٠	٠,	1	ļ	. :						:	-		•				}	1	]:		1	:			:	:			:		
:	Н	٠l	٠Ι	:	:	-	:	÷					1		ŀ	l٠	-	:	:	٠		·	•			-	٠.	-		٠.	- 4	٠,	t-	١.		•	•		
-	1	:    -		:	:	-	-:	÷	-:-	-	÷			-	-			ţ٠		:	÷	:				·		1		-		: [	E	:	-	:		0.00	(
111	Ŀ	•			:		•	:				:		: :	:	1:	:	:	-	:						j	1:	:	• }		4	: :	:	٠	1	:	:	10,00	(
•	ŀ			:	:			:	:					:	1:	:	:	:	-	:	٠					j							:		:				
:	ľ	:			:	:		ŀ		1	1		j	: :		ţ.	1:	:	:	•	•					]		:					-	:	:				
	١		:		:			-			-				1:	Ì:			١.	:	:		•			:		:	1-1			: :	١.	١.	:				
ŀ	ı	٠Г	-1				-	- [	۱.						ŀ	١.			-		ŀ					<u> </u>		١.	-	i - I	-	٠   ٠	:	1:			}	} :.	
-	-		-	:	-			:	-			<b>.</b>		÷	-	-	:			•	:	:			! -	<del></del>	1:	1	-			: [ -	1:	-	ko	1,750	1	24,50	×
:	ı	٠Г	٠l		:		:	:	:			:		:	1:	:	:	:	1.	:	:	-	:		1	-[	4 .				-		١.				]		
l٠	ı	٠١	:				:	:	l :	İ	ď			1:	1:	1:	1:	:  -	1:	:	:	;	:		.]	.]	1:			:	:1:		:	:	kg kon	375	10,000	60.00	۱

Table V-4.6 Results of Herders & Farmers Interview: 3.5.2 Cost of Livestock Breeding (2/2)

_					<b>.</b>		0	ÇF	16.556	04 Z	amen			Anni'		Τ,				~-		(	57	)AC	arre	semmal	60			٠	:		Fron			06.	eed a	ज हज्दर	y 		
1	12	1	3   E	io T[	n 5 [	613	FI:	8	UNIT	C	'nΥ	Fino	e	Annt'	Pur Pur	ıκ	11	2 [	31	₹10	5]	8;	TE	9	en <b>i</b> i	Seminal Only	Price	Amnt	Rmd	1	2	31	Fron	) 5 [ 6	17	[8]	unit	Only'	Price	Amni'	-
•	1:						1		:	1			3				•		7	7	1	7								-		7		Τ.	- [	١.	kg kg	500	300	28.60 15.00	Š
	-	Π.		-		. [	ì			İ								-		-			-		·				.	-		-	.   .	.   .			.,4	1,000		12,00	
٠	-	1	١.	- -	1	-	í	-	٠		•	l L	1	•	1	1	•	-	-	1	- [	٠į	-   -		•	•	•	•	۱۰,	-	- 1	-	-		1-	•	-	-	-		-
÷	-		:†-		-		ŀ		-:-	- }	:	ļ - · ·-	+		<b>i</b> —	-		:	:	1	+		.   :	-							-:+	#	+	;	1	1	ļ <u>.</u> -	i			-
•	-	ŀ	•	٠ إ ٠	ĺ	- [	ţ	•	•		٠	l i	4		١.	.	-	-	•	-	- 1	•	٠ [ ٠	•	- 1		-	-	۱ .	-	-	-	٠   ٠		-			:			
:	1:		: 1	.	ì	١.	.		:		:	İ								ij	:	:	: [ :		. 1	:			i :	:		1		į.	1.		lon.	1.5	200 250		
•	٠.	ŀ	-1.		· I	. [.	· i	<u>. l</u>		L	·	[ L			<u>.</u>		:			٠	ان	ا.	٠.							Ŀ		<u>. l</u>		Ŀ	1.	Ŀ		2	30,000		
:	Ľ	1:	:1	:1:	1	١.	1	:	•	Ţ	•	İ		: :	1	. 1	:			:	1		1		1		]	:									ko	750	200	150,00	
	-	Ι.	.	. .	1	. [				1.			-	٠,	ļ.	-	-		·	-	-1		٠,	1.									-   -	. ] .	-		kg		10,000	50.00	
•	١-	Ė	1	۱.	1		١.		•		•	l			┧・		-	-	-	$\cdot$	1	•	- -	•	٠.	-	-	•		•	٠	٠	٠ إ ٠	1	-	1.			-	80,00	
-	1=	+	1	:   :	+	+:	+	:		-			-}-				Ċ	:	:1	:	:1	:								1	:	1	-	1	-		lon kg	320		25 60	Ŕ
٠	١.	ŀ	·ŀ	٠	1	1	١	٠	•		-	İ	1	•	┧・		-	٠	١.	$\cdot$	·l	•	•   •		٠.	-	-	•	•	•	-	٠	٠   ٠	١.	1 -	•	•	-	-		
:	1:			. :	1			:	:			ĺ			١.		1				:		: :		:	: 1						:	: :	1	١.		1	:			
<u>.</u>	Ŀ	1	1	<u>.   .</u>	1.	٠Į٠	L		•	L		l		٠.,	1.		-	╛	<u>.</u> ]	١Ł	:		٠   -	۱.	•					-	-1	:	<u>.   .</u>	<u> </u>	1	·	. <u></u> .	l		l	
:	1:	1:	1	1	1	1	1		:	ł	j			•	1:		:	:	:1		:	1	:1:	:	:	3						:1	:1:	١.	]:		:			50.00	'n
•	١.	1.	٠ŀ	٠ [ ٠	١	١.	·	٠	٠.	i			-		١,						٠l	٠.	- -	·	-	-	-				-	۱.	- -	١,	-		kg	١.		30.00	X
:	:	1:	:1	: [ :	1	1		:	:		j				ί.	Į	:	:1	:1		:	1	:[:		<u>:  </u>	•	•	•		:		1	:۱۰	1.	1:	•				10,00 50,00	
•	Ť	†	+	+	†	†:	1	:  -	$\overline{\cdot}$	-			-		ļ-	}	=	-	÷	+	+	+	:   :	$\vdash$	-				-	٠	•	÷	+	+	ŧ÷	H	÷	<u>:</u>	<u></u>		•
•	٠	1	:1	:1:	۱		1	1		ľ	- 1		•		١:	١	1	•	-1	-	:	•	٠ ٠	1	-	•	-	-	;				:1:	1:	:	•	fon	2	60,900	50,00	0
:	]:			$\cdot   \cdot$	1	1	1				- 1		-		:	j	-		1		:		. :		:		]			:				1:	1.	:	kg	:		!	
•	1:	4	1	: :	:[	1	1	: -		1			4.	<u> </u>	Ŀ	_	-	•	٠l	•	<u> </u>	1	<u>. </u> .	L	<u>.</u> .		:			·	-1	•	<u>- </u> :	<u> </u>	ŀ		<u>kg</u>	125		3.50	Û
:	:		1	:[:	1	`	1		•		ij		.,		1:	۱	1		:		1	1	:		:						1	1	1	1:	:	:	•	:		į	•
•	١.	1	٠	٠  ٠	1	١.	1	٠	-				·		! .		-	$\cdot$	-1	-	١.	- -	٠   ٠	11	- [	. : -	-			٠	- [		- -	-	١.	١.			-		
:	:				1		1		•	}		:			]:				:1		1		: :										1:		:	1.	los los	2,500 20	350	35,00 5,00	
7	•	1	-1	1	1	T	1		-	1			4		1 -	-	-1	1	-1	7	-†	1	٠1٠	1	_	· · · · ·				-1	-1	-1	1	1-	1-	-					٠
:	:	Т		1	1					1		·	1		:	١			:1		1	1	: :		:							1		1:	1:					ĺ	
٠	-	1	•	- -	1	١.	۱.	•	٠	1	-	1	-		{ .	.	-	-	- 1	-	-	-   -	٠   -		-		-			1		1	٠   ٠	-	-	-	kg	2,500		30,000	¢
:	:		:	1	:		ì		:				1			Į			:1		Ì.			1	:						:1		: :		1:	:	kg	500		14.000	ċ
·	1-	1	1	1	1	1	1	÷f	•				7		-	-1	-	-†	•	-†	-†	- :	٠Į-	1:-	•				*****	-	•	:†	: -	1	1	•	•			25.00	ĺ,
:	:		]		1		1		:	ı					1:			:	:1		.1	:1	:1:		:						:	:	: :	١.			kg	100	120	12,000	(
•	١.	١	٠.	٠.	·l	٠   ٠	·l	٠{		1	-		-				-	-	-	-	-	۰   ۰	٠[.		.		: -	•				4	٠ [ ٠	-	.	-		-			
÷	ŀ÷	H		-	1	1	ŀ	-}		1			-		}		=	$\exists$	:	:	-1	:   -		-		:				-+	:	: -	:   :	+:	-	:					-
•	١.	1	٠ [	- [	·l	٠ ،	·l	٠Į	`-			:			١.			•	-	$\cdot$	-	٠١.	٠   -	1	٠١					-	-		٠] -	.	•			-		÷ 1, 1	
:	:			.	1	. [	Ţ	: [	:	ı					i :		:1	:	:1	:1	:1	:1:			:		,				:1	:1	:1:	10		<u>  -</u>	:			1 1	•
:			•	٠.	٠Į	-	١.	٠ĺ					•	· 	1 :				٠	١		٠ [	٠ ا	ıL.						:	-		٠ [ -	-	i :						
:	:				1	: :	1	ij		1	•		j		i :	ı	:	:	:1	:	1	:1:	:1:		:						:1		:1:	1:	1:1	-	•				•
•	-	1	•	٠.	·ŀ	٠ ،	1	١.	•		•				١,		-		-	-	-	- [ -	-   -	1.		-		7.1			٠.	٠	٠ [ ٠	.	-	١.	*.			i .	
:	:		1		1	1	1	:	:	1	•				1:		:1	:1	:	:	1	: [ :	:   :		:			•			:1		:1:		1:1	<u>.</u>	:			12,000	•
÷	-	1	-†	-	: -	:   ;	1	- f	•		•	-	-		j	- [	-	7	-	7	-1	-	-	1-	-					-	-1	-	.   -	†-	1	-				12,000	
:			:	:1	Ì	1	:	:1	:	1.	-				1:	ı	1		:		1	11				-				:	1	1	:1:	•		•	*				•
•	-	٠Į٠	٠	-   -	. }	-[-	ŀ	٠ĺ	-	1			4			Į	-		-			- [	. -	.	-		-				-		١.	-						25.0X	0
<u>:</u>	:	1	: -	: -	1	1		⊹⊦				·	4	<u></u>	i :	Į	:	:	:	:	:	<u>:                                    </u>	1:	-	-			أيد لج عدوده	:	:	:	1]	:   :	1:	1:	:	kg	2,200		10,000	0
٠	-	1	٠	- -	- {	- -	ì	-	-	-	-		-	. :		ı	-	•	-		-	- [ -	٠   -		-	- 1					-	-	-  `	1.		-					
:	1:			:1:	1	: [	i								j :		:1	:	:1	:	:1	1	: :		:				-	:	:	:[	: :	!			•				•
:	Ŀ			1.	1		!	<u>:  </u> .	-	1					1	_ [	-1	1	.1	_	.	- [	. [ .	1_	.	]	]		Ĵ	]	-		. [ .	1		[-					•
:	:			.[.			T		:				1			J			1										-		1		1		-			•			-
•	ŀ	Ţ.	-	٠,	١.			٠	•			:	4	÷.		j	-	$\cdot$		-	٠l	٠ ا	: :	1	.				-		:	-[		1 -			•				
:			1		1		: .	.	. :						١.	- 1	1	:	:1													1	: :	1:	ļ - <u>}</u>						
	:	1	-   -	.		٠   ٠		:	•		[			:	1 .			: -		:	-1	- [		1	:			:		#	=			<del> </del>		-		:			•
:	1:	1.	1	٠ [ .	1	. :	1			1			j		١.	1	٠.			-1	٠.	1	: :	1	:	-	-	•	•	:		: [	: :	1:		:	-	-			•
•	٠.		-	٠.		١.	1	.							:		-		-		.	. [	. :		٠ [						.	.	. .	:				:			
•	-				-			:		ļ.,			-			-	:	:[.			-	:   {	: :	-					•			4		-	Ŀ	-	lon	5	:	5,000	Û
•	٠	1	- [	$\cdot   \cdot$	1	٠   ٠	1.						-			: ]			-	.		.   ;		-	• 1							.	.   .		1-3						•
•	1	1									- 1		:		•		:	$\cdot$	:1			1		1	:	•					-	- 1			1-1	٠.		•	-		-
•	Ę	.	١.	.   ،	1	.]:	1.			1			-				-	:	1		. .			٠,	- 1							• f	٠,				•				•
			1	1	1		1		. •	1			1			- 1		•	•	•		٠1٠				777	•	•							[ · ]	:				14.00	
	١.	:		.   '	1	1			:	1			1	-					:			:   :	;							4				١.	! .	:	backag bag	40 10	300 1,000	12,000	Ö
٠	:	:	: :			١.	1		•		-	:	-{		·	- [	- [	•	٠		-	٠ŀ	٠   -	1.	•			•		$\cdot$		1	-   -	١.	-		•			2,000	٥
•	١.							٠.	•				1						:				٠ [ ،					-				1	:	1:		•	bag	5	1,200	2,400	ò
•	1.	١.	١.	٠١.	4.		١.			Ĺ			.1		١.	ı	-	4		. i			٠.		.						-	-		.	-	-	•	٠,	-,-,-	-,,,,,,	•

Table V-4.6 Results of Herders & Farmers Interview: 3.5.3 Cost of Livestock Breeding (1/2)

			c.	om	0	7. C	iz.	eng	ware	r for ar	vimai On o	Áme	7 ( F	in.			1	fort	- :		- 7	08. F	el Only	Price	Amel	Aràit			Fi	on.			Hog	e an	Strive Only	Price	Ámn	1
	2	3	1	3	6		8	Ľ		· • · · · · · · · · · · · · · · · · · ·	- 114		1			2		11.5	6	[7]	8			11.07				2 3			6		0				ļ .	,
:	:	:	:	:		:			: [							-	$\cdot   \cdot$	.   .	:			•					-	.].			-	-	-	.	•	-	! . i	1
٠	-	١.	•		-				•			34,0	20	: 1		:	:[:	:1:	i.			:			630,000	! :				. !					:			Ï
					:				: ;			. 34.0	١.		-	·		-   -	ŀ	Ŀ	-	•			-		Ŀ	: :	1.	l_		-	:	-				1
-	-1	•	-		-		•	1	•	•		1		٠	-	-						•	6 30 la	126	65,400	١.						.1		: i	•			ĺ
								!				.}		:	-	-	- [	$\cdot   \cdot$			-			-				٠ .	ļ٠	- }		- [	•	٠i	-			·¦
•	-		٠	۱.	٠	•	-		-	-		-{	-	٠	-	•	-	٠   ٠	1	•	•	- lites	600	126	75,600				1:			1	:		-		į į	į
:	$\dot{-}$	:	÷					-			j	j	-   -		-	:		- :	1	-	-	litre		120	7,500	-	Hit	- -	1:	-	-	-	1					1
٠	-			-	١.		٠		• [	-	Į Į	-	-	٠	•	٠	- -	٠   ٠	۱٠	-	$ \cdot $	:	-	•	i :	1:	<u>  :  </u>				1			: 1				1
	•	:	:	]		1	1:	1	•	-	ĺ	]		ं			:	: :		:		litre	650	126	81,500		П		١.	-		- [			٠.	-		-
			<u>:</u>	Ì:	Ŀ	ļ.,	:	Ĺ	: 1	<i>_</i>	 	-		_	- 1		•	<u>.   .</u>	1.	-							i.	-	4:	:			-   -	-				1
•		•	•	·	:	[:	<b>:</b>		: 1	-	Ì	]	j	:				:   :					:									:1				-		-
			Ĭ			-			.	-		-	-		- 1		-[	٠.	٠ إ	-	•	•				•	$ \cdot $		ŀ	$ \cdot $	$ \cdot $	٠,	•	•	•	-	·	1
•	•	-	٠	•	-	į:			• [	-		1	1	:			:1	:1:	1:		1	:	100	126	12,600				1:			-1		:				1
:	÷	÷	÷	-	-	1	-		-+		!	]	-†-		=	÷	-	-1-	1	1	1-	Titra	800	151	T20,800		-	-1-	1:	-	-	÷ţ	7 -	. [		1		ŀ
-	•		ŀ	-	١٠	١.	ŀ		-	•	ì	1	-	•		•	•	:1:	:i:			-		:	i :				1:									1
:	:	:	1:	:	:		:		:			]	Ţ				1	. [	. ] .			-	.		ļ ,	•	•	-   -	١.	$ \cdot $		-		٠	-		1	1
•	Ŀ.	ŀ.	Ŀ	ŀ	Ŀ	Ŀ	Ŀ				i	-1	-	•	-	-	: -		1:	1:	H		:		···	<del>i :</del>		#:	:	H	-	÷l	<del>:</del> }-	$\div$	:		]	-}
:	:	:	1:	:	1:	Ľ			: 1			-	Ţ				1			1:		:				1 :		.].						-				ŀ
-	١.	-	١.	-	١	۱-	-		-	-	1	-	·	*	$ \cdot $	-	-	1		1.	ļ٠	١.			1			:1:			:			:				1
:	:	1	:	:	1:	1:	1:		: 1	•								:1		1:	:		] :	:	1				1:				.1	-			1	-1
•	Ť	-	ŀ		ļ÷	Ħ÷	t-	†			+		+	-:-	H	7	-1	1	1-	T		Γ-		Γ-		{ <del></del>		1	1									1
:	:	1:	:	1:	١:	1:	İ:	ĺ	:				]	:		:	:	:1:		1:		:	:			] :					[.]							-
•	,		ŀ	Į.	ŀ	١.	۱.	,	-		1	1	-	• :	-	-	-	$\cdot  $	٠   ٠	•	-	litre	720	126	90,720	}	-	-		$ \cdot $				:	. •	}		j
-	÷	1:	÷	-	۱-	-	-	-	!		i		[.		$\vdots$		:-	- -	:   -	-	-	litre litre	600 250	126 126 126	25,500 31,500	<u> </u>	1:	$\pm$	1:		=			-		<del> </del>	<del> </del> -	į.
			١.	١.	١.	١.	١.					-	-	٠		٠		- -	٠   ٠	1.	-	Mre	500	126	25,200		l - l	- -	٠   -	-	•	-	1	•		-		i
•	-	•	•	ŀ	1	1			:			1	1						: :	1.		:	Ι.		60,486	,	:					l i		:		.[ ]	]	Ţ
:			ļ		١.	:			. ;				1		-1		اا	·l		L	<u> </u>	<u></u>	l		25,60								-1-			ļ		
•	-	٦	٠	ŀ	ŀ	Ī	-					•	i						:1:	l:	Ε	l :		i :		j :	1:1		1:	1.		П		•				-
			١:	:	١.	١.	١.	l						•'		•	٠	-	-   -	١.	•	1	80		12,670	)	-	•	- ا	•	-	-	-1:	•				-
<u>.</u>	Ŀ	Ŀ	Ŀ	ŀ	-	.	-	ļ.	.:			:			-1	:	-	-1-	1	1	ļ.					<u></u> -	-	-	: :	1:					4	ļ	2,00	o
:		1:		:	:	١.	١.		ij	i		.]		•	•	•	ी		٠.		-					· ·	-	-	٠   -	•	•	-		• ,		4 1 1	ł	٠
•	٠	ŀ	-	į	ŀ	ŀ	-			a. 1	1 , 1	1	-1	•:	•	•	-	•	٠   ٠	1.	-			i :	40,00	;¦ :	1:1		:1:	1:	:	:					80 20,00	
:		1:	1	1:	1:	١.										•		.	][	1.				,	10,00	<u>.  .                                   </u>		: .	:   -			-	$\cdot$	•	·		.! 7.50	ю
÷	-	7	٠.	1	ŀ	1	†	1			7			•	[-	-	-	-1	٠١٠	1-	1	-			35,00	; ;	$[\cdot]$			1:							2,00 8,00	K) 10
:	1:	1.	:		1:	1		į.	- ;		<u> </u>	1		:				1	[]:	1.		.			114,00	0, -	H		-   -			- [	·Ì	•		-	- 10,00	ю
٠	ŀ	١.	-	ŀ	ŀ	-	1		٠		-	-	$\cdot$	•	$ \cdot $	٠	٠	*	٠1:	1:	1:	•			12,85	0	$ \cdot $			1:		:				.i	- 2,45 - 10,00	
÷	H	H	-	1:	1:	1:	1:	1 -	-:-	- ; - •	<b>.</b>	1		111		;	-	+	:   :	1	ŀ				1			-		-	:					+	- T,20	0
÷	-			-	ŀ	•	ŀ		٠.		·l·	1 .		-	I٠I		•	:	:1	1 -	ļ٠		'		28,00	: :		1	1:	1:		:		:	1	j	4,20 14,50	
:	1:	:	1:	1:	1:	1:	:	1		1,00	žį	5,	100	•	:							! :			1,50		1									-}	-	
	Ŀ	-	Ŀ	Į.	1	<u>.</u>	Ŀ	1			·	1	!				٠	٠	:   :		.	1		1		: :		4		1				-:-	÷	j	50 1,20	
:	1:	١:	Ľ	1:		1	1:	1		· .		1		:			1				:		] :			] :				1:		-				-	-1	-
	Ŀ	-	١.	-	1		١.		-	1 .	-}	-	1	-	-	•	•	٠	-   -	1.	1.	-		}		1	1	•	-   -		1				·	1.	1,50	0
:	l:	E	1:	1:	1:		1		: ;	į	1		ij	:					:1:		1:	:			19,00	0 :			: [ :		į.	-				-	8,00	
-	1:	1.	t	1.	ţ٠	-	1	j-	÷-		+		f		-		-1	-1	- -	1:	1									-	H	П		•			10,00	0
:	,	:	:	1:	:	:		-	-		1	į	:1	:			:		:1:		1:	:		ļ	42,50				.   :			:		:	z.		1,50	0
ŀ	ŀ٠	1	1.	-	:	۱-	:		-		1	-	-	٠	Н		- [		•	· [ -	1 -	-	1	·l	20,00	0 -			: [:	-		•		•		1	1,40	<b>30</b>
	<b> </b> :			-	:		:	-				· j	-;	-:			-	÷			1	-			3,00	o <sup>L</sup>			: :	. 1 .	1:				ł		1,50 28,00	ŏ
•	:	١.	١.			١.	1.			í	-	1			Į.		-	٠,	٠ .	- ا	•	-		.	.!	-			٠ .	٠ -	ŀ	١.	•	•	1	1 .	-! 125	50
-	1.	١.	1.	-	1.	١.	1.	- [	•	1 -	ì	1	-{	•	[-	-		:	:[:	•	1.	:			16,00	0	1		:   :					•		1	45.00 1,85	50
į	:				1:	١.	1.	. [		i			į		1-3					٠ ١ ٠	١.		. :	1			1 (		-   -	٠ -			1 1		1. 2			-
:	1:		Į.	1-		1.	1.		•		1: 1			•				-						;	70,40	0						-				1: 1		
:	١.				ľ		į.	- 5	:	!			ij		:			-1			1.		1 1		-			-	- [ -				•	•	1	•	2,50	Q
-	١.		Ι,	٠.	١.	٠,	1.	•	٠.		.[	`{. :	·	•	I٠	-		-	- 1						-		•		:[:	-				•			5,40 2,00	00 00
-	1:	:	H	:	-	:	-		·	<u> </u>			-:				:			.   .	-	Ì-:-			42.80	٥								·		+	•1	-
٠	i٠	١.	1	١٠	1	٠1٠	١.	٠	•	Í	1	4 .		-	ļ٠	١.	•	-		: :	•	<b>:</b>			-	0	•	-	:[:	:		-	•	<i>:</i>		}	2,00	OQ OM
٠	1:	: :	:			:   :			:	1	1		ij	ij	1:	:		:			-			1				- [							:	-	- 32,45	50
	1	۰۱۰	Į.				1	ı.		1	.]		!			l - i	- -	:		: :	-		1	·	<b>4</b> . i				-	1:			1	•		11.1	4,8	VQ
•									•		:[		:	•	:		•			:[:		1:			15,00	o l	1:		11	: :				:			5,00	œ,
	1:		1			: :				1		1	-1	:							١.						-	-	-   -	.   .	-	[ - ]	! - !	•	1	1	1:	
١٠		١.	1.	٠ [ ٠		۱.	٠ [ ٠	·	•			.!	-	•	ŀ	•	:	٠		:   :	•		1	1	]	] .	1:			: :				:		1	2,00	m
ľ		: :		:[]:		: :			:	ļ	į	į		:			-			: [ :		1 .	1	-	8,00	0				٠ [ .		ŀ			1	1	2,00	00
			1	ł	1	:   :	13							- :-	-		- 1	:	•		1		1	6,00		0				1:	1			•	1	1	i	•
			Ι.															- 1			٠   •													•				
			٠   ٠			:   :	٠   ٠	:	:	]		1		•	:					4		:		Į	ļ				-   -		-	j:	-					

Table V-4.6 Results of Herders & Farmers Interview: 3.5.3 Cost of Livestock Breeding (2/2)

				. :		07	O:	icing	W.2	er for a	nim	al		ş -,= .	1 F ···	, I .			٠,			a- •		08 F	néi	-×		T 78	, I				_ ~ -		V3 /	-crea	V 3111	L. F		· ·
7	179	213		70m	1 2	: []	18	<u>  _U</u>	ng.	Only	. į . <u>F</u>	nce	.^	m/x	Pm	١,	IT3	[3	F	om	i e s	71	- E	nus	Only	Frice	Amar	₹Punt	١,	73	[3]	Fio		ET )	1 1	UNE.	CAN	Price	Anne	1
÷	r:			+:	+:	+					+		!-			+	+:	†÷	+:	H	Hi	Н	*	-	<del> </del> -		·	<del> </del>	†÷	ť	1 -	-:1	+	+	۲Ť	-	<b>.</b>			+
٠	ŀ	·ŀ	٠   ٠	٠ŀ	-	١.	-	1			-[	-		•	ļ -	1.	٠   ٠		١.	١.	I٠ŀ	-	-	•					٠		•		٠   ٠	٠ [ -	ŀ٠	•	.			·
٠	١.	1	٠   ٠	٠ [ ٠	•	1.	-	١.	-		·i	. •		•	•	1	٠ ا		-	١.	-	•	-	٠		-	9,600		1.	١.	•		٠   ٠	•	1.	-	-		i	1
•	1:	Ш	1	1:			1:		: 1		ì	•	i		1 :	1:			1				١.	•	1 :	j			1:	1:		1			1.			i :	Ì	ì
	1	-	+	Н,	+:	1.	1.	1-:	-		-	}	<b>!</b>	]		1		+ -		١.		-	:						1	+-	-	:	Ĥ.	+-	-		ļ	ļ <u>-</u>	ļ	-)
•	١.	٠,	٠   ٠	١.	-	١.	-	١,	- 1		.[	-	ŀ	-	-	1.	٠ -			١.	-		- [	٠			,		1.	-	.	- }	٠ļ.	١.	١.	-				ł
٠	-	1	٠   ١	١.	-	1	-	ļ.	٠ أ		1	•	l	•	-	1.	٠   ٠	-	•	١.	-	-	-	•	-	•		┧・	1.	-	•	-1	-   -	1	ŀ	-				ď
٠	١.	1	١.	١.	1.	1.	-	] .	٠ ١		1	-	1	•	١.	1.			•	١٠	-	•	-1	•	1 .	•	i '	i :	١.	[ -		-1	٠١.	1.	١.	١.		i -	i	'n
÷	ł:	:11:	1	1:	H	1	1	ļ			J	9		[	- <del>:</del>	-1-		1:		1			: 1	-:-	150	} <u>:</u>	35,000	ļ	1:	ŧ:	1	-11	:]:	1:	Į÷		· · · ·	ļ <u>-</u>		1
	١.	. [	.   .	.   .	].	١.	1.	ļ.			ļ	-	!		-	1.									1 30		33,000		١.			.	.   .	1	1	.				1
•	١.	٠ŀ	٠   ٠	١.	-	١.	1 -	ŀ	٠		ď	-	ł	•		١٠			-		[ - <u> </u>		- [	٠	-	-			١.	-	-	-	٠   ٠	1	1.	١.	20	200	4,00	o¦.
•	ŀ٠	·ŀ	٠   ١	١.	1.	1.	1 -	١.	•		ď		1	•	۱ :	ŀ	- ا	١.	1 -	1	•		-	٠				┧・	١.	•	١.	-1	٠   ٠	1.	1.					ŀ
÷	ŀ.	Ŀ	:   :	1:	+ :	+-	1-	-:	-1		j				j	1	1-	H	1:	1		- 1	: 1					ļ · ·	ŀ	ΨĒ	H	-∰-	:   :	Ì.	1-					4
	١.	. [ .	.   .	Ι.	١.	١.	1.	١.			.]		ļ			1.	.   .	١.	-		.		-						١.			-		١.	١.	.			•	.]
•	١.	٠Į٠	٠   ٠	ŀ٠	-	١.	-	١.	-		-{	-	ł	-	-	١.	·   -	١.	-	۱.	-	-	-1						١.	-		-	٠į٠	٠.	١.	١.	] .			ŀ
٠	١٠	·ŀ	٠   ١	ŀ	•	۱.	-	1	-		-		ł	-		ŀ	·   -	١.	-	۱٠	-	•	-	•		-		-	ŀ	-	•	-1	٠   ٠	1.	1.			-	1	·ŀ
÷	ŀ÷	H	1:	1:	H	1:	ŀ	-:			1_	-	i	:		-1:	4-	ł÷	<del>  -</del> -	-:-	-		-1	<del>-</del> ;					-1:	-			: :	1-	4-	-:			ļ	ij.
:	١.	Т		1:			1.	1:			]	]	ļ			1:			1:				1	÷					T.					Τ.	1:	1 :	1 :	1 1	1	Ţ
	١.	٠Į٠	٠   ٠	١,		١.			-	1.			ļ .		١.	١.	٠   -	١.	١.	١.	-	-	-1			_			٠.		.	-	٠   -	۱.	1.				l	Į.
•	-	١.	1	1.	-	1.	1	1	-	1.	-	1 .	1	-	•	1.	1.	1.	-	ا ۱	-	$ \cdot $	-1	•			20,000		١٠	-	[-]	-	-   -	1-	1.	-		-	I	·ſ
÷	-	1	1	1:	1.	1	ļ.	1 -	- 1		j		i			1:	-	1:	1:	١.	<b> </b>	-	:1					ļ	1:	1:	1:1	-1	- -	1:	1:4	ļ. <u>.</u>	ļ		i	1
:	1:	П	$\prod_{i=1}^{n}$	$\Pi$ :	1:	1:	1.	1:			Ţ	1	1	•		1:		1:	1:1	.	:	:	:1	:	1 :		60,000	1:	1:	:	[:]	1		1:	1:	:	1 :	] ]	1	1
	١.	٠Į.	٠[،	. [ .	1.	١.	1.	1.	. [		-		ļ			1.	۱.	١.	[.]	.	- <b> </b>	.	. [		:	]	20,000	•	L	Į.	1.	-	. [ .	١.	[.,				!	
٠	•	1	٠   ٠	·ŀ	1.	۱۰	-	•	-		-	1	ł	•	٠.	ŀ	-	1.	1-	۱٠	-	$ \cdot $	-	•	٠ .	-		-	1.	-	$ \cdot $	-	-   -	1-	-			٠ .	ł	-[
	ŀ	1	1-	1:	1:	1.	1:	1 :	- 1		j					1:	-1-	Ŀ	1:	: ا		:1	-1		ļ <b>-</b>	<b>-</b>	40,000		. :	1:	1:1	-1		4:	1:1		l:	ļ		4
:	:	1		1:	1:		1:	] :		- :	į		]		:	1:		1:	1:1		:		:1	•	:				1:	1:	1:1	:1		1:	1:	1:	1 :	į į	1	1
	١.	.	. [	٠ [ ٠	1.	. [ .	1.		- 1		.ļ		ļ		-	Ţ.	- ا	Į.		١.	.		-		-	]			Ŀ	١.	1.	.	.   :	١.	.		:	] ]		
•	ŀ	·	١.	١.	1.	1.	-	1	-		-	٠, -		•	¦:•	1.	٠   -	1.	-	۱.	•	$ \cdot $	٠			-	•		١.	-	-	-	- إ	1-	-			: -		+
:	ŀ	:   -	1	1-	1	1.:	1:	1::			1		i			-1:	1:	1:	<b> </b> :	-	:	-	- 1		l:			1	-	:	-	:	: [ :	1:	1:					1
•	Ľ		. [	1:	1	1.		1		:	.]				:	1.		1:	[			.		•	:				1:	1:		:1	.   :	1.	1.	į		1 :	j	
	ŀ	١.	٠[	٠ [ ٠		1.		1	.`	1.	-{					1	.   .		.		.	.	-			-	]		1.		1.	-	٠ [ ،	Į٠	1.			] :		
-	ŀ	- [	- [	٠ [ ٠	1.	ŀŀ	-	1	•		-	3 %	1	•	-	1:		1.	-	•	-	•	- }	٠.		-		. •	1 -	•	$[\cdot]$	-	٠[.	1-	-			١.		ļ
•	ľ	1	1	1	1	1	į.	1	:	-	j	•	ĺ	. •		1	1-	1.	1.				:1	- 1			-		Ι.	•		-	٠ [ -	1.	1.			i ·		-
:	E	1		1	1:	1	1:	1-	:		1-		j	:		1	+-	H	1:	H	:		: 1	-					1:	<del> </del> :	1:1	-1	:   :	+	1:	<del> -:-</del>	ł:	<del> </del> :	ł	:
Ĺ	Į.	. į	- [	$\cdot   \cdot  $	1.	. .	١.	1	.	30	0	15		1,500		Į.	٠,	1	1.					kg	100	220	22,000	[ ]	1	-		.		-	1.	:	1.		1	1
•	1	•	٠,	ŀ	١	٠ŀ	١٠	1	•		·	•	1			1	1	1:	-		-	$ \cdot $	•						1.	•	-	-	-   -	1-	-		1 .	-		·
•	1	1	1	١.		1	1.	1	•		i	•	ĺ	*		1.		1.	-		۱٠		1	•	Ι.		4.4		1		[ • ]		٠   ١	1.	14	•			i	ŀ
:	ŀ	-   -	:  -		1	:   :	+-	-		·	- 1	:				1:		1	1							70	1,400 12,000			<del> </del> :	1:1	-: -		1-7	1:		<u> —                                   </u>			-
•	ŀ		١.	٠,	١.	٠١.	J.		.		-}		1			4.	. [ ]	1.					-		:	, ,			1.	-			.   .	:	.	] :		:	ļ	
ř	ŀ	٠	٠Г	٠ [ .	1	1	1.		• •		-	-	1			1.	. [ -	1-	1.		-	-	-						-	-	[-]	-	1	-	1.				1	-
٠	ŀ	•	1	:   :	1:		1.		-		i	• •	i	. •		1.	٠   -	1.		į :		-	-1					1: •	1.	-	•	·i	1	1.				i -		-
:	i:		: 1	:	1	+	1:	-	-		1			·	-	1	}- <u>:</u>	<del> </del>	1:	-	-:-	- 1				<u> </u>	20,000	i	1	1:	14	:	1:	1:	1			ļ <u>"</u>	<b>:</b>	4
•	L		۱,	.   :	. [ ]		.   .	1	.		-1	:	!	. :		1	. † -	,	1.								35,000		1.	-		1	4				1	] :		1
•	ŀ	٠	۱.	$\cdot   \cdot$	1		1.		-		-	•	1	: -		1	٠   -	1.	-		-	$ \cdot $	-	·-		-		10.	٠	١.	•	-	٠   -	1-	[-]			-		-
•	ľ	1	1		1	1	1.	Г	٠		-	•	i	•		1.	1-	1.	•	·	-	$ \cdot $	-1	•		1	•		1.		$ \cdot $	-	•   -	1.	1.	•	Ι' ·	١ .		ŀ
:	H	: -	:	:   :	1	1		1 -			+		j			1:	1:	H	1	-	-								-	ŀ	<b>∤</b> ÷∤	-1-		4	1-3		<b> </b>		ļ	1
į	L	.	:	.   .	- [	١,	١,	i ·	-		J		!		:	1	. ] .	1.		į.	.	.					13,500	1	L	:			.   .	1:	1.	:	1	1 .		Ţ
•	ŀ	:[	١.	٠	١,	1	1.	1	-		-} -	•	ł	٠.		1.	•   •	1.	-		-	$ \cdot $	-	•					1.	-	1.	-1	٠   -	1-	1.				1	٠ĺ
•	ľ	•	1	٠١:	1	1	1	1	•		1	. •	1		١.	1.	٠.	1.			-		-1	-	١.		60,000		ŀ	-	•	-	٠   -	1-	1.			١		-{
-	ŀ	}}-	:	: :	Т			ļ -			1-			/ <b>-</b>		-   -	4-	1:	1:	-	-	:	-1					ļ		1:	1:1	-1	:   -	1:	1	÷	ļ	ļ ——		1
	L	-	-	.   .		:[:	Į.	1	. ]							[:	.   -	1:					. 1		:			.	1.	:		- [	. [ :	:	1	:		1: -		1
•	1	٠	- [	٠   ٠		٠   ٠	٠ŀ	1	-		4	-	1	. •		1.		١.	-		-	-	- [	•	٠ ا				1.	-	-	- ‡	-   -	۱.	1.		.	٠. ١	1	ŀ
•	ľ	١.	١.	•	1	٠.	١.	1	•		4	•	ì	•		1.	1	1.		١٠,	•	•	٠[	-	٠ ا			\ ·	١.		•	-	٠Į٠	1.	.		•		l	ď
Ĭ	1	-	:1	:   :		+	+	<b>+</b>					1-	:		1	-	-	1	-	Н	-								;	-	1	:   :	:	-		l:	ļ:	ŧ	i
_	Ι.		.	٠   ٠	Į.	.   .	Ι.	1			-			٠.				Į.		١.		•							ŀ	1.	:			.		1	:	:	1	Ţ
٠		-	- [	٠   ٠	ŀ	٠   ٠	·ŀ	Į	- ļ		-	-	·					١.	•	١.			•	. •					1.	١.			۰۱۰	1.	1.	١.				ŀ
•	ľ	1	1	1	1	1	: :	1.			1	•	1	•		1.	1-	-	1-	١-	-	•	•	. •	1 -	٠.	10.00		ŀ	-	•	1	٠١٠	1.	-	٠.	١ .	1 -		·¦
:	1	:+			E			ļ	<del>-</del> -}				-	:	<b> </b>	1	: :	:	1:		∤÷			:		<u>:</u>	10,000	) ÷	÷	1:			:   :	ļ.:	1.	- <u>:</u> -			i	į
٠	1		-	٠,	. [ .	٠,	Ι.				-	-	.]		! :	١.	.   .		-	Į:	ŀ٠i	-	- 1	:						Į.	$ \cdot $	.	. :	1.	1	:				ļ
•	1	-	- 1	٠   ٠	1		٠Į٠	-	٠ [	1.0	-	-	1			١.	.   -	1 -	-	٠.	1		. }	:		-	: 1,430	)	١.		:	-	٠,	١.						!
•					1				:		1	•		•			• •		-	-	•	-	•		-	-	1 :		١.	-	1-		٠   ٠	١.	1.	١.	i .		i	ŀ
:	-	: -						1	:		.					43	: :	-	1:	:			-						-	1:	•	: ].	: [:	1.	-  -	- <u>-</u> -	ļ			į
•	ı		-	,   ,	. [ .	٠Į٠	. .				-			٠.	! .	1.								:		] :			:	1.			.   .		1:	:			ļ	Ţ
•	ŀ	٠	١.		٠Į٠	: :	٠		٠Ι		-1		ł			1.	٠   ٠			-	•	- <u> </u>		4	`-				١.		-	-		Ι,	١.	-			} :	ŀ
•	1	١-	-	٠   ٠	1	٠١٠	1.		٠١		-	. •	1	٠, ٠			٠   ٠				•	١٠١	•	•	; -	١ ٠	٠	:	-	١-	1.	- 1	٠.	· I -	1 .	١.	.	١ .	1	-
:	1		1	: :	1			-	: 1		4	<b>.</b>	1.					-	÷	:	:		:		1				- :	ŀ	1 - 1		: :	-	:		ļ :			:
:	ı					.	.[:				1	:		:	! !		: :				:	-		Str <del>a</del>	250	140	37,500	: 1	1:	:		:1	: :		:	:	1 :	į .	į :	1
		4	- [		٠ [ ٠	١.	٠ [ ٠	· i	- 1		-1					- [ -	٠   ٠	٠   ٠				-		nii ol	250 1,600	150 700	350,000	:	:	1-			:				1	ļ .	:	
٠	1				٠ [ ٠		٠Į٠		: ]		-{		1	٠ -	٠.	٠.	٠   -	٠ ا		! -		ŀ١	•	•			,				١.	-	٠   ٠	٠   ٠	1.		.	} ··	}	-1
•	l	:	1				١.				1	• • •	i		:	1	١.	- ا		-	•	•	$ \cdot $	-		•			-	١.			٠   ٠	٠   -	1.	•	١.	1 .	1	-
•				: :	1				:	ł.	1	. •	ĺ	•	[ .				:	:	:			•	'	Ι.		: !	Ι,	:	1:		٠   ٠	1.	1	-	'	i '	i	1
-					1	1	Τ.		:	١.	1		Ί	•	1	-i'	١٠	1.	Ι.	i ·	1	i <b>*  </b>		•	1 .		۱ '	į:	1:	1:		- i	: :	:	۱.	- 1	1 '	1 .	i i	٦į

Table V-4.6 Results of Herders & Farmers Interview: 3.5.4 Cost of Livestock Breeding (1/2)

	,		Š F		Fior		21			(ran	spo L	Only	Price	[ Krig	Row	ı,	4 T *			POM			_	und Ve	lerinary Onty	Services Price	Amni'	Rod		1 5	1.91	Fro		a T			Q ty	Price	J. John	Rind
N 02	†				-		<u>-</u>	∵	8		†	····	55ea 10,000	10,000	;	$\dagger$	1   2	†	†	H	†	†÷	•	•	<del>                                     </del>		<u> </u>	1:	†	:	•	•	;†	+	†÷	:	84	52	4,200 8,350	<del> </del> -
N 03	-	ľ	:	:	:	:	-	- [	en. -	ииро	٦		10,000	-¦ ·	·		$\cdot   \cdot$			ŀ		ŀ		-		850			E	-		$ \cdot $	-						,300	} :
NOS	ŀ						:1	:				5	<u> </u>	60,000 20,000	1				:	[-	<u> </u>		;	·		6,800	7,950		Ŀ	:			:	. .	Į.				]	:
N 46 N 07				- [	• •	•			•		1	•		31,425 15,000							:		:	:		-	3,130 3,500		Ŀ	1:	:				1:			[ ]	:	1
N 08 N 09	:		: [	.	- !		• { • {	-	:	:		:	1	1 525	; <sup>‡</sup>	ŀ	:   :			1:	<b> </b> :	:	:	:		:	150 1,400		l:	1:	•		:	: :	1:				:	:
N-10		Ĺ	-	1		:	- [		-					15,000	) <u>`_</u> :					-	ļ :	·	-				1,800		Ŀ	1:	-		-   .	. -	:					ļ
N-11 N-12	:	ĺ	:		-	:	-		-		İ	:	<u> </u>	10 000	) -		- :		.	١.	ŀ	.				] -	2,000		ŀ	1			٠	. .	1:	: -				
N 13	:		:	:	1	:	:					:		8.500 3.000		Į.	: :			:	:			:		] :	1,200 2,100		ŀ	:	:		:	:	;		/ · :		<b>i</b> :	
N-15 N-16	÷	1	: -	: .	: .	١.	:	:	-			:		3,000		-   :	: :	:   :	1:	-	ŀ	:	-				5,000 350		÷	÷	:	:	:	: :	1:		:		:	:
N-17 N-18	•	Ŀ		·l	-	:	- [	٠	•		١	; :	}	3,000 4,000	)¦ •		:	:   :			Ì:	-		:	1 :		12,000 2,050		Ŀ	1:			:	: :	<b> </b> :	.	1 :	:		
N-19		ŀ		-	-	-	-	•		•,	١	, -		4,000		ŀ	• •	.   .	-	-	ŀ	-	٠	-			650 1,200	· ·	ŀ	٠	•	•	٠	٠ -	ŀ					•
N-20 N-21	-	H	: -	: -	: -	:	:	-	÷		+		}—:	8.050	riecti	o	:   :	+	+-	ł÷	ŀ		÷	·	-		1,530		÷	H	=	+	+	- -	-	-=-		ł	<del>:</del>	- <del>:</del> -
N-22 N-23	1:	ľ	:	:	:		1		:	: -	1						: :		1:	:	l:	-		-		650		:	:	÷	-		-	:   :	:		1 :		[ :	
N-26 N-25	:	Ľ		:	:		:		:	-	١			: :	1:		:   :	1:	1:	:		:	:	:		8	8,000 1,550		<b>:</b>	1:			:	: :	:		:	i :		:
N-26 N-27	1	13	:	:†	:†	:	1	-1			1			2.000	1	1	:   :	1	1:	1:	1	-			İ		3,500	1 .	:	:	:	:	:†		1:	:	1			1
N-28	] :	ľ		.	$\cdot  $	-	- [	-	•			:	ļ ,, :	8,000		ľ	- -	1	1-	ŀ	ŀ	-	$ \cdot $	-	-	-	2,250 780		:		-		1	. -	-	-	-	{ .		
N-29 N-30	:			Ĺ	:	.[	-	:[		:	1		<u>                                      </u>	10.000			- :	:	1.	:			<u>:</u>	:			3,800		Ŀ	Ŀ	[.]		1	. .	Ŀ	Ŀ	ļ			1:
N-31 N-32	۱:	1		1	:		:	:	:	:		:		1,000			: ]:		1:	[:		;	:	- 1	] :		4,550	1	1:	·			. .	-	1:	]	:	1: 3		
N-33 N-34	:	ľ	:	:	1	:	:	:	:			; · : •		28,500	;		:[:		-	[:		:	•	•	:		11,850		1:	:	-	:	: :	: :	:	:	1			:
N-35 N-36	ŀ	H	:  -	ŀ	+	-∤-	:	-	-		- -		l	3.000		-   :		-	-	ļ_	-	-	-		:		3,500 4,900	<u> </u>	÷	-	-	: -	: :	: :	1:					
N-37 N-38	ŀ	Ŀ		·l	-		:		•	•	٠	•		1,000		Ŀ	: :	:	1:	Ŀ	Ŀ	:	-	•		-	4,800 950	. •	:		:		: :	: :	:					:
N-39	ŀ	ľ		1	1	-	-	-	-				:	45,000	Σ. •	ŀ	1.	-[-	-	[-		•				-	18,000			Ŀ	-		٠[.	- -	ŀ		-			
N-40   N-45	=	1	-	1	= †	:	:	-	-		- -		<del> </del>	600 5,000	),	-   -	:   :	-	1:	ŀ	-		:				5,050 6,400		1	1	-	-	- :	:	-			:		<b>!</b> —
N 42 N-43	]:	1		.			1		:	•	l		į . ;	10 000		1	: :	. :	1:	١.,					:		6,800 7,850		:				: :	: :	:			:		-
N-44 LE-01	:	ŀ	+	:	: -	: -	:	:	٠					15.750	ļ÷	H	: :	1:	ŀ	ŀ	1:	-	-:-		<del>                                     </del>		3,800		÷	-	:	:	+	: :	:			<u> —</u>	2,100	-
Lk-02 Lk-03	١.	Ŀ		1	:	:	:1	:	-		١	•	` :	1 800	)} -	1	:1:		1:	Ľ	l :	4	:	-:			1,200 950	1.	:	:			: :	: :	<b> </b> :					
Lit. (A	١.	Ŀ		-	-	-	·	-			١			10,000 850	)	ŀ	$\cdot   \cdot$		-	•		1	•	•			1,000		1:	:			: [ :	: :				} : :		
Lk 05 Ck 06	-	l	-	1		: +	-	-	-					10 000	)	1	1				-	-	÷			······	<sup>-</sup> 0.950	100	7	Ė	•	-	-†:	†-	-				•	
LR-07 LR-08	-	ľ	:	;	:	:	:	:	:		١	٠.:	į :	56,000 4,500	)	ľ			1	13	:	-		-	}	-	25,400 2,500	·					-   :		ŀ				-	]:
Lk-09 Lk-10	:	Ľ	:		:	:	:	:	:		١			1.200			: :			:	:	-	:		: :		5,250 700		:		•		: [	.   :	L			]:		
[k 11 [k 12	:	]	:	:	:[	:[			•	•	1	155	12				:[:								212	50	500 10,550			:										
Lk 13 Lk 14	:	Ŀ	:	:	:	ا:	:				١	•		8 560 40 000		Ľ	: :		1:	<b> </b> :	ļ:	:	:	•	] :		086.6 000.6		:	•	:		1	1:	1:	:			:	:
LL 15		ŀ		1	.	-	-	÷	-		- -	35	100	1,800	) -		:   :		-	Ŀ	ŀ	-	:				1,050 2,500		Ė	÷	Ŀ	-	1	1	1:					
Lk-17	ŀ		•	.		$\cdot  $	$\cdot  $	$\cdot$		,	١		"	1,800		ľ	.   ,			.	ŀ	-		•			2,250		ŀ	-	-		- [	$\cdot   \cdot$		•				
Lk 18 Lk 19			:	1		:	:	-			١	;	i,	12 000		ľ	.   .			١.	:	:					1,250 5,000		ŀ	1	-		-		:	-				
Lk 20 [k 21			╬	:	-	:	-	÷	-		-  -	:		2,500	; 	-   -	:   :	+	+	۱÷	<del> </del> ÷	-:	:				-3,500 -3,800	,	:	:	3		: -	: :	:				:	
Lk 22 Lk 23	<b> </b> :	l	:	:		:	:		-		۱			7,100			:]:			١.	:	1:	•	:		:	7,500 2,000		:	ľ	-	:	:	: :	:	:	1 :		:	
Lk-24	Ι.		. 1	. I		:	:	:	•	:		:		26,500	:		:   :				<b>i</b> :	<b>i</b> :		•		<u> </u>	4,750 400		<b> </b> :		:	:		: :	:			] :	:	
Lk 25 Lk 26 Lk 27	ŀ	1	<u>.</u>	1	+	1		:	•		1		1	8 00X					- [-	1.			:		]	:	1,200 300		:	:				+	-	<u> </u>				
Lk-28	١.	Ŀ	-	-1	-	-	-	٠		-		- ; -		80,000	] -			١.	٠   -	Į٠			•	•		•	15,250 3,900				-	-	- [ .	·   -	<b> </b> :			1	230,000	:
Lk-29 Lk-30	١٠		:			٠ŀ	:	إز		-	_]		] .	21 000 16 000			:   :		۰   ۰	.				<u>.</u>	<u>                                     </u>		612		:	:	-	ŀ	.	٠   ٠	١.	<u> </u>		1	ļ	. :.
LK-35 LK-32	١.	ļ	• 1	- 1	•	٠į	:	-	:	•			j	2.200			- -	٠ŀ			١-	[:	:	,			2,300 250					$ \cdot $	-	٠   ٠	İ٠		:	:	:	
Lk-33 Lk-34	ŀ	į.	٠!	- [		٠	:	:	:			-		4.500			٠   ٠		٠   ٠	:	:	:	:		`;		1,300		:			•	٠١	: :	1.	:	• :		6,500	١.
LN-35 [1-36	۱.	1	-	+	-1	1	-	-	÷			:	-	20,000		-   -	:   :			-	-	ŀ	:	~ ~ ~	4 ;		2.450 5,000	*	:	H			: -	-   -	-				ļ <u>:</u>	
Lk-37 Lk-38	-	Ţ	٠ [	٠,	-	٠١	:	:		-				4,000 5,000	) ·	1	٠.	:   :		:	:	Ŀ	:	-			2,300 3,450			-:	:	•	٠١		:	-	: :	:	] :	:
Ek-33	1.	1	٠ĺ	- 1	-	٠,	•	-	١.			•		24,000	5	1	-   -	١.		١.	١.		٠			} -	7,000	) .			$ \cdot $			٠.	1 -	į -		.	}	:
(x-4) (x-4)	1.	-	:	١.			:	:	÷-	:	-	:		85,000	ji	1		:   :		-	-	-			:		10,500				:				:				<u> </u>	-
(1:42 (1:43		1	:	1	• †	:		:	:	<u> </u>	1			2,500	•{ •		٠ļ.	:[:	٠   -	-	:	:	•	) :		50	1,800 300	ŭ -		:		-	٠	1.	1:	] -		] .	:	:
Lk-44 Lk-45	I٠		-11		- [	٠	:		:	:	ļ	:		10,000 1,300				: :	٠   •		:	:	•	:		1 :	400 1,200		;	:		:		: :	1:	:		:		:
Ek-46 G-01	Ŀ	1		-		- [	-	:	-	_	_		ļ	3,000 30,000	) -					-		ŀ	•				400 36,000	) (	:	-	:	-		. .		٠.				
G-02	١.	1:	٠١	٠١	-1	٠١		- 1	١	١.	1			6,000	•		٠ .	٠   ٠	٠ļ٠	1.	١.		-	•	· · ·		1,500		١.	•	-		٠١	۰۱۰	ŀ٠	:				•
G-03 G-04 G-05	1:	1	- [	:	- [		:	:	:	] :	1	:		3,500 10,000 6,400	D		: :		- ا		:		:		100	50	6,780 9,800 5,000	\ ·	:	:	:			: :	-			1		

Table V-4.6 Results of Herders & Farmers Interview: 3.5.4 Cost of Livestock Breeding (2/2)

	Fion	5				2	4.000 30.000 14.000	30,000 14,000 2,600 20,000		1	2	3	1		6 7			Only 22	50 50	1,300 1,100 9,900 7,000	•	1	2 3	1		5 [7	8	•		Price		-
•						2	30,000 14,000	89,000 4,000 30,000 14,000 2,600 20,000		• • • • • • • • •								22	50	1,100 9,900								:				-
•						2	30,000 14,000	4,000 30,000 14,000 2,600 20,000								:							:   :		. :			:				-
•						2	30,000 14,000	30,000 14,000 2,600 20,000			•	-			. .		:	l i		7,000	• •	<b>-</b>    '	٠,		.1.	Ι.	1:1	:	٠.	'} <u>"</u> )		
•						2	14,000	14,000 2,600 20,000 18,000				-			1	Ť -			1,800	1,800	- 1	•	· [ -	1 -	-1 -					; -∤		
•						2	10 0	20,000 18,000	:	ŀ	:		- [			[ •	•				•	1		$ \cdot $	·i	1	1-1	-	147	50	7,350	하
•						2	10.0	20,000 18,000	:	ŀ	. 1		. 1		:1:		] :	50 160	50) 50	3,000 8,000					11:			:				:
•									i	1		-	- [			-		70		3,500				-	- -	۱.	$ \cdot $					-
•							-			1:	1:	-		-   .	-	1				4,500			4.		-1:		1					١
•					•	:		18,000		Ŀ			1	-	. [ .			180	50	9,000					.].							
•							i	8,000		ŀ	١.	•	$\cdot$	•	- -			-	ď		•	- :		-	- -	٠   ٠		•	27	50	1,350	이
•							] :	12,000 23,000		:			: [							3,800 2,500	:							:				
•				$  \  $					1-	1	•	·	1	•	٠ [ ٠								1	1-1	• •	1	1.		95		4,72	
•							10 000	10,000	į	1:	1:1		:1	:[:	. .			130	50	6,500							۱.	:	29	50	1,450	
•		-	1	-	•	. 1	8.500	8,500		١.	•	-	٠Į	٠	٠[٠	-	•	110		5,525	-	٠.	٠   ٠	$ \cdot $	٠  ٠	٠   ٠	$ \cdot $	-		-		ŀ
•			1	-			14,000	14,600 10,000		1:	-:	:		-1	1	ļ	:	153		$-\frac{7,650}{2,600}$		: : :	+:	-	- -	1-	-		·	<del>  </del>		j
•				.				2,400		١.	.	-	-	-1	٠.	-	•			1,800			٠   -	-	٠ ٠	٠   -	$ \cdot $	-	-	-		ŀ
•	-		1	-			1 :	10,000 5,000		1:	•	-	:1	1	-   -	-	1 :	-	1	12,000		•			:1:			•				i
•	-1	.					!	8,000		:			: [	$\cdot   \cdot  $	.		:		]	3,000	:				. [ .			-				ŀ
•	. 1	•	1.	-	7		10 000	10,000	7	7	Ŀ	•	-1	1	٠1٠	[-				2,000		1	1-		-1-	1.						·l
:	:	$ \cdot $		:	:	:		20,000 8,000		[:	:			1	1:		:			1,800 2,200	:			<b> </b> :	:[:			•				į
:	-	٠	ŀ	$ \cdot $	100	.	1	٠.	-} -	ŀ	$ \cdot $	-	$\cdot$	-	٠   ٠	•	١٠		-	-	•	•   ·	٠ [ -	•	- -	-	•	•		-		ŀ
1	:+	-	-	H			·	12,000	)	<u>:</u>	÷	:	$\div$	+	∺	1:	H		—	2,800	⊢÷I		: :	H	-1-	+	ŀ∸ŀ	- <u>:</u>	<u> </u>			ij
٠,	1	٠ .		۱٠	٠.			10,000		ŀ		-	$\cdot$	•	-   -	-	+			3,900		-  -	-	$ \cdot $	- -	-  -	-	•	-	-		ŀ
:	:				:	:	:	13,000 80,000	)kon wa	1:		:	:		:1:	1:				2,350	:			1:1	: [ :	1:	:			] ]		:
-	<u>.</u> ].	-	1_		·		l	1	1	1	<u>                                     </u>		٠l	-	1.	•		L		2,000			: [ -	Ŀ	:1:	-	Ŀ			<u>                                     </u>		
: [	:1	:1				:		600	]	1:		:	][		:1:		i : ]	:	[ ]			:1:			:1:		1:[	. :			: :	j
	-					-				ŀ	1	-		-	- -	-	-			4,000	-	$ \cdot $	. -	$ \cdot $	- [			•			. ;	ŀ
:	:	:	1		٠.		E 2000			1.		-1	:	-	1.		-		2,	1,200	· ;	·	:   :		:1:			•				j
	:		ļ			. :	3,000	20,000	) -	Ľ				.	. :		1		20	2,700	: I				. [							
	:	1	1	[·	·	-	-	2,300	5	1	Ţ-,	[-]	Ţ	-1	Т	1				3,800		•	T	1	1	1	$[\cdot]$					i
	:	]				74				[:	[:]	:		1	: :	1:	head			3,560 5,000			:		:[:		[:]					ij
	$\cdot  $	٠	ŀŀ	$ \cdot $			2,820			•	$\left\  \cdot \right\ $	-	$\cdot$	-	-   -	-	•	-	1,500	1,500	•		٠   ٠	$ \cdot $	- -	1.	•	•.		} . •		ŀ
-	- -	: :	:	1:			]	250	<u> </u>	1:	:		4	: -	:   :	1:						-1-	<del> </del>		: :	+:	ŀ÷ŀ	- <u>:</u>		<del> :</del>	ļ:	
$\cdot$	$\cdot$	-	- -	$ \cdot $		-				1.	[-	$ \cdot $	$\cdot$	-	-   -	-	•			2,300	-	-   -	-   -	$ \cdot $	- -	1.		-	. •	-		-
: 1	:	.				20	10	200	5	1:	:		:		.1.	1:		[ ]		2.450				:	:1:			•		] ]		
٠	-	-1.						1,300	),	Ŀ	1.	-	4	1	-   -	.					: <u>.                                    </u>		1	١٠l	:   :	-	-	: :		14		4
1	:	:		1.1		.						1:1	:1		. [ .		1:				ii 🔃			1:1	:		H	/ <b>:</b>	11			
	٠.	-	٠ إ .	$ \cdot $		-	-	10,000	): •		•	$ \cdot $		-	٠ [ ٠					5,000	: -	+ 3	٠   -	$ \cdot $	$\cdot   \cdot$	-	-					٠
	:	:1					ļ			1:		[:]		:1	:1:					1,600 5,000							$\ \cdot\ $					1
	-	-	-	1.		[	ļ			1		:	•	$\cdot   \cdot$	. .			9	50	<b>3</b> 50			+ =	,	-   -	+	-		r – ÷	†		
			: :	[:ˈ	1 -		<u>i</u> -			1.				:1		•				16,000	•		•		: :			: :			i er	1
		-	. .	١.	-		-	11,000	• (	:		4		.]	. :					4,000	\$				- ;	.	.				1 23 4	Į.
:	:	Ц.	:   :		:-	56	12			-	•	:	ا:	4	1:	1:	1	<u>. 82</u>	150	5,400			:   :		٠١.	1:	:					1
			٠   -	١.	.	[ ]				1				,	. .	ļ:	.			2,600				.	.   .			• /				
: 1	:		. -								•				٠١٠	•				500	٠	•		$ \cdot $	:1:	1.	•	• :	1	•		ŀ
			.   .			:	1	3,500	) •	1:			:	$\cdot$	[]:	:	.		500	500	: I		:	1:1					2			
•	-		1	1.	1	[	1	1,000	)	ŀ	•		-1	1	- -	1:	·			2,600	•	•	1-		:1:	1	1:1	•	<del>-</del> -			ŀ
						:		1,040 1,000	յր։ս, <b>Տ</b> ՝ }	1:							:								:	.   -	<b> </b> .	:				
- 1			٠ .	1 -	٠	· ·		1,300	) -	I٠			٠!	-	٠١٠	١.				1,250				•	- -	۱.	-	•			٠	ŀ
-	4	: :	-				0 - 50	, 40,000 , 5,000	,	:-	<b>∤</b> ∴		-	+	-   -	-							1	<b> -</b> -}	: :	+-	-		<u></u> :			İ
+	-	-	- [	1			1 .	5,000	) -	1.		[-]	- [	1		•	١.			4,000		•   ·	٠   ٠	-	$\cdot   \cdot$	·   -	-					
		:		1:1		1 :		1,000 25,000	3	1;		:	:	1	1:	:	:		j	3,500 1,650					:1:						4.000	j
	$\cdot$	-1.	٠,	1-1		J :		3.000	)!		]-		J	-1	1	1-	Íon			600	- 1	$ \cdot $			٠1.	- [ -		١.		]		1
,	:	:				] :		15,000 23.00	,	E			:1	:[	. [					3,600	ا : ا			1-1	: [:]		ΙÍ	-	- 7.4			1
-	- [	٠.	٠ [ -	1 - 1			.	6 .	5		.		- [	. ]	1.	-	:			930			•	•	٠ [ ٠	· [ -	1 - 1			]		1
		:1				,	<b>;</b> ; ·			1:	•		:	٠	- [ -		•		1	4,000			-		1.	-		•		: -		1
-	- -	-	1	H	_ `	} <u>-</u>		51.500	٠ <u>-</u> -	:	13	1-1		-	]		- <u>:</u> -			2,000 1,300			:   :	:	:   :	+:	<b> </b>	- :-	· <u>-</u>			:
	$\cdot$	-	4.	1-1	٠.		1 : :			ŀ	[-]	-	- I			-				3,000	- 1	1	٠   ٠	•	٠   ٠	·   -	1 - 1	•			٠, ٠	
	- 1	٠L				1 / .		3,200	1	1:		1:1				:	:			5,800			:   :					•		] :	1.500	ij
:	-1	. 1				1 .	1 1	1	-1 *		1 1	. 1																				-1
	-1	. [	:   :	۱.	•	1		45,000	},	:	1 - 1	1:1			:		:	:		1,750 650	-			-	: :	٠   -			•	•		
	The state of the s						5	74 2,820 29 10	17,000 7,500 5,000 20,000 2,82	-	17,000 - 7,500 - 9,000 - 20,000 - 2,500 - 9,000 - 2,500 - 9,000 - 9,000 - 1,50	17,000   7,5	17,000 7,500 5,000 2,000 2,2,000 2,2,000 2,820 2	17,000 7,500 7,500 20,000 2,300 3,000 6,000 2,82	17,000 7,500 7,500 20,000 20,000 2,820 2,8	17,000 7,500 5,000 20,000 2,300 60,000 2,820 2,8	17,000 7,500 5,000 20,000 2,500 3,000 5,000 2,82	17,000	17,000 7,500 7,500 20,000 2,500 3,000 2,820 2,820 3,000 3,000 1,000 10,000 11,0	17,000	17,000	17,000	Scot	17.000	17,000	17,000	17,000	17,000	17,000	17,000	17.000	Section   Control   Cont

Table V-4.6 Results of Herders & Farmers Interview: 3.5.5 Cost of Livestock Breeding (1/2)

ł			_		ņ				13	Arima unit	Only	e Frice	Amnt	Rrack	-			F		_			uni uni	onty	Price	Anni'	Fir
1	1		3	П	I	5	6	7	8				<u> </u>		1	2	13.	3	5	6	7	8				ļ	ļ.,
1		:	-	1:	-	:	:		:		] :	] :	! :			[ .	Ľ					$ \cdot $	-		:	ļ :	
ı	٠,	-	١.	۱-	l	-	-	•	٠		١ .	-	! -		l٠	١.	ŀ	-	-[	$\cdot$	-	-	-	•		.	١.
1	٠	٠	-	-	1	•	-	٠	-		Ι.		22000		١.	-	٠.	•		•	ا:		•			} -	1
1	-:	-	Ŀ	∤-	1		÷	٠.,	-:-		:		37.800	·	H	-	1:	-	Н	-:					·:		
1			Ī	.	1	.	-						! .	-	l٠						٠,		•	-		! .	١.
1		•	١.	-	ļ	٠	-		-	j :- :					I٠	-	ŀ	-	-	• 1	•	•	-			•	1
1	•	•	-	-	I	1	٠	ŀ	-	•		i :	i :		l:	1:	l:									128,400	
1	:-	-		1:	ł	: †	÷	÷	-	-5-			ļ	·····	١.	1:	1		-	÷	•	-	:			4,345	
		١.	١.	١.	ı	۱.		٠			٠			-	ŀ	-	١.	-	-	٠	٠.		٠		١.	36,000	
1	•	١.	١-	-	ĺ	١.	٠	٠	١.	7			-		Ľ	•	1:	-		Ì	•		•		i :	36,000 92,500	
	:	١:	l:	1:	ı	:		ľ	:	1					Ľ	:						`			[ ]	30,000	
	-	:	١.	١.	t	:†	•	•	-		-		· · · ·		1	ļ :	1	-	•	-	•	-	-			7,750	i i
1	•	١.	ŀ	-	ı	-	٠	٠	-	-					ŀ	-	ŀ	- 1	-	٠	-1	۱٠	•	-		29,300	ľ
	:	:	1:	1:	1		:	1	:		:		9.050		Ľ	:	I:				:			:	:	44,330	į
П			١.	١.	ı					-	٠.				١.	١.	١.	-	- 1			-				33,200	
1	•	7	1	1-	Ť	-†	٠	7	•		-	-	1		-	1:	ŀ٠	-	•	-	٠	-				130,350	
	•		١.	1:	1	:			:	1:	'				1:	1:	1:				1	:		:	7,650	į :	ļ
	:	:	١:	:	1			ı:	:	:	:	.	] .		1	١.	١.				-		.	`		32,000	ļ
Н	•	Ŀ	·	-	1				Ŀ	Ŀ			<u> </u> :	<u>  :</u>	ŀ	ŀ	ŀ	٠	$\cdot$	•	ادا	ادا		:	L	1,550	
	•	-	٦	[-	1	•	-	١.	•	l	-	j	j -		١.	1	[	•		-		•	[			5,500	į
		:	١:	:	ı			1:	1:	:		:	] :	:	١:		l:						:	:	] ] .	58,250	
Н		-	١.	-	I		-	١.				١.	¦ ⋅		ŀ	-	١.	١.	ŀ	-	-		•			780	١.
1	÷	Ŀ	Ŀ	ŀ	1	ا:	Ŀ	1:	:	-:-	-:-	ļ- —:	1		ļ -	-	Ŀ	-	Ŀl	i.	-	Ŀ				73,500	1-
		:	1:	١.	I	:	:	1:		1:	:		] :	.	1:	į .	1:			:	-		:		:	82,550	Į
1		-	١٠	1.	1	١.	١.	ŀ	-	-					١.	-	١.	•	.	-	-	$ \cdot $					·ł
4	•	-	١٠	-		.	١-	١.	-	1 .		·	ί .	•	١.	-	١-	-	•	-	•	•	•		: -	195,030	
	•	H	+:	+:	4.	÷		<del>-</del>	:				ļ:	:	<b>†</b> :	-	÷	-	<del>;</del>	-	-	:			<u> </u>	132,100 56,400	
		-	١.	١.	-	-	۱-	١.		- 1		ļ.,			ŀ	١.	١.		-		-	-				61,000	l,
1	٠	-	ŀ	-	I	-	-	ŀ	٠	1 -		١.		-	١	ŀ	ŀ	1:1	•	•	•	-				1,250	
;		:	ľ	1			:	! :	1	1:	1 :	j :	j :	-	١.	!:	Ľ				1					145,040 88,810	
it	- ;			-	۱	-	3	ŀ	-						1	†	ŀ	÷	-		•	-				34,740	1.
ł	•	-	ŀ	1.	١	-	١-	١٠	٠						ŀ		ŀ	٠	•		•	•	. *			55.30	
l		:	1:	[:	1	•	1	l:	1:			1 :		1 :	l:	١:	1:				•	1:		:		195,520	1
ił	-	-	ł-	-	ł	-	-	F	1	<del> </del>	t			<del> </del> -	t	H	H	-		•	-	7.		:		10.550	
2	-	١.	١	1	1	-	-	٠-	ŀ			-		i	ŀ	ŀ	١.	-	÷	٠	4	•	٠		١ ٠	5,300	)
3	•	١.	١.	1	1	إ	•	-	ŀ	1:	ĺ.	1 -	) .		١:	١:		•	•		1	!			Ι.	81,000	i
4 5		1	۱	ŧ.	١			<u>-</u> ا	Ľ	1:		ļ : ;			ŀ	١.	ŀ			-		.		:	:	9,350	)
6	•	1	ŀ	1	1	-1	3	•	1			;	1	1:	13	-	17	7		=	-:-	-	1.		ļ	20,953	
?	•	-	١.		1	1	į.	-	1:	:		•	j .			١.		-		- 1	:	:	•		j .	176,900	
8 9	-	Ľ	١:	1	i				Ċ	l :	:			[	ŀ	[.	Į.				ŀ		į		] :	24,568	1
D-	•	ļ	ŀ	1	1	ا	Ŀ	Ŀ	1.	<u>  :-</u>	L	L	1	-	Ŀ	Ŀ	Ŀ	[ -	Ŀl	1		[ -	<u> </u>	<u> </u>	:	11,900	
,	٠	١.	آ	l:	1	- 1			ľ			i -	j		Ľ	I.			:	:1				Ι.	j	14,750	
3	;	<u>ا</u> :	١.	1			ľ	ľ	ľ		:	] :	] :	] .	Ŀ	Į.	١.				:			:	:	59,840	)
4	÷	-	۱.	1	1	-		١.	١.		-		•		ŀ	ŀ	۱.	•	•	- 1		-	•		.	17,500	)í
5	•	•	١.		1	إ	:		ŀ	ļ		ļ	<u> </u>		ŀ	1:	1:		-	إذ	-		÷	ļ	ļ	3,350 11,300	\ 
6	•	ŝ	:		1			1	1:		:	) .	] :	!	I:	1:	Ľ	:			:		:		! :	4,050	
8	÷	١.	١.		1	-		-	١.			! .		1.3	ŀ	ŀ	۱.	-	$ \cdot $	÷İ	١.	۱.			١.		
9	٠	•	١٠	1	Ì	t	١٠	-			1	i :	1		ŀ	1:	١.			•	•					39,000 30,500	
Û.	:	1	} :	1	ł	÷	ŀ	-	H	i	ļ	į			ि	1:	H.	H:	÷	-	÷	1:	<u>-</u>	<b> </b>		8 3	
ر ر	•	1	١.	1.	. }		٠	١.	١.	.			.} .		l٠	ŀ	١.		$ \cdot $			-	١.	: .		103,100	)
3	•	١	١٠	١		•.	٠	-	ŀ	ļ ·		١.			ŀ	-	ŀ	į:		•	٠		:	Ι.		3,700 79,650	4
3	:		:	1.	1		•	:	1:	:			1 :		1:	1:	:		1:		:	:		1 :		1.900	)
6	•		-	1		-	÷	-		-					:	-	:	-	:	:	:	:	٠ <u>÷</u> ٠	- : : <b>.</b>		1 900 40,200	<u> </u>
7 [	•	٠		١	١.			-		-		ι ·	·	1 .	١.	124   1 2 1 3	۱.			٠	•	-	٠		1	1,550 396,250 25,850	),
8	:	1:	:	ı	:		:		1:						].	١.	:	:	:	•	:			] :		25 85/	,
o l	:			1.			۱.	۱.	1.						١.	۱.	l٠	١.					1			16,616 96,100 250	
Ī		Γ	-		1		-	-							ŀ		-	1		•	:			.	i	96,100	(
2 3	:	:	Ŀ	ı				:	1:		l .	1 .		1:	:	1:	:	:	:			-	:		! :	: SIDON	31
3 4		ŀ	-	L	- 1	-		-	Į.	-	j :				١.	١.			<b>ا</b> ، إ			-	:			11,200	
١	:	-			1	- 1	-	-	:	1	ļ:				-	1.	-	1:	-	·	Ŀ	-	l:	F		11,200 4,450 64,600	) 
è 7		:	:		1	-	:	-			1 :	j :			1:		1:	]:		:		:	;	i : :		1 04,600 1 8300	(i
ŝΙ		Ι:	:							- 1	:				Ľ		:	1:		3	١٠	] :	-	į .		8,300 29,450 176,250 6,450 103,500	9
9		ļ٠	١-	١.	١.	-	١.	-	.	-	1 .	, i i i i		.[ -	ŀ	١.	-	١.	-	•	١.	۱-	١.	ļ · -	ļ .	176.250	3
0	٠	:	:		1				1:	- :			j		:		-	-	-	•	:	-	-:-	ļ	·	6.450	) }   (
2	:	1:	:		- 1	:	i :		1:			1			1:		1:	1.				:		! :	!	24 30	<u>`</u> '
3	ŀ				- 1			١.	:	]	1				Į,	ţ	-	[:				] -	:			24,300 300	)
4	٠	ŀ	ŀ	1	ı		١.	١.	ŀ	-	1 .		·	· ·	ŀ		-	•	-	-	١.	•	١.	١.			٠.
5	ŀ	l:	:		ĺ	:	l :	1:	1:	:	1	i :	i	:	l:	İ.	1:	1:		•	l :	1			į :	13.40	,
ï	:	Ε	-	ł.	ŀ		:	1	1:		····		ļ	J	:		1:	H		:	:	÷		j	ļ:	4,500 13,400 580,500 17,500 69,780 120,050	)
1 2	١.	١.		-	۱.		١.	ŀ٠		-	1		-  .		ŀ	١.	-		-	-	٠	-	١.		•	17,500	)
3	:	ŀ	١.	3	١	•	١.	ŀ	1.	-	1	`			ŀ	ĺ٠	1	١.	-	-	٠	-	-	١.	į i	69,78	
4		۱.	ţ.		. 1	•	١.	۱.	1.	-	4 .	·1 ·	-: .		I٠	١.	١.	١.	} <b>-</b>	-	٠.	1 -	١.			: IZVIUS(	,

Table V-4.6 Results of Herders & Farmers Interview: 3.5.5 Cost of Livestock Breeding (2/2)

١								13		l Isuran				Τ.						_	-	TEG				
1	] 2	] 3		TO L		6	7	1	ñuj	Qny'	Price	Annt	Amrik	'n	12	<b>[</b> 3	1	T S	F	17	1 6	unit	Onty	Price	Anni	P.
:	:	1:	T:	T:		1		9	-		]	:	:	1	T:	1	1	Ē	:	1	Ē	•			59,500	
-	١.	•	ŀ	-	1	-	٠	-	١.					-	ŀ	-	-	ŀ		:		:	] :	] -	46,100	١.
1:	1	1:	1:	1.	1	:			1	:	3,000	3,000		1:	١.	1:	:		:	l :	:	:	-	:	21,000 46,800	
7	ŀ	1-	1	İ٠	1	- [	٠	•	,		-	- 5.55	<u> </u>	ŀ	1	•	•	1:	-	-	-			ļ:	71,350	, .
:	Ĺ	1.	١.	j.	ı	1		:						Ŀ	ί.	1:	1:	1	:	:	]	:		:	103,000 150,600	
١.	١.		ŀ	l٠	[	١.	٠	•	-			-		١.	ŀ		-			-		-		:	161 000	
	-:	÷	-	-		-	:							-	ŀ	-	:	:	÷	١:	ŀ		·		90,000 102,500	
-	ŀ	ŀ	ŀ	1.	1	٠	٠	•	-	-				١.				ŀ	Į.	i.	].				229,000	
		1:	l:	1:		:	:		-	-				L	:	1:	:	•			Ŀ	•	•		183,350 120,800	•
Ŀ.,		Ŀ	Ŀ	Ŀ	1.		:	•						Ŀ	Ŀ	Ŀ				-		-			196,500	
ľ	•	1:	:	1:	ľ	:							:	Ľ	:	1:	:	:	:	:					56 326 95,450	
١٠	٠	ŀ	•	ŀ	1	•	٠							ŀ		-	٠			•		-			86,500	
	:	1:	:	1:	1	:	:		:	-				1:	:	:	:	-	:	•	:				126,705 129,650	
•	-	Ť	-	t-	1	1	- [	-						H	-	7	7		-			÷		~ <u>:</u>	3,600	-
:	:	1:	:	i:	1:	1	:							L	:	:	:	-		•					18,200	E4,
$ \cdot $	١.	ŀ	-	١.	١.			-						ŀ		,		-	-			;			82,000 35,000	:
÷	:	ŀ	ŀ	١.	-	:	:1	-	·-	:				Ŀ				Ξ	-1				i		148,000	_:
•	١.	-	-	ŀ	١.	Ţ	- [		•	.			•	ŀ	-				:	:	$ \cdot $		:		242,800 221,800	
	:	1:		1	l:		:1					:	-		•	٠	٠	·	-	•	·	-	1	-	20,200	•
Ŀ	Ŀ	Ŀ		ŀ	Ŀ					]	[;	:		-							[: ]	:		.i	18,900 89,700	! :
	Γ	Ē		Ŀ			:]		ij					<b> </b> :		:	•	•	•	-		•	-			-
		١.		١.	ŀ		-								i.							:			63,000 73,000	
	:	1		1:	1:		:		:			j	•	1:	•	-	•	٠	•	٠				•	117,350	١.
	ŀ	-	-	1-	ŀ	+	:	÷						:			-	÷				$\div$	:		12,000 3,200	-
:	:			1:	ľ		:							-	•		4	٠	·l	•	-	•	-	•	2,000	
ì	١.			ŀ	١.		$\cdot  $			-						-			:			:			21,000 98,700	
	<b>:</b>	1	1:	١:	ľ		1			j	-		•	•	٠	-	•	•	-		-	٠	ŀ		67,600	١.
-	7	1	-	ŧ:	t.	1	-							-	-	-	-		-		∄	$\div$			96,700° 31,300°	-
:	1:	١.		Ľ	ľ		:			•				4	•	-	•		-	۱-	٠	٠	4		45,060	. :
	١.		ŀ	ŀ	]-		-					]				-			:			:		4,320	65,000 4,320	
-	:	١.		١:	ŀ	-	:	:					· <u>:</u>	:	-	:	-	-	-1	-	-				10,260	
				۱-	ŀ		-	-	.					Į.									- 1		22,300 2,800	
	:	:		1:	ŀ		:								:	-	•	:					1	-	•	٠.
٠	Ŀ		-	ŀ	ŀ	.]	٠l	•	- 1				•				-				-		1	.!	10,240	
	:			١.	l:		:				i :	]													63,300	
,	١.	١.		١٠	ŀ	ŀ	٠.	-	- 1	,		-{	•	4					-	-	-[		- 1	1	65,000 15,000	
ij	:	١.		l:	١:		:			]				:	]			:	:			:		-	3,100 32,500	
•	•	ŀ	•	ţ٠	ļ:	1	١:	-						-	•		-	-	7	7	=				450	٠.
	:			:	:		•					42,400							:1	:1	:	:		- 1	7,450	
•	•	ŀ	١-	-	ŀ		٠Ì	- 1	٠	-	•	•	•	•	٠	•	٠	$\cdot$	٠.	-	-	•			110,000)	
	÷	H	1:	į:	1	1	:	-	-:-							÷	:	-	:	:	:	<u></u>		i	56,072	_:
١	•	:	:	·	ľ	1	:1	- ]		-	-	-	•	•			-	-	-1	-1	-1	-:		- 1	3,100	
	:	١:	١.	ŀ	ľ		.						•	:				ij	:	-	1		į;	- :	3,500 18,000	•
-	•	:		ļ.	:		:1	:							Ŀ	.:	-	:	اد	-1	-1		·l	1	4,100	
$ \cdot $	•	ŀ	ŀ	:	:		:		.	.]		- 3			:			:	:				j		6,800 7,290	
-	÷	-	1:	:	1:			:	· {	-	-}	•	•	•	:		-	ŀ١	7	-1	$\cdot$	, <del>-</del>			6,830	•
		-	١.	:	;		٠!	٠,	. !	]						•	:	:		:	:	-	į	. j	2,550 153,700	
				:	:		-					13,185			•	•		-		:	•				- 1	•
-		-	,	١.		1	٠	-			-		i		÷	٠			٠١				]	i	9,000° 24,900°	
	:	:	:	:	1:	Į.	•	:		, i						:		1	1	1. 1. 1. 1. 4.		•	ď		30,850	
-	•	:	:	١.	:	1	- 1	-			•		<u>.</u>		-	-	:	-	7	:	-				5,600 39,600	
:	:	:		:	:	L	•							,	*	:		:	:	:1	1	:-	- 1		63,500	•
$ \cdot $	٠.	-		١.			٠	-	·		-		•	•	-			-1	٠Į	-	-1	•	1		1,545 4,500	
-	:		:	-	:	E	:	:	-:-					1		-:	1	-	:	:	-		}	:	12,000	-
	-	•			١.	Т	١.	٠	: 1	-	1			4	-	٠	-	-	. ]	-	-[		Į	1	53,000 52,500	
	•			:	:		:[	:		:	j	j	-			•	:	:1	- [	:			-{	, :-	399,000 3,500	
		-			ŀ	ŀ	٠	-	·		- 1				-	-	-		-	-	. }	. 1	Ţ		46,750	:
		:			:			:					- ,		:	-	:			-			•		9,050	٠
		١,	1	١.	ĺ.	Ш		.1		1			_ ( 1	[		1			1		1		1	- 1	5,000 125,800	٠

Table V-4.7 Results of Herders & Farmers Interview: 3.6.1 Constraints & Need (1/2)

Cons	02 baints	Health I		mitary Interner	·	Cons	os. Tairis	oubio	ved Va: Requi	tement rem			onstrain		ሳካ ያ የ	Raqu	remen	C		onstrair	\ls	rinking	Regul	remeni	 1-
3	2	<u> </u>	5	3	4.7	1-	5	1	5	3	4	1-7-	7 2	3	1	7 2 .	3	4	1		3	1 1	1 5.	( 3	1-
	1		•	a Teorci	n Others	•		A.L	Quality	oductiv	Others	Price	Duantit	Storage	igh sh	cucil pr	มงลกบ	t Others	Source	วขกอน	<b>C</b> UDING	Source	ELUBODI I	(Uuaki	į۷
•		!	1:	1:		l :	۱: ۱	:	1:	! :		:	:			1 :		.	wells (	) [					["
	.	:	:		e deca			1	1	1	1	٠.				1	1	١.		i -	٠.	1.	1	1	l
		١.	١.	1		٠.		٠	ŀ	۱ -		•	•	- 1	٠	1	1	•		٠.		1 :	1	-	l
	. :	l	<b>↓</b>	1:												1.1.	:			· · · ·		1			∤-
•		١.	;	1	1.	٠.	•		1:	1		*					1	1:	1:	1:		i :	1	1 :	
:	1:	1:	2	1:		Ī			1:	] :		-			1	] :			1	1					l
	.		l i	1	1.							•		•	•		-			!		- 1	: -		-
	١.		i	J. i.	1	_ <u></u> .	· .	l . :	<u> </u>	l						1_1_	[ 1				i		Ì		1
-	T	1	1.1.	1 1	1				-	•				: •	• • •	!!	] !	1:	1:			•			
•		1:	!!	$\perp$ !		•	•				•	1 :		:	i		[ ]	1:	1:					1:	Г
•		1	[			l :			! :	1:			1		•		Ιi		1	Ę		1			ľ
:	:	1:	i i:	1 1		l :		] .		١.	١.		• !			i i	į į			-					i
			1.1	1-1-							1	•	•	-		17	11-	1.	1			-	7.		1
	-		1			٠.		١.	١.		-	-	• :	. •	•	1	١ ١		1	٠	-	: '-		!	ı
•		-		1 1		٠.			•		-				. •	!	!		:	•	٠.		,		ı
٠	-	•	11.	1	· -			١.		•		1							] :				1		ı
<del>-</del> -	ļ_:-			<del>  •</del>	<del>  :</del>		<del> </del> <u>-</u> +		<del>                                     </del>			<del></del> -				<del>  i</del> -	┨╌╅╴	+-						-	╂-
:	1:		Hi		]						.					i	i	1	.				-		ı
			Ιi				.	١.	:		١.	١.				1	1			-	١ -	į.		-	ı
-		۱ ۰	•			١.	•	-			١ ٠	١.	1 .			1	l :		·	1 -			'		1
	1	;	1 1	1	1		ļ	<b>∟:</b>	ļ.:-	1.:.	_:_	1	<u> </u>	-:-	ļ. ——	1	┧╌╬╌	1					1-		╀
•		1	1	1	1:	:	:	1 :	1:	i :	1:			: : :	i	1		1:		1 :	:	:	1	:	ŀ
•	1:	1				:		l :	1 :		1:	1:	1 [		1			1.		١.			١.		
•	] .	:	1			•	.	-				-	1.	.	1	i	1	1 -	1				-	· 1	
	1 .	۱.	l i	1:1	.	١.		<u> </u>	l	<u> </u> .		1 :	-		•	1.1	1	1		ļ <u> </u>	<u>_:</u>	<u> </u>	1 :	1	Į.,
		1	1		1::						•	•	13.		1	]	!!	1		-	•	-	•	i :	1
• •	·		1	+1	1 -	-			)								1	:		1 :				! :	ı
•	1 .		1	1		:		:	:		1:		1:				;	11:	I .	:		Ī	i .		١.
:	1:	:	1	11	1 .		.	:	.	🗓	.					1	i				L·		1 -	۱.	13
			1-1-	1-1-	1				1			<u> </u>	77.7			i	1	1		J			T-:-	-	1
•	} -	-	1	i	1 -	٠.	1 .	-			<b>∋cess</b> a				•	1	1	1			-	. •			١.
-2		-	:	1 .				١.	'		-			•	•	1	:				• •	-		1:	1
•			!	1!		l -	1	•	:	Ι,		l :,	1 :		i	1	}		1 :	[		1	1:	1	١.
	:-	<del> </del> -	1 1					<b>-</b>	-:-		<del>  -</del>					<del>   </del>	† †	1-1-			<u> </u>				t
		.	:	'					.	۱.		1 .	1 .			•	-			- 1	١.		•		١.
•				-	1 -		1.	۱.		·		4 :	•			•			[:•	1:		-	•		ľ
		1.4	•		-	:-		•	•			1:		l			-	1		-					
	1-:-	<u> </u> :	<u> </u> -	.l		1-		1	<u>-</u>	- <u>:</u> -	<b> </b>				:-	- <del>:</del> -							ļ <u>-</u> -	<del>:</del>	-
•		:	:		1:	[			:	:	1	1 :	1:		[	1:	١.	:			1	] [	1 :		i:
	'	:		1		<b> </b> .				1 .	i -	.						1		-	· ·		-	١.	
		:	1 2	-	1	٠.		• `	į -	·	-	] -	} -	-				1 .		ļ - ·	-		-	1 :	ĺ
	1_4	1	1.:	1 -	1	1:	1		<u></u>	1_:	1	1	ļ <u></u>	<u> </u>	ļ:		1.:	1		1			ļ	ļ	4-
•	1	-	1.	1 -		[ · · ·		1					1 1	•		1:	1:	1	1:		:		:		1
		1.	1 .:	1:				1:	:	:	:	1:	1.7	-		:	:		.	· .	}: .			1	1
			1:	1:	4			i :	1 .	:		1		l -		1 .	١.								l
				1.				١.		۱.				<u> </u>	1	1 .	:		I	1.:		1:	1		1
	3	1 :	i -	•	1	•			1	1	1	-				1		1							1
	1		1 -	1.	1 -1	•	1	1		•		1.	L	-	Ι.	1 .	Ι.					:	1:		ľ
•	1 .		1		•	Ι.	,	1	1:	:	:	:			:		:	j :	I :			:	:	1:	
	1:	;	1:	1.	:	1:			1:	l :	1::	1	:		Ιί	1 ;	l i	1.	۱.	1 .		l i	1		1
			+ +	-			1	1				1			7.	1-:-	-	<u> </u>				1		1	1
- 4	.	1	1			. •	·, •		1 -	•	:	١.	-	1 •	1	1:	1:	•	-		-	1.1			ı
-	•	1	1	- [ 1						-		١.	-		1	1	!		:		:	1		1	1
•	•	!	1:	1:			١.	1	:	:	:	"			ī	:	1 1	1:			1	1		1	П
	-		. !-				- :	-	+								1-1-		-:-		<del>- :</del> :		-:-	;	
		1;	i	1 .			:	[ <del>-</del>	:	:	:				1	į :	li	-				i		i.	L
		$\mathbf{l}$	Li	1					1 -		-		1:0	. •	1	1 1	1	ļ ,		. <b>-</b>		-	1.	1	1
		l i	1 1	1.1		1		-	, -		-	۱.	-	٠.	1	1	1	١٠		•	1 - 1	1		!	L
	-:-	1_1_	1 1						1	ļ.:-	:-	144	1	<u>:</u> :	1. 1.	Į. <u>Į</u> .	1-1-	-		<del> </del> -		1-1-	1		Į.
	1 .	1 !	1 !		1	1 :			:	:	:				1	1	1	1:				1			1
<u>:</u> ا		1	1	1		1:						1:	:		1	'	1	.				11			
			1	[		:	1	1.5			•	3.9			i	1						1		-	1
		1	1 1			1.				1 .	.	1 .			١.		1	- -:-		-	1	1 1		1:	1
- :		17	1 1			1			17:-	1	·		17.7	1:5		1									1
١.	1 -	1.1	1.1	-	ĺ -	-		1							1:1:	1	1	1 :	'	•		1 1.			
٠.	.   •	1.1	1	1:		1 1			Ţ÷		1:	:			1	l i	1	;	1:		:	1			1
1:		1 1	1	1		1:		1		•		1:			1			1 .		(					ı
~÷	-{-:								1 -	:	- <del> </del>	·			1.54	·-			-		1	1	1-1-		
1:		i	1 1	1:	1:	:					-				2 i	-	1	4.			] -	1	1.	1:1:	ļ
-		i	ji	١.	١.	١.				1 .	-	-		-	1	1	1			1	1	1.1		1	Į
		1	1	.		۱.	-				-	-			٠.		1		1 .			1.1	1 .	1:	I
:-	1 .	1 1	1	.  :				1.:-	1.:.	<u>.</u>	1		<u> </u>		1-1-		- 1	1	- ;		<b> </b>	11-		- -	1
	1	17	1	-		1	1 -			1	1		1 -				1		:	:		1	1		-
	1:	1.1	!	:		:	:		:	1:	:	1:	1:		1 ;			:	:	:	:			'	
1 :	:	1	1	1:	1:	1:		:	:	:	1:	:	:	1:	H	1 1	'		.	•	-	i		1	
		1 1	1 1	1:	1:	1			1 :	1.	.	١.	١.	١.	1	1:	١.	1 -	1 .	1 .	١.	1	1 .	1	Ł

Table V-4.7 Results of Herders & Farmers Interview: 3.6.1 Constraints & Need (2/2)

200	7	Ş. F	eath	8/K	J Sa	nitary		200.5	03	. Imoro	ved Va				Carrier Co	Q4. St	opy o	Fodde	r			onstrai	05. C	nisking	Water		·
<u> </u>	\$ Jrain	15	- 1 -	ı,	ž Ž	remen	TT	1 400	straints   2		Hedo	rement	-3		onsva 2	7K5 3		Hequi	remen		} <u>-</u> -¥	onstrai	3		r agu	remen	1
H	+-	-		H	i	1	1:	+:	1	<del>                                     </del>	÷	1 :	1:	<del>  :</del> -	1	<del>                                     </del>	:-	- <u>-</u> -	1-1	1 :-	<b> </b>	<b> </b>	1	-:	<del>  -:-</del> -		t
1		-	-	ı	1	-	١.	1 .	١.	j -	١.	-	-	١.	1	-			1	•	٠.			-	-	·	
1	1	-	•	ı	•	1	-	١.	-	-	٠.	-		١.	1		٠.	1	1:		١.	٠ ا					
1	1	•	-		1	١ -	1 -	١.	1 *	•	•	-	•	l :		1	1	•	,	١.		-		1	١.	1	
	-	-		ļ		<del>  -                                   </del>	}- <u>:</u> -	I			l ·	<del>  -:</del> -		┨╌ <b>:</b> -,	ļi		· <u>-</u>			<del>-</del>			ļ. :		1 :-	├-:-	<b>}</b> -
	1.	- 1		İ	i		1							Ιi	1 :		1	:	:		١.		1 .		.	٠.	
	١,	.	-	-	i .			١.			١.	١.	١.	i	٠.		-	1			١.				-		
•	.	• 1	•	1	1		1 -	•	ļ - ,	٠.	٠.			1	٠.		1							1 .	-		
	:	: 4		ļ	<u>.</u>		1		1				<u>                                      </u>	;-	:-					ļ		:	<b> </b>	<u>  -</u> -	١.	<u> </u> -	H
			•		1	1	} :	1:			1		:	¦		1	1 '		1:	:	l :			1 :	:	:	i
					i	i :	1:	1	:			I :	:	1 :	:	:	l i	1 :	:		:	1		1			l
		.			1	] .	Ì٠	١.					, .	l i			i	١.	١.		١.	١.	۱.			١.	ŀ
	1.	. [	. •	1	1		١.	۱.	-			•	•	1			1	١.	١.		٠.		٠.			l	L
•	1	-	•	Ι	•		I	1				•		1.1.				·			•	-	1.:	] ;	•		Г
٠.	1 .	. [	•		!	Ι.	١,	١.		•				1 !		•	1:	١.	١ ٠	•	١ ٠	٠.		1		•	l
	1		1		!	l :	Ι:	1:	1:		1:	Ι:	:	1 :	1:	l :	H	l :	:	1:	l :	l :	:	l :	1:	l :	l
1	Η,	.	:		1		.					.		Li	[	:	Ιi		-							١.,	l
-1.	17.		-	1	i i		1	1					1-:-	17	†		17		-~ <i>;</i> -	1	T -		ļ —	ļ	†		r
- '	1: -	-	-		1	١.	١.		•	٠.	٠.	١.	-	_	1	•	-	1	١.	j٠	٠ ا	-			٠.	-	
* -		•	•		1	١.	١.	. •	٠ ا	* '	٠ ا		•	1 1			!		٠.	١.	٠ ا				٠.	١٠	
-	1.	•	•		1	Ι.	1 -	1 .	'		1:			1!		•		'	'	:	1	1:			1 .	:	
$\vdash$ i	+	-+	- <u>:</u> -	-	1-	H÷	<del>  -</del> :-	1			1						<del>- !</del> -	-;-	}-÷-	<b>∤</b>	<u> </u>	Η÷	<del>-</del>	<u> </u>	$\vdash$	<del>⊢∶</del> −	1-
:		. ,		1.	i	.	١.	1 .		.	:	١.	-	1 .	1	:	ì	:		.		1			١.	١.	
٠	1.	- :	•		1	1	١.		•	4	-	-	j -	1		-	•	1	1	•					١.	۱ ۰	
:	htte	tim	•		1		١.		•	٠.			-		:		•	-	1:	· ·		:	•	[ ]	١.	١٠	
		-		} .	1		ļ			<u> -</u> -		<u> </u>	1		-				<del>  - !</del> -							ļ	-
!		. 1		1	i l	l :	Ι:	:		1:	1	:	1:	I :			;	i	:	;	] :		:		:	:	
Li	1.	-		1	i			.			:		1	.	l i	.	1	-				l i			1		
1	1	-	•		1	١.	1 .		•	-	١.	1 -		·	i.		i	-			١.	1		1 .	i	-	
		•	. •	1.		1	1:	<b> </b>	ļ_:	<u> </u>	<u>-</u> :-	-		I. :_	-:-	1	ļ	1	1	ļ	1		1	1-:-		-:-	ļ.
1	1	-			1		:				1	1 :	:		1 1	1	1 1		1			1 !	1	1:		-	
		- 1			i	1	:			-	1:	-	] :	l :			:	1	i			1:	1:	:	:		
	1	.	-	1	1	:	1 50 g	d ·			í	- 1		4.5	1 4		. 1.	l i	i				١.			١.	]
-	1	<u>.</u> .	•		•	l				. •	<u> </u>	İ	<u> </u>	-	L		<u> </u>	Ŀ	1	<u>.</u>	: • ·	1			1	L	L.
		•.	•	Į.	1		1		-	, •	-	-	-	177		7.7	•		1	77			•	•	-	-	
		•	1	ŀ	1	,		1						J •	1			1 1					•	٠.	1 -		ľ
1:		:		İ	•	1:	Ι.,				[	l :	lging th	1 ;	:	1	1		1	1			:	1:	l :		Ì
-		-		Ŀ	i '	١.					1				.												
				1	ī	1	1				-	-						1				7	-	•	1-3-	-	r
	1	-	•	ı		١.	• '	7.		-	١: ١	١:	١.						1 :	•	•	•		-	١.	٠	ı
	1	٠		l	i	i .	١.	n Livar	]	: -	١,	1		١ ١	1 1	1	1		1				-	•		•	l
1		:		ļ	i	! ;	1:	ni va		2.	:		] :	l :	1:		1:	1:		1	:	1		:		1	į
			77.	t-		ĺ	1			· - · - ·					t				· · · · · ·	··				i	† <del></del>		i-
-	1	-	•	1	1	1			i			١.	• •	1	11		1				* • *	1	: •	- '			ı
		٠	•	ı		-	} .			•	•	١.	٠.	* :				•	1				5 *	•	١.	-	ı
		.		ı	1	1	1:	teo va	J :	1 :	1	1					1				1 :				1:	i :	ı
	- :	-		∤ .		{ <u>-</u>	1		-				<del> </del> -			- <del>-</del> -	<del>-</del>		ļ	-			<u> </u>		ļ		ł-
		-		l	,	i -						١.		٠.	1				1								ı
1			•	i.	٠	1	-	•	1 • 1	•			-	l ·					1				i • ·	5 <b>-</b>		•	Ŀ
:	lit	te	•	ı	:	!!	-	1 :		• •	٠.	•	-	1		•	•						-			-	L
-	+	-			<b>-</b> -	¦		- <u>:</u> -	1		<del> :-</del> -		<u></u>			<u>-:</u> -	<del> </del> -		<del> </del> -	- <u>:</u>	<u>.</u>		<u> </u>		<del> </del> -		ŀ
:		.		l	:	:	1	1 .				:			j :			:			i :			-			۱
-		-		1	•	1	1	٠.	i - i	١.		-		٠.	۱.		ž	- 1			- :	. •	-	1.4			١
1		- !	٠	į	!	١.	:		-	•		] •	•	. •	٠.			-	-			-	-	-	٠.	•	1
		-	7 <del></del> -	-	<u>:</u>		-		- <u>-</u> -	<u> </u>		-			<del> </del>	-:			<u> -:-</u>			- <u>:</u> -		-	<u></u> _	<u> </u>	١.
1					1	i		:	1 :		:						1				] :			:			ŀ
	1.	-				! :						-						1			;	:	•			:	1
	2	•	-		:			1 •	• •	:			-								,		•	*	•	•	١
_1_	4				1	-										<u></u>		ļ			.: <u>:</u>	-:-			· ·		ļ.,
			-		1							:					-:		:								l.
3 •					2	1	.				1	:							1			:			1	:	1
		•				-									-							.	-				
: :	], ;	: .			1	1	-1-	1					3.		] <u>-</u> _	i : _		1 : 1			~-		l		1		
		5 . I			1	1			• /	•			•	1 -	1		•		1 :					- 1		•	Ĺ
i.	ce				1	1						:	:					!	1		4	1		1	:	:	l
			1			1 .	:			:		į .	-			1	i		!				] :		:		1
		- 1	• 1	I.	1		١.	1 :	1		•	1 -	-		1 - 1		<u> </u>			١.	1.2			١.	١.	١.	ŀ
	1 .		; •	] :				ng the				-		_3		77		- :				•					1
-		•	: •	4 .	1	1						١.	١.	•	٠.	. •	•		-	-		•	٠.	٠.		٠.	
	1:			1					1:						-	•	•	:		-			•		1	:	١
5 <b>.</b> .				-			Ì :	:			:		:		1:		:	1:	1:					:	:	:	١.
				1	-	·			<b>i</b>		-:-	-:-					<del>  -</del>	-	<del> </del> -:-		- :			-:-			1-
		۱.	- 1	1	1	٠.		1 .		٠	١.		١.		-	:	1	1	1	.		١.					1
	1 .				1	1		ļ ·					} -	١.	١.	٠.	١.	1	1		٠.	-					ļ
		: i	1		!	1	į ·	1 .	-	-	•	•	١.	·		•	:	1	!!	-	٠	٠ ا	-	:	٠ ا	:	
	4	.	<u>i</u>		<u> </u>	1 1					i ;	<del>:</del> -	-;-	- :-		·		:	1.1.	-:	-:-			1-		!.	
١.					i	1	:	1:		-		! :	]:	:	:	1:	;	i	1	1:	1:		:	!	:	:	l
			i		i	:	-			-	] -	1 :		:	:				] !			:		1	i	:	
Ŀ		. 1	i		1	1 1	١.	1.	! .			١.		Ι.	Ι.	1 .	1 .	1 : 1	1 .				1 .	1	:		1

Table V-4.7 Results of Herders & Farmers Interview: 3.6.2 Constraints & Need (1/2)

l	Q6_1	lut an	Facili	es l				07, Sa	es of Pr	oducts					. 0	). Movir	9		6	09.0	kners Lossad		Can	10.P	sture Con in	10 M
Co	instr	ai∩is	Requi	ement	-3	C	onstrain	NS .			Requi	rement		Cons	rainis 2	Re	quirem 2	en <u>i</u> 3	Const	raints 2	Requi	rement 2	Cons	ranis 2	Requi	remu
<del>  '</del>		2	1		estinah	2 2	3 Pauroer	e produ	5 Others	Price	Cash	rd. reg		'	٠.٠	means		Others	Volves			Others				<b>`</b>
i٠	.	.		05.013	1			ויייו	• ]	1		[				•	•	by ow	-	-	• '		٠.	•	. •	•
Ι.	.	. ]			1	-		•		٠	•	١.	-		-	•	- '	•	•	•		•		•	•	į į
age	of	- 1		-	•	-	•	·	٠ ا	1	1	٠.			•	•	•	•	•	•				:		L
١.	•	-	•	•	•		! •	:	•	1		1:				1		çar1			1	} `	i .			
						-:-						-:-										ļ				٠.
[					•			. !		1	1			.						-				٠.	• :	۱.
Ι.			•					•	٠,					-	•		. •	• .	•			,		٠ ا	•	١.
١.	. 1	-		•	•	•	-	•	٠.	1	1	1	i •	4	•	•	•	•			•	'	•	. •	•	ļ.
_:	: í .			:				L	_:_	1	1									:	ļ		- <u>-</u>			÷
-	٠ ;	•	•	•		٠.		•		1											i .	] [	:			
Ι.	٠	•			• 1	:		:			1	1:		1:								[				ľ
:	:						:	:		ì	i	.			-					٠	ļ.	•	-			1
Ι.	.		-				.	.				1	-	١.		•	٠	-			l:	L			-	1_
1	-					•			•	1	1	•		-	-	•			, •	•	•	1 :	٠	٠.	•	١.
۱ ۰	. ļ	- 1			i. •	٠.		-	•	1	1		٠.	٠	-	٠ ا		•		•			•	-	}	L
١.	٠ ١	•		•	•	-			-	!	!	1	•	١.	-						}		:	Ţ	1	١,
Ι.	٠ ا	•		-	٠	• .		-		1 }			:				1	1 :			1:	1:		Ι.	i .	L
<u> -</u> :	-											- <u>:</u> -	<u>:</u> -			<u> </u>			-	<del>  -</del> -		<b> </b>			h	t
:	: 1				:		:	:			! !		١.		١.			٠.			١.	١.			-	ı
1	.	2:						j .		1	1	١.	-	١.		۱ -		-		-	1	-	١.	} .	۱ -	L
;	.		-	.	-	-	-	•	-			1 -	-			-			•	` -	•	١.	-	•		ı
1 .							ا_نــا	<b> _:</b> _	•	1	1	·	<u>  -:-</u>	<u>.</u>		1	-:-	- :	ا ــــــا	ļ	:	1	_:_	ļ	<u> </u> -	1
1	•	-	•		• .	•	-	•	•	1	!		1		١.	١.	•	]	1 1	•				:	:	1
1	٠ [		١.	•	-	١.	1	j ·	: '	1	1 !	١.		1	l :	:						:	l :	1:		1
	: 1	•			1 :			] [			1 :	1 .	1:	:		:			] [			.		•		
	. 1	-	:	[		1:		1 .	]	Ιi	l i	1			١.			١.	1 .	٠.		١.	۱.			1
1-				<del>-</del>			†				t ÷	<del> </del> -	1-		-											1
Ι.	٠	•					1 .	•		1 1	1 1		•		٠.	-	. *	-	•	•	•	l ·	١.	١.	-	1
1 .		•	٠.	•	* 1		1 1	•		1	!!	1	١.			١.	] [	7	•		.	1 .		:	] :	1
	٠. ا		i*	•		•		•		1			1:	l :	1:		:				:	1:				ı
	•	1	i	1				<del></del>			├- <del>┆</del> -											ł .—		· ·		17
1	. I		1 .					1 40	-		Ιí		١.	-				٠.					١.		١.	
			-								.		١.			١.	٠			• 1			١.		-	Ĺ
] .	.			į .	-					1	1 1		•		•	١.				. • :	•		١.	٠ ا	-	L
-	- 1	<u>: • </u>	i				1	L	L	1	1_!_	1	ļ	-		:		<u></u> -				ļ	- <u>-</u> -			-
	٠	•								1	!		1:	l :	•				'			:	I :	:	Ι:	ı
1	:	•	1		1	2	1:		1	:	i :	:	1:		:	1:	1						.	.		L
	.	1		1:		1:		, ,			1 .					1		1 :				1 -	۱.			Ì
	-	- '					1 -	-		٠- ا	.	•		1.5							Ŀ			1	l_:_	L
				†		1	T -			-				<u> </u>				•	•	5. *	•		1		١.	ı
3   ·	-	٠	٠.	•	* *	•	-	•	1 -	-		1 -		-			1 3	1 :		<u> </u>			1 -	1		ı
!	• [	. • '	•		*				1		1 :		:			1:			1:	, -		:		1 .		ļ
		₹.			l :		1:	11.	: :	1:	į .			1 :								1 .		١.		l
;	:·· i							1-3-5		1	1 -	·								†				7		1
1 5	- i	:	1	١.		-			; <b>-</b>		-	<b>i</b> -		-	•				٠.				l ·	١.		ı
1	٠	-		١.	-		•	•	•				•	١.		•	١.		*		•		•	1		ı
) :	-	•				1				١.	-	1:	1	1 -	١.	•	1:		1:	:	1:	1:	1 :	1:		ı
	-					<del> </del> -					ļ <u>.</u>		<b>!</b>					1					<u> </u>	ł		ŀ
	: 1			1:							1 .	1 .	1	١.			۱.		4	٠		-				ł
il .	.				2		1			٠.	١.	1			1		-	+				-		•	١.	ı
5	٠.	-				1							•	.	1	1 . •	•					1	. *	١.	1 .	1
	· i	-	11.			1	1.:-	ļ <u>.</u>	ļ			<u>.</u>	ļ			ļ								- <u>:</u> -		4
	•			:	3			1:			i	:	:	:	:	.	:	:			1:			:	:	
2		2			_		:		:	1	11	:	-	:	:	:	1 :								-	ļ
il.	:		ļ :	:		.				'	1.1	١.	.	۱.	۱.	-					1	-				
i <b>I</b> .	.				1				l	-1-	1.1:	1.	<u></u>	1	L .:	<u> </u>								<u> </u>	ļ	į.
1			1 :								1 *	:	1							7.7	-					ŀ
3	•	'-	•	1	١.			-		1	1			:	:	1:	:				;		:			1
1		-	:		1:	:					1	;	:	:	:						:				-	1
		:					]			H		i	1 :	-	.		-	1	. 1			1 .	1 .:	1		ļ
ļ-	1	11.	7	7.7				-=-	1 5	1.3	i	i	1			1 -	1									1
3 I									-	, .	1			:	:	•	1					Į :-			· •	ļ
			•	11.					j.• ]	1		j -	•	1		•		•	1 -		1.	i .		1:	1:	ì
21	٠		· •		١.		-				1	1:					1:				i	:		1:		1
.   -	:		j	12.		1-	.			1.1.	1	1-7	<u>:</u> -		:	:	-	,	:	·	- <del>:</del>	·		+-:-		1
:	:	1:	1	:						$\mathbb{H}$	1: 1:		1:		`		1	100			:	1 .			-	
1	:						1.		1 .	1.1.	1	1:		1 .	.			7.00				١.			-	1
51			1.					1 -		1	i	1	1	:	•	-	.			-		١.			-	
6						<b> </b>				1	_	1.	ļ- <u>:</u> .			1	1	1					1:			
6 7	•		1:	1			-				1	7			:	1 .	1				1.		1:	1:	1:	ĺ
8	•	١.			-	-	•	1 .		1	1.1		1				1:			1:				1:	:	ļ
	٠		•		1 .		1:			1		1	1:	:	1:	1:	:	1:0	1:	1:			:	:	1:	1
	•	:	1:	} :	1:	1:	١.	1:	1	1	11	li	١.	:	1 .	١.	:	1		-			١.	1.		1
• 1		- :-	1 -	.						+	†-i:				+	1		1 :		1 -		1		:-		İ
<u> </u>			1			.	1.	١.		1	] i			.	.	-		1	1 .	-	-					
1		٠ ا																								
11		:	1:	.			-	-		1 1	1			1 .	•	1:		·		1:	1		:	1:		

Table V-4.7 Results of Herders & Farmers Interview: 3.6.2 Constraints & Need (2/2)

		d Facili Haqui				>onstrai		les of f	roducis		iremen		Cons	baints	8. Wov I A	ing equiteri	ent [ 3	Cons	09. 0 straints 2	Abers Requ	frement 2	Cons		Requ	i em
icient ș	:	W sha	:	:			:	:		:	1	:		:	-		:		:	1	:	1	:		
	:		:	1	!	:			:			-			:	:	:		:	1	:	1	:	impro	9
			:-	-;-	ļ;	- <del></del>	-	<del> </del>	- 1-	ļ. <u>1</u> .	:-			-:-	:	ļ <u>:</u>	:-		:-	-1-	<del>  :</del> -				-
.	-		-	į į				1	: ,	1	:		-	-			:	:	:	-	:	-		:	
				1	:	1.		] :	:				:		:	;	] :	:	:	:		1		:	
					- <u>-</u> -	ļ <u>.</u>	ļ_:_		ļ <del></del> .	1	ļ				·	ļ <b>:</b>	ļ <u>.</u>	:			<u>  -:-</u>	_ <u>:</u>			
Ì				1	:	:	:	:	i i -		:	:		-		] :	į .	:		:			1.	:	
	•			!	1:	1:	1:		:					:			:	:	1:	:	!			:	
<u> </u>		_ <u></u>	_:_	1	l	<u></u>	ļ,, <u>:</u> .		ļ <u>:</u>	1.1.	:		:_				ļ						·	_ <u></u> _	ļ.,
-	•								:	1	.				:		:		:	:		1		:	
:	•	•		1	l :		-	-	1:	1	1:	1:	i :		:		!			;		•		1:	
				1		1	<u>.</u>			Li.	<u></u>					<u>                                     </u>		i	l	<u>l</u>	<u> </u>		<u> </u>		L
	-			:					] :							1:	:	!		!!	:	-		:	
	•	٠	•	·		•		: *	-	:	-					· ·		٠.	:	١.	• !	-		١.	
			•	1			]					<u> </u>			<u>:</u>	Ŀ	<u> </u>	:   ::	.	:		-		<u>.</u>	Ì.
	:	:	:	1	1		] :		:		-	:				:				7	T	1	1	-	ľ
	•		-	1	1		-			i		-	•	-		-	-	1		j i.		i		the pa	
at enou		ecessa ecessa	:							1						-	:	:		:		1	:	enougi	ĺ
l enou	•	poile u		1		1		-		1	1			•	1		·	1		7	1	1	·	-	T
no	. •	cyard is		:		•			:	1			ge the			1	-	i		i		i		ge the	
no stockys		ros are		1	!	;				1	:		r pensiv			:	ke it ch	1		1		1		1:	İ
os of y	- ;			i	7									•	1	1	}	1	7	1	-		1-		ļ
entsh		built a ed a sh		i	1	.			i		1		1		1					:		. 1	1	:	
	• • •		÷	;	:		:	:	1	1				•		1:		i	•	1	•	*	•	happe	ĺ
no shec	÷.	e shee		3	-:-				7.7	i i				:*				1-1		j-	1				1-
·.				:	1	,		•		1		es it to					- enimal			1	eone w		3	đesou	1
		the sto		l :	:	:	:	1				•	•	•	•			•	7 -	;	·			winter	
have a		ed an y	)-÷		-:-		<u> </u>			- i	-				÷				-					ire is re	١
		:		] :	:	:	:					:			:	! :		1				-	1,		
ind the	•		•	.				-	- 1			-				-		•		-	1	1	•		
•				1		<del> </del> -					1.1			-			-:-	-							
	•			i :	,								gh the	:	1	l :	•	\$		•			•		
	-		-	-		•		-	-			-	1		·					-		<b>.</b>			
				-:-		<del>  :-</del>	<del>:</del>	-:-		7			trænsp		- i · ·	-:-	}- <u>:</u> -		<del>-</del>					900d	-
1			-	1	:		1				1						•	1		:	•	•	•	•	
	•	•	1.4	i														11							
- :-				i	-i-	<u>-</u>			:				;			-		1	:	-:-	:-			<u> </u>	ļ
	•			<b>i</b> :	:	1:				• :									:	-	-	<u>,</u>			
			•	1	٠	.	۱.		:		:	] :				Ì -	:	1				•	:		
saev	• •	he prio								- :	1		antis no		:-				- <u>-</u> -	-:-		ettin <b>g</b> y			
: 1	:		•		:	:	-	:	:	:		L	•		•	٠.	-	1		-	-	- 1	-		
i i	٠.				:	:		:	١.					•		:					:				
	· . ;				-:	-:-	-:		-:-		-				:-										-
-			•	١.	١.	\ ·		-	•			. •	· !	•			-	1	•	۱.	-		-		1
			•		:							cive cy	•		•	1:		1					-	alion ol	1
i		-		;	; -	1 :-		: - <del>-</del>			1-1-		7			:					<u>cent</u> t	<del>-</del>	_1_	ture by	<u>.</u>
.	-		<b>&gt;</b> *	1		1			• .		i	pent, pr	om ma				at local	i		:	ting wo	•	1	hire sh ment d	
				1	,	:	i	:	i	1		cessin			·			1	•		:	1			
enough					Ŀ		1		_:-				<u>: :</u>			1 :	l .:							<u>.</u>	
enougr		er, spri						. •	1							:		1	:		:	•	•		
.	-	•	*. *		;	:			1 1		1				:	:	:	;	:	l :	•	•	-	١.	
				l		1 :	Ì	l -		l .	1	١.	-:-		<u> </u>	:	١.	1		<u>  :</u>		•	1	re is n	Į
:	•		•	:	:   :	:											-	1		i		1		Ī :	1
.	:		•	l :	:	1 .	١.		١	1	] -	-	•	-		١.	١.		١.	۱ .	V0#	-	-	١.	
		. :	•	Ι.	١.				1		1	<u> </u>	:	•			:	:	:	;	Voli	:	-	:	Ì
				:						1	1	÷			7.		:		-	1.	-	-	•	as a vo	1
i , i																									4

TableV-4.8 Results of Herders & Farmers Interview: 4. Moving & Wintering (1/2)

														4.1 Moving	and V	vintenn	L											
Ņ	o	month		Winte	DCY8	by	reason	No	month	O2. km		g Sea nove l	by	reason	No.	month		1	er Sea nove L	y ]	reason	No	month			nove l	by	reaso
1 -	+		•	Veh.	Test	Ani.		1	6	2	Veh.	Tectr	T	r camp to s	-		<del></del> -	ABIT	(ndr	Ani.			6	5	Ver.	Ticir	Ani	т сапф
3 :	:	3	:	:		:	:	1	3	3 54			1 1	:	2	3	38	:	:	,		;	3	3		:	1	
4 .	:	2	:	:	:	:	:	1	:	-			l :		i	9	55	:	:	· 1	•	13	1	15	:	:	<b>!</b> ;	:
6 7		3	20		1			Ţ	3	15	-			-	2	3	120	:	1-1-1	÷	pastura	Ž	3	20		T		
7   1 8   .	!	3	20	:	:		pasture	1.	3	20	:			:	2	3	180	1					3	25 ·	1		1	:
9 .	:	3	20	:	i :	:	:	8	3	56	•		;		1	3	3					1	3	:		:	l ;	1
1 -	: †	6					1	1	1	•			-÷	ļ	i	13	- · i -					Ť	1.5	- 4	1	•	7	
2   1 3   1	1	3	23	1	:			1	3	17	1		:		i	3	i	1	:			1	3	23	1	:	-	
4   1 5   1	!	1.5 1.5	4	1	l :			:	10.5	5	1	•	:	] :		•	:		:		•		:		1		:	
6 3	i†	1.5	4	Ť	~			ij	15	4	ì		1:	1	1	5	1	1 🗄	•	-					7		-	]
7 2	- 1	1.5	50 4	!	:	•		;	1.5	3			H		i	1.5 3	•		:	i		i	3	3		:	j	
9 1	: 1	1.5	4 2	1	:		1 :		1.5	30	1				1	1.5	49 30	1	:	:	:	.						
111		1.5	17	•	1	7	:	1	15	18		1			5	8	100	1	1			1 2	1.5	46 15	1	1		
2 1	;	1.5 1.5	30	1	-	:		1:		-		-	:		•	1.5	20	:	-		•			-	:			'
4   1 5   1	: 1	1.5 1.5	156	:	!		:	1:	1.5	15	:	1	;	•	1 1	1.5	10 8	:	1 1	;		i	1.5	15		:		} :
5   ·		•		-				1			· -	-	:		3	15	38			1	•	[ <del>-</del>	3	20	1		:	
7   1 8   1		1.5 1.5	7	:	:	1	: :	5	15	13			i	:	10	1	75	1	:			1		10			i	•
1		1.5	7	:	;	1	:	1	1.5	13	:		!	:	10	1	75 24	!	;		: :		1.5	10 27		i	!	] :
	!	15 15	10	1	Γ÷	-		1	13	6	1	- <u>-</u> -	1	1	Ī	15	50 35	T		<u></u>		Ť	1.5	30	1		1	
1		15	35 35	i	:	:	:				:		-		i	1.5	35	i		•								
		1.5 1.5	25 10	1	:	:	1	1	1.5	30	1	:	:	10	1	15	20 15					1	1.5	25 10	1	.		
1	: 1	1.5	5			1		1	1.5	. 6 6	-		1		1	15	5	1					1.5	6			1	<u> </u>
	: 1	1.5	5 20	í		-		:	1.5	- 1		:		7	1	1.5	15	i			•	H	15	10	1			
1	: !	15 15	. 7	i		1		1	1.5	7	!		i		2	1	35 20	1				1	15	20		:		:
T	İ	15	10	;	-	1	<u> </u>		15	10	1		1		1	15	30 10	1		:			15	30 10				
		1.\$	5	:	-			i	1.5	3	:		:		1	15	2	-				•		•	•	,	:	
1	- 1	3	50 15		:	1	pastire	2	2	10			1		5	2	20			1		5	3	50			1	
2 7		3.5	30 7		-	1	pasture	5	2.5	60 15				pasture	2	35	20	:		7	pasture	3	25 35	25 10			1	pastu
4 3	3	4.5	30			i	asture/wate	{ j	2.5	60			i		5	95	15			į	•	4	2.5 2.5	5	-		1	
5   1 5   1	!!	\$ 5 7	8 10		4		pasture	;	1	10			,	[:_	l i	5	8			1		i	5	6	1		1	
7 1		-55 6	15 1				valer pasture pasture		15	7	1		1	pasture	3	4	10			1	raterípastur	2	3	.15,	1	:	1	va er/pa
9 1		55 35	1 2	-	- '	!	asture water	3	1 3	3	•		1	pasture	3	35	16	1		1	pasture	3	25	12	1	:	1	past.
1 1	ij	4	2		Ŀ	,	pasture	1	2.5	3			i	pasture	2	35	10	<u> </u>		1	pasture	2	2	9		Ŀ	: 1	pastu
3 2		4.5 6	36	-	*		valeripastur valeripastur		25	15 3	•	:	1	valeripastur valeripastur	1	2	12	•		1	alerapastu	3	25 15	9		:	1	ha leripa
1 1 5 1		5.5	30 30	-	:	1	valar/pastur w/p	2	1 2	10			1	w'p	3	3	15			1 1	w/p w/p	1	25	10	:			w'c
6 1	ij	5 54	. 7	Ŀ		l i	*9			•	Ŀ		:		1	65	1	_		1	wþ	2	3	2			1	
, [		6 S	7	•		,	wn	1	2	3	;		1	pasture w/p	2	25	5			1	w p	1	1	7		:	1	w'r
		6	45	1	:	1	w p P	i	1	1			i	P	1	3	38	:	:	1	* p	4	3	75	:	:	1	w
1	١į	4.	5			3	wp	1	25	7	-		1 1	w/p	1 2	3 3 5	20	÷	- <u>:</u>	1	w/p	4	25 35	25 20		ļ. <u>:</u> -	1	p'v
i i		45	15 10	1	•	;	p w'p	T	5	15 - 6	•		i	P	4	25	15	-	:	1		2	3	10	•	٠	1	
		15 7	25 10	!	:	;	p'w	2	1	29	\$ -		:		4	45 5	20 10	!		1	•	3	3	21	!			١.
SI 1	1]	- <del>4</del> -	. <u>6</u>	÷	<u> </u>	ļ	w p pasture	1	3	-6	-	<u>.</u>	1:		3	25	5	-	-:-			2	25 15	- <b>6</b>	.::-		+	:
1 3	2	3	15	-	] .	1	rate:&pastu	₹2	25	15	-		1		5	15	: 25		۱ ۰ ا	1	•	5	5	25 100	-		1	
	1	3.5	15				ateré pastu p/w	H	35	40 10		:	1	:	1	2	58 10			1	•	2	3	8	-	:	1	
	: 1	-5-	- <u>7</u>		-	-	w/p pasture	1	25	- 5			-1-		-1	15	- 20-	÷		-11		1	-3-	20			-1	
3 1	1	4	10	-	١.	1	pasture	2	2	10		٠.	1	-	4	3:	12		:	1		2	26	12 17	1		1	
1		3.	12	:			besine besine	2	2.7	5 11		:			2 3	2.7	50	٠ ا		1	•	5	3	22		-	1	]
6 1	뉘	35	-16 -15			+	pastura astura wat	3	2 2	15		-:-	1		[ 2	2.5	<u>10</u> .	÷		-		2	-4	5-	<del>-</del> -	-	-;	:
8 1	١,	35	13	١.		1	aterSpastu	41	3 25	12			1	•	4	35	6 12	:		1	•	3	25	5 15		:	1	:
1	1	7.5	20	] :	:	1	w p			•			1		1	45	20	•	-	1	4 3		4	-	٠.			:
1 7		-6	37	÷	-:-	1	w'p w'p	2	1-1-	9	<del>- :</del>	÷	-!-	<b>:</b>	1	5	- 5	-:-		-1		5	3	15		:	1	
3 1	۱ [	5	10	۱.		1	w'p	1	3	10			1		i	3	8	•		1		1 3	3	20		:	1	
5 1		4	15	:		1	pasture w/p	1	3	5	:	:	1	:	11	2	12	١.		1		5	3	6		;	1	
5 .	!		45	i.	-:-	<del>  -</del> !	*P	1 3	2	65	- ;				5		- 10 20	<u>-</u> -		-		3	2	10 65		- <del>:</del>	1-1-	
11 2		ġ	20			١.		2	4	5	} -	•	1		2	2	10	-		1		5	3	30	1	١.		
2 1		4	5	1	١.	۱.	1 -	3	1	3	1	١.		I -	5	5	10	-		1 1		2	2	50	4.1	٠- ا	1.1	

TableV-4.8 Results of Herders & Farmers Interview: 4. Moving & Wintering (2/2)

r1				lat			o ne:						QL 	T Hoving							wing c				91		, 	
	a.T.	month	- 01.	Winte	r Sea nove l		reason	No.	month	02	Sprin	g Sea nove	SOA			month	. 03.		er Sea		·		month			n Sea		··
L!		in kontra	Kin.		Tretr		reason	MO.		_		Tich		reason		monen		V <sub>B</sub> h.	pove t Trotr	y Ani	reason	140	Inorun			nova l		reason
G-04 G-07	1	3	15			1		5	5	60 5	:		1		6	1 4	105				:	2	3	170	i		1	
G-68	1	3	70	1	•	:		2	3	15	-		!		3	4	20	1	•	•		2	2	15	!			
G-09 G-10	1	3	10		:	1	:	2	3	15 3	-		; ;		5	3 2	120 80	!		1	•	1 2	3 4	25 : 90 :	!		1	
G 11 G-12	1	(	10	1	:	:		1 2	3	5 15	1	:		Ţ-:	2	3	30 35	1	Ì			1	3	50 55	1			
G-13	2	3	20	i		:	•	5	3	30	!	٠	-		2	4	50	i	-		-	2	2	50	ı			-
G-14 G-15			20			:		3	3	120		:			2	3	50	:		1		2	2	50	1 .			
G-16 G-17	2	3	60	1		•		2	2	50		1			5	2	70	;	-	•		2	3	120			٠	
G-18		ž		i	•	١.			3	•	ì		} .			2		i		•		• !	05	140	i			
G-19 G-20	1	1	70		:	i		2	2 3	45	;	:	:	:	8 5	2	80	;		•	1 1	5	3	110	:	:	1	
0-27 0-22	T	3	3 48			1		2	3	3 48	-	1	7	•	2	3	24 80	1	7	-	•	2	3	24 130		•	Ť	•
G-23	1	3	100	•	`	i		i	4	100	•	:	;		3	Ž	100	i	-		. :	3	3	140	i	🗀		
G-24 G-25	1	2	90 45	1	:	:		2	2	90 50				1:	2	3	100 60	1	:	•	•	2	3	90 110	;	<u>*</u>	1	:
G-26	1	3	18		1	Ţ	ranging she			20	-		1	ļ	Ť	2	30			1	•	3	1 - ş - î	90		-	1	warm autor
G-27 G-28	•	4	70	:	:			7	3	5 10	-	-	;		2	3	5 10	:	-	1	•	4	2 2	3 70	;	-	1	:
G-29 G-30	1	3	10 35	1	:	!	•		9 3	10 35	1	:	!	.	2	3	45	:	:	1		2	أذأ	45	1		:	
G-31 G-32	2	8	15 30	1	-		•			50			1.:.	•	2	6	20	1	-	÷		7	1 1		-:-	•		
G-33	ż	3	15	1	:	1		8	4	150	-	:	1	:	5	3	30 160		:	i	-	3	3	30 90			i	•
0-34	•	3	10 40	1	;	:		1 2	3	20 20	1	;	:		2	2	25 30	1	;	:		1 2	3	25 40	1	;	:	
G-56 G-37	Ŧ	3	10	7		1		5	-j-	20 35 170		÷	. !		2	2	20 170	•		1	•	5	3	40 150	•	÷	1	
G-36	1	7	• .	1	,		- 1	i	1	38	1	:		;	1	2	70	i	, ,	: ]		1	2	70	i		:	-
G-39 G-40	2	3	54	1	:	,	pasture		2	30 5	1	:	;	:	3	2	40 80	1		i	-	4 2	5	140 80	1		;	• warm place
G42	-	3	20			1		2	5	30 5	-		1		6	3	120 80			1		3	- 2- 3	60 80	•		1	
G-43	i	3	50		•	;	byoxa	3	i	50			i	bycze	2	5	60			1	by exe	4	3	70				бу охе
G-44 G-45	i	3	S 15	1	:	1		10 20		90 310	1		1		7 6	:4	10 150	!		1	-	4	3	5 70	1		i	-
G-46 Lv-01		3	13 17		:	1	coidness	1	2	150 6			1	spongs in a	H	2	150			1	mais în gra	12	5	10 15			7	make more
Lv 02	1	3	9.	-	•	1	•	i	3	. 3	•		1		3	3:	37	•		-i (		1	3	9	•		i	
Ev-04	1	6	3	-		1				. 0					3	3	5	:		i		2	2	3	•		i	
[V-06]	7	3	5 12	1		1	•	1	•	3	:	:	1		1	3	50	•		!	-		2	50	1	÷	•	
Lv-07	1	4	11 5	-	•	1		1	2	5	:	1	1		1	4	10 5	•	•	1	•	1	2	11	٠	4,	1	•
Lv-09 [v-10]	$\mathbf{j}$	ě	18	.1											1	4	18	1		i								
Lv-11	1		2 3	•		1		i	5	3			i		3	3	10					1	3	11	•		1	•
Lv-12 Lv-13	1	- 2 5	3	•		1	•	1	4	8 2	•		1		4	5	41 15	•		1	•	1	1	35		• 1	1	11.
Lv-14 Lv-15	-1	4	2			1		į	2	2	<u>.</u>		1		2	4	4		<u>.</u>	<u>i</u> .		i	2	4	•	•	1	
Lv-16	ij	4.5	10			i	coloness	1	3	6	•			pasture	1	4.5	10	- 1	-	1	ure and lat	1	2	73	:		1 1	falling
Lv-17 Lv-18	1	7.5 20	5			1		,							1	5			:	;		1	4.5	5	:		1	
Lv-19 Lv 20	4	55	_ 3 _ 5	-1		1		-	1.5	4 .	·,		. }		1	3	7	i		-;-		1	_ 2.	-3	1		-;-	:
LV-21	1	4	.10 (	-		1	· •	إز	3	10			i		3	3	16			1		į	2	3			j	
	1	4.4	10			1			3	2 10	•		1		3	. 3	16			1		1	2	3			1	:
Lv 24 Lv 25	1	4.5	-10 10	÷		1		-	25	-10 12			1		3	25	- 5 10	-:-		1		1	25	-13-			1	
Lv-26 Lv-27	1	4	S 3	٠	٠	1	:	1	2	- 5	٠	•	1		1	2	7		•	1		2	4	5	- i	-	1	•
Lv-28	1	4	5		•	1		1	2	\$	;		1		1	2 2	;			1		2	1	5		:	- ;	•
	+	55	3		÷	1	difficulties prevent ook	1	1.5	24	- <del>:</del>		1	pasture pasture	1 2	3	12	. :	$\dashv$		pasture sture & latti	-1	3	13	÷	-:-	- 1	sture for fair pasture
	2	4.5	15 25	•		1		i	4	25 25	٠		, i		2	2	15		- 1	1	NAIS	1	1.5	17	-	-	-1	
Lv-33	١.	45	3	-		1		1	2.5	15 }	ı				1	3	20 7	•		1		1	2 2 3	20 13	i	-	!	
(¥ 35	÷!		- 5 15	in .		1	acc's lives	2	-3-	-4-	-:				5	2	5	:		1		2	3	8	$\cdot$		+	
Lv-36	;	4 3	25 8		1	1	pravent colc	1	3	3	:	1	į	casture	1	3	12	:		1	0.00	1	1 3	4 8		·;	1	fatting
	11	35	2			-1	bisheul cor	1	3	5 i	٠	;	1	casine	3	: 6	6	٠		;	pasture pasture	3	15	15	•	-	1	lating lating
Lv-40	4	-6 -5	10		-	1		-	15	2		-	4		-1	25	-1-			1	1	1	25	\$ lun	-:-		1	
100-0 100-0		•				:	•		:	`.	:	,	:		:			:	;	:	•	-		-	:	- [		•
100-0		•			-	•	•		1			•			-	;-	•			. [		- [		-		•	-	
100-6 100-6	÷į	,::	~~~.	}			7	-:			:		:					-:-		•		-			÷			÷- <del>:</del>
10p-0		•			-			:	:			:	:		:	•	:	:	1	:			:	:	:	:		:
700-0	٠		• *	•	•	•		•	<u> </u>		٠	Ŀ		<u> </u>	J			·	<u>.</u>		•	٠		<u>. 1</u>	<u>.</u>	<u>. 1</u>	ك	

TableV-4.8 Results of Herders & Farmers Interview: 4.2 Wintering Facilities (1/2)

1-7	17.00	inter House	I (STI)	vestock Shade	04 5 W	inlering Facilitie 3) Fencing	s ///	Waler point		S) Others	-7	() 1) Heating	J Req	uest and Desire ad and Fodder	nor ∏6   [3] Fe	ving and Winte noing & Shade	M2	(4) Others
1	Ï	Cont. Rinds	(4)	Cont. Rnd	·   '	3) Fencing Conf. Rmik		Water point Cont. Amili		Conl. Rends		cont. Rm/k		cont. Rande		cont. Firms	ļ <b>,</b>	cont Rm
- Ţ			yes	<del></del>	yes	<del> </del>	-00	. ,	N	<del> </del>	<u> </u>	<del> </del>	ves	lodder shortag	no	<del> </del>	- FO	<del> </del>
ı v	es		yes		yes	• •	yes		DO.				yes	needec ·	•			
	ø l	- •	100		yes	:::	yes		1:		yes	iow dur -	1:	1:::	yes	materiau cial ci	١:	1 : :
	es xo	1 : :	yes yes		yes yes	<b>i</b>	yes yes		[		no		no					
1	ю		yes	· · · ·	yes		yes	• • •			100		100		no	no 1	no	•
4	100 100	: :	yes yes		yes no		yes yes		I NO		(S)		no no		00		no no	
1 1			yes		"~		yes				```		1	-	•	1	-	
⊦l ye	es	_:	yes	<u> </u>	yes		yes	·		<u> </u>	<u> </u>		1. :					
			yes		yes		yes				2			1: :			1	
i y	es		yes		yes	•	yes				-		·					
	:		yes		yes		yes		1:			1: :	:	1:::			:	: :
1	e s	<del></del>	.yes		yes						-:-	†				ļ·		
1	٠	• •	yes		yes		yes		١.		•	· ·			1:			
	:	: :	yes	1:::	yes yes	:	yes											
ı			<u> </u>	<u> </u>	YES	<u> </u>			-	l		<u> </u>		ļ.::			ļ	L-:
	•			1:::	yes yes	1::	ýes	: :	:			1::	l :	1	1		:	1: :
	:		:		yes	]:::	yes		:									• •
ч	٠		l ·		462	· ·	yes		ŀ	•	•		-	•	٠		٠.	- :
-		<u> </u>			yes	<del>  : - :</del>	yes.		-			\	-:		<u>-</u> ;-	<del> </del>		<del> </del>
' l	.	1	yes	• •	yes		yes	• •			1 .		•	:		•	·	•
1	•	• •	1		yes		yes		yes	bam	1	1:::		1:		1	] ;	1:
}	: ]	1: :	yes	: :	yes	:::	yes yes	: :	yes	barn			:		:	1	Ĺ	1
1	-	†	1 .		yes		yes	· · · · · ·	1					1	1-:-	·	<u> </u>	1
	: ]		yes		yes	: :	yes	: :	:	: :	1:	: :	:				:	1:
١	.		yes		yes		yes	• •	1	1 -			•		-		•	
1	:_	<u> </u>	yes	l		<u> </u>	yes	<del>-</del> -	-		-	<b> </b> :		l		ļ	_	
,	- es	: :	yes	] : :	yes	:::	yes	: :	:	: :			:		:		:	- :
1			"			•	yes	• :•			-		1 .				4	
3	:	:::	1:		yes		yes yes			: :	1:		:			: :	<b> </b>	
1			100	<b></b> -	yes	<del>  -                                   </del>	162		ŀ÷		-	<b>†</b>	1				-	
? y	ès	• •	yes	•	yes		no	river	١.	•	1		١.		1			1 - 1
ľ	es	: :	yes	] : :	yes	:::	yes	: :	:		1:	:::	:		:		:	
	ا۔	<u> </u>	<u> </u>	<u> </u>		<u> </u>	yes		<u>.</u>	ļ_:		<u> </u>	<u> </u>			نند ننا!	<b></b>	
3 (	No	1:	v pě		90		yes		.00				yes		yes		:	
4]	~		y es		-,	- : -	٠,		"			• •	١.	• •	yes	shade a men	·	
5]	-			• •	yes		yes	1 1	١ :		no	' '	00		ΠO	!	rxo.	1
6 7 1	no .		yes yes		- <u> </u> -	†	Je2			<del>-</del>		<u>-</u>	-:-			i i i i i i i i i i i i i i i i i i i		
8			yes		. •.	• •	yes	• •	١.		yes	nc gen	1:		·	1	Yes	हिंड शारी 📑
9	•		yes		yes		yes yes		:			: :	yes		yes			
1 .	٠.		-				· ·		<u> </u>			1	<u> </u>	<u> </u>	Ŀ	· · ·		l
2		•	yes		T		yes	* :			7.		1:					
3	•	:::	yes		yes		yes yes		:				:		-			
5 .	• !		yes		1		yes		·		l -		١.		.*		·	
, ,	•	- <u>-</u>	yes		- <u>-</u> -	ļ	yes			·		<b></b>					-	
8			yes				yes				1		,				·	1 .
9	•	• •	yes		Aés		yes		نمة		1:		1:	: :	Ĩ.		:	
	•		yes		yes yes	<b>}</b>	yes yes		yes		:		1 .	1 .			<u> </u>	
2]	•	1			1	· ·	yes	nBéd w	•	1		- •						
- 1	:	: :	1:		yes		yes	mpie w	:				:			: :	:	
S			yes				yes		١.	• •	١.		-		1		۱.	
6		-::	yes	-:	yes		yes		<u>.</u> ;.	\- <u>:</u> :-		- <u>:</u> <u>:</u> -	-:-	ļ:		- <u></u> :-		ļ - <b>:</b>
	:		yes		yes		yes yes		:			.	-		:		,	
9	•		yes		yes	1	yes			-			•		١.	1	۱.	1:
1	:		yes		yes	1	yes		'			1:::	:	]: :		; ;	;	
<u>٠</u>		i -	yes		yes	·	yes	1					-:-				1	1 .
G	•	: :	:		yes		yes	•					:	1	1:	1::		:
<b>4</b> 5	:	: :	yes		yes		Åss		:				:		1:		:	1
6]	•				yes	1	12.		1	1		1	1	1	1	1	1 :	
7 -		1:::			yes	1:::			:	1			;		:		:	
8 9	:		yes	1	yes yes	]:::	YES		:				:		•			
٥			1 .				yes	:	•	• •			-		-	1 - 1	:	
1		ļ	<u>yes</u>			-::-	yes	-::	-	ļ.: <u>:</u>			-:-				-:-	
3	:	: :	:	:::	:		yes		:	:::			:				-	
4	٠	• •	1:		yes	1	yes		-	• •					1:		1:	-
15 16	:	1:::	yes		yes		yes yes	: :	1:				:		١.		1:	Ì -
1   "			yes	ļ	yes	1	¥2\$	t		1			1					
2	٠		yes		763	-	462	1::	1:	- •	1:				1:		1:	<b>i</b> :
3	٠		1:		yes yes		yes	į.	1:	1::	1:	1:::	1:	:::	1:		1:	
٩l																		

TableV-4.8 Results of Herders & Farmers Interview: 4.2 Wintering Facilities (2/2)

ரு	Winter House Cont. Rin	131	Nest	lock Shade ont Rmik	04 2 W1	nlering Facilitie: 9 Fercing   Conl.   Rm/k	\$ (4)	Water point Cont. Rank		S) Others Cont. Rm/k	(	(A ) Heating   cont. Rmsk	3 Req (2) Fe	est and Desire ed and Fodder cont. Rimit	10/13/0 (3) Fa	ving and Winter noing & Shade i cont. Rmik	ng 	(d) Others
	CO-A. POI			va. Dona		- 1300h	yes											ļ
	:::	yes	1	: :	yes		les les		·									
٠.	• •	yes		• :	yes		yes		•	· ·					1			
1	:::	1:		: :	yes yes	; ;	yes	::	:		:		:		Ŀ		Ŀ	1
<del>-</del>	†- <del></del>	-	<del> </del>	• •	yes	· · · ·	yes	· · · · · · · · · · · · · · · · · · ·	•.	1	-	- •	ļ :-		yes		-	-
yes	1:::	yes	.	: :	yes yes		yes				:				:			1:
,,,,		'``		. ,.	yes	٠	yes	· •	•	• •					•			
yes			.	·	yes 2		yes		_:				yes		٠÷٠	ļ - <u></u> -		<del>↓</del>
yes	:::	yes	•		yes		yes yes		:		:		yes		yes		] -	
		٠.			yes		٠.		•		٠		٠.		•			
yes	1:	1:	ĺ		yes yes		uee		:		:		yes		yes yes	: '		
	·			·	yes		Yes.				~ ;		1		7.7			
**	• •	1 .			y9 <b>S</b>		yes		-		•		١.		٠.	• •	-	•
yes	1: :	1:	1.		yes yes		yes		•				;		yes			
,	}	1 :			yes.		yes				<u>.</u>		<u> </u>	· ·		<u> </u>	<u> </u>	
	1: :			•			yes		-	: :			l :		:	: :		
yes		yes		: :	985						yes	lectricil -	yes	- age of [	٠.	į .   .		-
yes		1.		•	yes	• • •	yes		-				٠,			- Ved to b	•	
yes yes		- -		<del>:</del> -	yes yes		¥8\$	<b> -: </b>	<u>:</u>			·	yes yes	vons k	yes	• xtenou		1
l ':"		yes			yes		,	-	٠		٠		l -		١.		-	-
٠	1	1.		•	1:	: :		} : ·	•		yes		yes yes		yes yes	1: :	l :	1:
	1: :		1	. :	:	: :		[ ]	:		162		,,,,		yes	notwin		1 -
	1	-	1-			[					yes	I	ÿes		yes	1	l :-	[ ·
1	1: :		1		yes		yes	: :	:	: :			yes yes		yes yes	1::	] [	:
	1 .	yes	١.	. :j.	-		yes	• •		•	yes	ave th	yes	becau:	′ ′			•
:	·				yes		yes	ļ i			<u></u> -				yes	ed, sho		ļ. <del></del>
			1		yes		yes	: :	· •		ŀ				"."	- 4		
:		ye:	s	- •	"	}		j · .		•	725	ar belt ad a ligi	1	• •		chact		
yes	1.	yes			yes	]	yes	::	•		:		yes	: :	yes	sheet	1:	
100	1 - 7	١.	1.		-				, <u> </u>	1	-		📅		yes	1377	yes	- 10
•		yes		: :	VPS	:	: .	: :		: :	:	: :			l :			1:
		ye:			yes yes	j	yes				yes	hiel	yes	hay -	yes	ho+e	1 .	1.
	1	_ je:	s .	<u>i.</u>	yes	L	yes	ļ. <u>:</u> :.		ļ.:i.		<b> </b>		<u></u> ::-	ļ			
-	1:	ye:			ļ,			]	yes		:	1	:		़ि			.
	1 .	1.		• :	yes	• • •		• •		• •			. • .		-	- :	۱ ۰	- 1
						1: :		:	:	: :		: :			l :	i : : :		
	1	ye.			yes			<b>-</b>		· · · · · · · · · · · ·		::-			[		<u> </u>	†-·
	1	ye	\$	• 1	1.	-   •	•		yes	storage			•				yes	it a lick
:		ye ye			:	:   .	:		185 185				:		:		yes	
<u>.</u>	1	ye	5		yes	1			ves		_	<u> </u>	<u> </u>	L				11
		ye ye			yes				As2 As2	ye hou		: :		: :	:			
yes		ye			-		-	-   -		[	ŀ	• •	-		.		.	•
		yę	3		1:		•		•			: :	1:		l :	1		ATION NO
	1-:	ye ye		· · · · · · ·	yes		ÿes				~	<b> </b>					125	fine he
		ye.	\$	• • •			•		٠		•	•	1:-	· ·				
:		ye	5	•	yes	: '	:				:	: :	:	: :				
	.		\$		l	l		. i 1			۱.		l .			l	1	1
			\$		yes			: :	•			]	-		:		•	
		ye ye			:	:::	:				:		:		:	• •	yes	lectricit
:	•	. Iγ•	s			· ·		• •	٠		·		١.			• •	'``	1 •
-:-	-	ye		4	yes yes				yes	<u> </u>	yes	ererg •			yes	house		
		ye.	5		l -				yes				١.				yes	i mates
yes						1::	1:		yes	: :		:::	) E \$	lder sik		: ;	yes	<b>g</b> ras <b>u</b>
yes	'  ;	y e			yes	:::	yes			1 .	yes	Bectroci ·	yes	xed wil	:		:	1:
		Ye	9		A62		yes				ýeš		yes	fodder				1
yes :	¹ [ : : :	ye ye	5		Ass	1: :			•		1:	:::	1:		1	1::		1:
1 •		ye	\$		-										yes	entary	-	1 -
١.		· I _ ·	: . I							ļ	-4	<u>                                     </u>		1	ļ.,			
: ; ;		Ye				: :		:::	yes	: :		]:::	1:	1 : :	yes	d repai	:	1:
res		٠   -	1					4 1 4 1	•	•		1	:	[	١.	- •	1 -	1.
1 Yes		Y			١.	1: :			:	1::		: :	:	1. :	1:	1::	.	1:
ýes		- [ -	1		,	<u> </u>	÷		:-	-ii-	-4-	<del>-</del>	<del>:</del> -	<del> </del>	- <del> -</del>  -	<b>∤ ÷- ÷</b> -	· -: -	
				• ' •	•				١٠	• •		ļ · · ·	·	• •	١.		•	1 .
yes	s I ·	•   •					-		٠.		1 -	[ • •				i · ·		

Table V-4.9 Results of Herders & Farmers Interview: 6. Facilities & Equipment (1/2)

			-0	I. Agri	cultura	П	achine	γ			ı	02 1	ramn	snor!	tion	A Sto	rage		ides a	utg	الزان	124				03.1	lome Ed	upmera						
7	7 TH	15.5	^-1	A3.) 2	7	Г	Puro	K-et	1	ngina		1		3.6			t  5 Sk	····	1.17	1	açe x tar	3 Radi	Ţ		\$	1	7.5%	8 Win		M M	Video	(I. Rologi	12.	
		1			1			1				_1_		L	1		- 1			Į		l	1.	1	Core st	ri Cenar	·i		- <b>i</b>	Ш.		(alc)	methic	1
1 -	5 NO	Ass	٣	yes no	yes	Ť	yes no	γ#5 D	7	1 NO	1.02	ř /	15 No	1,92	ĩ	2	o yes	Ť	144 IN	120	1	y98 n	Ψ.	7	795 NO	yes n	yes n	o pes	l tel 0	no p	es no	Ase vo	1133 N	4
:	1	•	1	- 1	1	1	- !	• 1	!   -	- 1	٠	1 1	١:	1	:	2	٠ ٠	1	- 1	•	1	1 -	11	.	• 1	ļ · !	1 1		1 1		• 1	• 1	1 .	٠١
ľ	1	1:	!	• !		11	: !	1: !		1	i i	1	•	:	1	7		!	- 1	1:	1		1 2	: }	:	i: }				11	. !			:
i		-	٠Ì			• {		j.,	٠١.	- 1		1 .	- 1	1		i	. i		- 1		- i		3	٠. [	1 -		]: .	1.		1 .	. :	. :	i .	١.
3	-	-	1]	• 1	[	1	. 1	<u> </u>	) ¦ :	1	·	177	1		1	-	•	1	- 1	T	•	1	12			1	1: 1		111	777	- 1	1	1 .	٠
l:	:	1:	:	: :		: 1	: :	i : :	í		[	• ! •	•	] [	:1	1	:   }		: :	1:		1 -					1: :						1	: 1
ı.	-	-										-   -			- 1		.   .	-		-			1			.	1			-   .				. }
Ŀ		<u>                                  </u>		:_:	·	:	<u>.</u>		1:	*:	. ±	: :	· · ·	1	-	1	. 1	-:	• •	. <u> </u> :	<u>-</u>	1_:	11		• •	<u>  • · · · · </u>	1 .		: : <u>-</u> -	:   :	• • •	•	1:	١Ľ
I:	:	1:		: :		:		1: :	ĺ		:	:1:			ij	: :		:1	: :	1:					: :	1:::	1: :	1: :						: 1
		۱-	-		-	-		ļ	٠   ٠			٠.					. j			1.		1 .	l i	-			1 : .			· [ ·			i-	۱.
١٠	•	١.	•			- [	• .•		١.	<i>.</i>	1	٠   ٠	•	•	· [	1	·   1	٠.		•	•	1	11	•	• •			• •	• • •	• [ •	•		1 -	٠١
<u> </u>	-	- <u>:</u> -	∄	:=	<del> </del>	-1			-   -	-:-					:+	<u>:</u>	-1	-:		+:-			+		-	<del> </del>	<del>  :- :</del>	1			-:			
			-			-		- : 4	١.			.   .			-	2	.   .						2	٠,	1		. ;					. :-	1 -	.
٠	•	j -	٠		١-	٠¦	· ·		١.	•	-	- -		:	- 1	3 -	٠   ٠	٠	•	•	- ]	1 .	11	-	7.7	-   -	• •		•	٠   ٠	٠ - ا	• •		١.
1:	:	1:		: :	1:	:			١.			١.	•				:1:		: :				11			l	1. :	1: :		11:				: }
1	•	-	-		-	-		ļ	.   -	-		. 1	ı-÷	† <del>-</del> -	- 1	1	1-	$\overline{}$		+		<del>.</del>	†i	-	• •				-	֠:	-		i	
-	•	١.	•		•	1	• •	i -	١.		٠.	• ] •	•	-	٠1	•	.   -	-		1:	- 1	- •		-	• •	- •			- :	٠   ٠	· •		- , -	-
:	:	1:	:1	: :	:	:1	: :	1.				:1:		:	:1	:			: :	1:	: 1	: :	1	[]		1::	:::	:::		11:		: :	i .	
	-		_]	<u></u>	<u>-</u>	۱	••	<u>ا</u> ا	١.			٠ [ .	•		٠	<u>.</u> :	1			1-		• •	] j	]			1	]	1-	. ] .			1	_
-	•	1	-1		-	- [	• -		-	-:-		Ţ		1	-1		1	Ŧ		-	-	1	1	-		1	[	1: :	1 - "	-   -			Ţ	T
	:	1:	:1	: :	:	:1	: :	l: :			:	:1:		: '	:	5			: :		ij	1:				1::	: :	1: :	1:			: :		
٠.	-	-	-	: .	-	٠		ļ.,		. •		٠   ٠		- '	.	Ϊ.		٠.		1.	-	1.	i										i -	.
:		<u>:</u> .	:		ļ:	-1	. <b></b>		-   -		·	-  •	_ •	-	<u>.  </u>		4÷	·-		. I		1 .	1	_		<u>  :</u>		1:	ļ <u>-</u> -			• •	1 -	: [
:	:	1:	:1	: :	1:	:		l: :		•	:	:1:			: 1	: :	Hi		: :	1:		1	١.,			::		1: :				: :		
•	٠	١.				-				. •	4.	٠   ٠	•	-	- ]	. :	.   .				•	i .	į 1 <sup>:</sup>	-[	-11	.				-   -	• •		j -	.
-	•	١.	1	• •	,	١.	•	٠ ٠	١.	-	•	٠   ٠	• !	1	: 1	4 .	1	٠	1 -	1	-	1 -	į 2 ·	ᅦ					11	-   -	٠ ا	•	1 -	· [
÷	:	Į÷	÷l		+:	- [	<del></del>		+			: :		1-		2				÷	-:-	+-	+-	-1		<u> </u>	<del> </del> -	1-:	·		-		<del>-</del> -	- 3
	-	۱٠		4	ļ. ·	٠	• •		.   •	·-	• :	-   -	-	i.	$\cdot$	3 .	1	·	•		. ]	i -		۱-۱	-, -								1	.
•	•		1	•		١.	• • • •		1:		•	٠.		:	• ]	10	•	•			٠.	: :	1:	٠,	•			1: .		٠   ٠	ं		1	1
1:		:		; ;				] ] [	ļ				- :	li.	: 1	5 .						1.	i i		: <u> </u>								1 .	
÷		1	-1	•	1	-	•		•   •	- 1	::	: † :			-			7	· ·	•	∵	•	1	~-†			1	77.			-		:	†-
:	•		:	•	1 : 1	1			•		• /	٠   :	•	;	-	3 :	1	. *	• . •	•	. •	1 -		::	7: 7	: :	!! :		1 :			• •	1	1
	•		.	. , .		-1			.   .	- 1		. :	:	۱i۰		6						1 -	1	٠. ا	1 -		: :	ļ	11	]:			4	ļ
:	_:	<u>:</u>	:	· ·	· .	<u>.  </u>	•		<u>   •</u>	1		<u>: :</u>			- ]				<u> </u>	-	ا۔		<u>.</u>	· [	- •		· ·			<u>.   -</u>	. •	• •	• •	1.
•	:	1:	:1	: :	i	:		1::		:1		:1:	•	•	1	•			• •	1:	ا: ا	1 :			• • •	1::	1: :		1	: [ :			1	1
	1		1	. 1		1	. 1	. 1	.	- 1		٠ ١	1	•	1	. 1		1	4	1	٠.	. 1	1	-	-: 1	. 1	. 1	. 1		1 .	1	. 1	1 -	1
-	1	·	1	. 1	• •	1	. 1		1	1	•	۱   ۱	1	-	1	: 1		1	+ 1	-	3	1 .		[	100		• •			٠   ٠	-	• •	1 -	1
-:	:	į –				:		,		-:	4 ::	:   :				7	1.1			÷				H				1	- !				4 -:	ŀ
			٠,			١.	• •			-		.   1	:			ĭ.	1		į.		.	i .	l i	.			.			.   -	-		i.	1
٠	٠		-1	- :-		٠		1		٠.	÷ .	٠ [ -	. •	1	•	:	1.	4	1 -	]		1 -	1	-	• : •	j - ·		• • •	( ·	:   :	-	• •	1 .	1
	:			: :		:1		ļ:::		:1		:1:		1:		1	1:	1		1:		1 :	1:	:1		:::	1::	:::	1:					ı
•		•	-1	= =		1		<b>;</b>	:	- ;		:   -	-		:1	į.	1 -	٠.	: :	-:-	. 1	<b>i</b> -	1	⋾╽			1.77	†	1	-   :			寸;	1
•	:.	:	1			١	• ; • ,	• .  •		-	-	١.	. •	1	•	4 .	1 -	1	- •	1	: 1	1 -	11	: [	• : •				•	٠   -	-		1 .	1
ļ.	:	:	П			: [		]	[			: [ :		:	:	6 .	:	:1	: :	!	٠: ا	i :	;	1	: :		::	: :	: :	. :		: :	i :	-
Ŀ		<u>ا۔۔</u> ا	- [			<u>. l</u> .	!			[		.   .	<u>.</u>	·	-1	1	1.	-1		1:-	_ [	1	Li.	. ]		1		1	1:	:   :	- 1	1	1	1
	٠	l : "	:1	:	:	1		•		- [				!	:[	8		:	:			1		1	•	1.	1: :	1: :	1			: :1	1	
Ī	-	ļ.				Ì		i				.   :				10				į .	.	i :			: :					.   :			: :	
ŀ	•		$\cdot$			۱.		<b> </b> •		-	•	٠   ٠	٠	-	-	11 •	1	$\cdot$			-	1 -	11	- [	1 -				1 .	٠   ٠	-		1 .	ı
•	-	<u>:</u>	- }	<del>: :</del>	-	-1.	<del>: : :</del> :	<u> </u>	1:	-:		: :		å.,	:-	3 .		-	::	-	-	1	1-	÷į	<del>i-:</del>		<u>  ::</u>		1	:   :			1-:	
-	. •	:				٠ ]	٠ .	• •	:	-	<u>:</u>	.   .	•			3 ·	1	-		:		1	i							٠   -			1 . 1 . 1 . 1 . 1 . 1 . 1	
٠.	•				١.						1	: :	. •	1	٠	\$ .	•	•		١٠.		! .	1	٠,			::	::		.   -			1 .	
:		<u>-</u> -	: [		:			: :	1.	:	•	: [ :		i			1	:	1 :	i.		1:	1		: :	::			::	: :		: :	1 :	İ
• 1						-			1 -			- -	-~-		-	5 12 10 2	1:			1.71		1	ji-	· I			1		†	: † -			1	t
٠	:	•		•	•	1			1	: ·	•	١.	-	!	:	12 •	1		• •	1	$\cdot$		1		1 -			• •	3	. 1		•	1 .	
:	:	:		•								1:			:	2	1:		: :	1		1 -			: :		::	::	i	:   :		: '	1 :	1
٠	٠	:				٠,	• •		-		1	١.		١.	$\cdot 1$		1.		1 .	1	ا : ا	1		- 1	* *		ļ		1.	1:		<u>.</u> .	1 .	1
•	-	:			•	1		7 7 7	-		* * * * * * * * * * * * * * * * * * * *			•		5	1		1			Ţ	1		÷ •				-	. [ :			1 . 1 . 1 . 1 . 1 . 1 . 1	ſ
	:					- 1						1		.		5 .	1:			1		1			::	: :						į :	1.	ĺ
٠	٠	•	•	-		٠,			•	- 1	•	٠   ٠		•	-	1 .	١.			-	٠	1 .	} 1:	-			• •	<b>:</b> :	1	.   -	: -		1 .	1
÷	<u>:</u>	Ŀ	:			-			1-		1,	1:	,		<u>.</u>	10 5	1:	:	;:	j.,	ا ئ	1	1	-	·	ļ	1	<u> </u>	1:	1:			1 . 1 . 1 . 1	
:	<del>-</del>								-			١.				\$ .		-1	1 .	1	11		1		1		::	]	1			1 1	1:	1
٠	٠	• •	-			٠Į			· i •	٠.		٠,	•	1	-	1 .	•	-1		1		1 :	1	- 1	;	• •			1	٠ .	- 1	: :	1 .	1
٠	•	١٠	-	: :		- [			.j -	; - <b> </b>	•.	1			-	8 -		٠.		į 1		1 .	11		: :				1:		-	7 -	1	ļ
<u>:</u>	:			::			::				: :				:	15		:	!-:	÷	:	1	111111111111111111111111111111111111111	-	1			}	1	:   2	<del>, :</del>		1-:	
٠		١.			•	۱.										4 - 3 - 10 - 8 -	1.			۱.			i i	. [		: :			•	· į •			1 . 1 . 1 . 1	-
٠	:		•	: :			• •		i		• •	٠ [ ٠	•	٠ ٔ	-	10 .	1			İ٠		1	1		٠٠	· •		1 .	1	: [ :	- [	: !	1 .	
٠	•	Ι.	- [			٠!	• •	: :		٠.	•	٠   ٠	•	١-	:	8 -	1:		• •	;	-	! .	11	٠,	1		:r:	1	1	٠   -		: :	1	1

Table V-4.9 Results of Herders & Farmers Interview: 6. Facilities & Equipment (2/2)

		TT. 137	ical mal	Machin	ery		0	2 Tramo	scortatio	n & Stor	age	Hitles an	- Y-7				ωH	ome Equ	oment					
Trab Seat	Adia	· [ •	· ( - · · ·	T	· [	Engre	1. Tock	1	7	4. Carl	1	LTV	2 Tage Farerter	3 Radio		5	4	1500	# Wind	9 Light	10 Vices	Adres :	12 Seeing	T
		.		.4		1			1	1	L	I	ļ		Batorutar	Gara aka	Carra		σ. <b>š</b>		ن ــــ ا	1910	L. W.L.	11.
705 10	les to	yes n	pes re	yes s	o yes no	) es no	yes 140	res no	1 -	705 PG	yes no	Yes NO	yas no	yes no	yes no	795 NO	1 ·	) 45 NO	hez ua	yes ∩0 1 -	Aur uo	yes no	her no	*
• •		·  • •		•	•	• •	٠.	: •		5 -		: •		1 -	1 .	1 -				1 .			1 -	-
	: :		1: :	1:		: :	1: :	1::	: :	3		! :				!!:			: :	: :	: :			1
	٠.		1	i			١		1 .	š .		1 -	1 .	i.	i .	)								1.
• -	•									1	-			1	1						•	<del>-</del> -	[]···	1
•				1: :		1::	1::	: :	1::			l: :					1::	: :		: :	::		11:	ļ
•, . •										2 .	1	i   -		i .	1 -	i .		. ,					i -	l
: ئىد	: :	1: ::			·			· · ·	: -:	2 .	1.1			1.	1		: : :	.:_ *.	<u>:_:</u>	• •			1	Į.
		: :					: :		::		1: :				1				: :			:::		ı
							1 .		1 -	, .		1 .	1 -	1	1 .								1 -	l
			1: :		1 : :		•			2 -		٠.	2 .	1 .	1 .				٠.	• • •	•		! .	١
		1: :	-	+	1		1	::	1	5 .	1-3	1	i - : :	1			]				:			{-
• . •	• ::				•		1 .		1 .	4 -		1	1 -	1 •	1 .	• 7,-							1 -	
	: :		1::	-					1	5 .				1								7 7	-	l
				1.						7 .	1: :		1	1 -	1		: : :				: :	:::	1 .	L
• •				•		T				1.			1	7		•		, -					1 -	t٦
	: :					: :	· ·	. :	: :	6	1 :	:					l: :		: :	•	: :	1::		L
	٠.			-			۱. ۰			4 .	i -		1 .	i -	i .	• •				• •			ı .	Ľ
	.::	1:-:	<u> </u>	1	1	انسنا	ļ:-:		·	4 .					1 .			:	<u> </u>	· :	:.:	· · · ·	4	L
	: :	:::	: :			::	::	: :	i :		i :			; :	1		:::		: :	: :	:::	::	[]∶	l
							-,   •		l -				• •	i -	1.					1 -			i -	ŀ
	:	1: :	1: :	1:		1: :	۱; ۱		!! :	; ·					1					•	: •		11 .	l
	:	+		† <del>-</del> -	+-:			<del> </del>	<del></del>	├ <del>∶</del>	<del> </del>			h	<del></del>		<del>  </del>		-:-	÷÷		+===	-	ł-
• •	• •					• •	٠.			· :	1.	'	1		1		• •	-:-	٠, ٠	1 -			1.	l
	]: ;		::	1: :			:::		· :								: :			: :		1::		ĺ
<u> </u>		1		<u> </u>	<u>.  </u>						l	- <u>-</u> 1	- <u>·</u>											l
•			1: :	1: :						1		• •				7			•		•		[]	Γ
1	:::	1	::						: :	: :		1	1	, .		1		1 -	2 .	1 :	: :	i :		Į
•			1 ;							· ·	• •	•	1		1 -								1	ŀ
		1:::	1:-:		::-:	<b>  :</b>	l:-:	<del>  : : :</del>	<del> </del>	- <del>1</del>	-‡:			- ;	1							L::	1 -	L
	]		ļ. :	1.	.	-		• •			[i : ]	l i			i					. :	. :	• •	i :	1
	1:		1: :				l: -			5 .	1 -	• •	[ ] - [		1 :		• •			: -			1 :	
: :		.   : :	1: :	1:			:::	: :	: :	9 .							::		: :		: :	::		l
	1		1: -:	1		<u> </u>		177	T	6	·			T-1	3				•	•	<del> </del>	•	i i	t-
; ;	1:			1:		1: :	l::	1::	1: :	4 .		:	::	1							• •			ŀ
: :	-	. ;	Į		4. ;		. :	: :		4 :		: :	i :					::	: :	- ;		::		П
-::	1::::	[::::	1:	11.	1:-:		4.2			1 .						• •	<u>  </u>						1	L
: :			:::	13		[::]	:::	::	1	14:		: :i				: :	::	: :			: :	1		1
	• •			1 -	·{	-				1 .					i [									L
: :	1: :	:::	1: :	1:			l:  :	: .	: :		1: -			: :1	;	• •	: • !					1.5	1	Ŀ
		1.	1	1-1		-		<del> </del>	<del>!</del>	li≟≐				:	+				$\vdots$	-:-:				H
• .•	• •	j.	1.	-		[	• •	• •		<u>i</u> .	• •		- -	1	1 -		• • •						1 4	F
: :	::		1: :	1:	1: :	1: :	l: :		1::	18 ·	: :	: :	: :	1 1	1 1	: :		: :	: ·I	•	: .	: :	2	Ľ
::		1.	1			<u>   </u>	<u>  </u>			3 .	<u>   </u>			j	<u>i</u> 1		[]					l	i	ľ
	: :		1:	1:			l:		1	6								•	•		: ::		1777	ľ
		. :	:			: :	: :		::	\$		` :	::		; :1	: :	: :l		: :		: :		$ \cdot $	
• • •	• • •	1		·, ·	$\cdot   \cdot \cdot$	• •	٠ .			2 .			1 -	1 .	- 1		4:. •					•   •	1	1
	1: -:	:		-	<del>: :</del>		<b>:</b>	= :	: :	4	: -:	<del></del>			<del></del>				•	: :		: :	1 .	
	: :					1 • •			: :	4	.			i	1								i	i.
• •	: :				: :	1 :		: :		3 .					1 -	1 -	· ·			٠ - ا	- "-		1 •	ŀ
		j.,	į						: :	3 .					2	: :		. :	: :	•	::	:::	i	
		1: -				1			1	1			7		2						·	: :	1 -	[ '
: :	: :	:::				: :	•	: :	; :	6 · 4 · 2 ·		1			1	•						• •	1	
					: [: :	: :	1 · ·			4 .										- ; - [			1 -	
i i		: :	1		:-:		<u>: :</u>	-:	i :	2 .		·:		1	1 1		<u></u>				<u>:-:</u>		1 -	
•							1 1												: :I		: :		1	
	- •			•		[	•	::	•	5 .	1 -		٠ .	1 :-	1 -					. ; .	•. •		1 -	١.
	: :	1: :	::					: :	i :	3 .	i :			: :	; :					: :	:		1	'
				1			-£ -£.		1 -	3 .			2	1				1 -	:-:	<u></u> -			1	-
1					• •		٠.			5 .	;	$ \cdot $	•	1 :	1 -			1 -	• • • • • • • • • • • • • • • • • • • •	1			1 -	١.
			1 .	1:		11:	1 :			2 :	! :	1 -			1 1		: :	i :		: :	: :		1 -	1
	1	1:-		1		• •			1	2 +	2 .	11	4 - 4		1 -						: :		1 -	١.
2	,		: :	: :		•	- :	: ::	1 -	5 .	2 .	1						:-:		: •	: .	: .		1
	٠.			1: :					1 .	2		1			3		: :		: :	2 .	1 .	1	1 .	1
1 -	1.		1 .				· ·	1 .		1 .			1 -		2 -								1 -	١.
1		3	i					::	·i	1522151222			1 .		3			1	·	<u>;                                     </u>	<u>: :</u>			Ŀ
	- 4						. :			: :	1 .	1		1		- :	::	1	: :	3 .		1 .	1 .	:
	÷ .							: :				1 .	1	1				: :	: :	3 -		1 .	1 .	١.
2 -		1	1	1	<u> </u>		<u> </u>	1	1 .	1	1	<u> </u>	1 -	1		• •	1 -	1	i	1 -	1 -	1 .	3 .	۱ ۱

## Table V-4.10 Results of Herders & Farmers Interview: 7.1 Sales of Live Animals (1/2)

1: Mah Inpex, 2: Railway Company, 3: Army, 4: Coal Mine, 5: Provate Company, 6: Agricultural Cooperative

	Camel M Price	eat (five) lounA		Hovse M Price	eat (live)		Cattle M Price	Arrol	01-13 Gary		eat (live) Annt		Goal Me Price	at (sve) Amnt	l		 \$a	e to	ides	otal N Brasic	ກ່ໍ		
2.17	1144		74.11		##/# <b>1</b>			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,							1	2	3] Î	3	8 7	8	\$ 1	0111	[2
						700 2800	200 200	140,000 560,000	73	10,000 11,000	500,000 803,000	20	10,000 10,000	120,000 200,000					1	4			1.
			1	30,000	30,000	1	30000	30,000	25	7,000	175,000		8,000	24,000					1	4	ļ		2
			6	45,000 30,000	270,000 90,000	. 1	45000	180,000	50	15,140	1,400,000 757,000	30	15,000	450,000					1	11	-		
				7.5.4	25,570				35	11,500	402 500		10000	40.000					7	1		11	
						,	60000	60,000		15,000 8,000	165,000 56,000	4	10,000	46,000						2	-		ļ
				25,000	25,000			i	10,	10,000	100,000	1	10,000	10,000			1			3	Ì		1
	_:			40,000	80,000 100,000	1	50000	50,000		10,000 10,000	- 150,000 70,000		<b>  </b>		-	-	-   -	-		3			-
			, 'i	.00,000	100,000	1	60000	60,000	10	17,000	170,000									2			1
		. :								10,000 13,400	70,000 67,000									1			1.
						- 1	18+05	\$20,000	12	8,000	96,000	4	5,000	·					_ [_	3			
						6	10000	60,000	8	8,000	64,000								ľ	1			İ
,		:			4	۰	1000	80,000	10	12,000	120,000								i	1	- [ .		1
						' 1	50000	50,000		10,000 11,000	130,000 88,000	1 1	7,000 6,000	7,000 12,000			ł			3			
<del> </del>			-	45,650	45,000		40000	40,000		18,000	360,000		9.00	12,000	1-1	-	-   -	<b> </b>	+	2 3	7	11	-   -
		i i	1		:					1,000 8,000	12,000 168,000	7	9,000	63,000 2,000		ļ			-	2	ı	11	
								į	21 13		104,000	2	7,000	14,000						2			1
									2	18000	32,000					-1-	-	1	-ŀ	11		1-1	-  -
			.			1	20000	20,000	12	2,000 8,000	4,000 96,000	8	7,000	56,000						2	1		1.
	].		1	40,000	40,000				13	9,000	117,000	46		322,000						3			
1		;				١,	35000	38,000	23	10,000	230,000	- '- <b>,</b>	6,000	42,000					1	3			
1			1			<u> '</u>	1						1-1		1-1		1-			1.	_	П	-
	1				   .	٠,		180,000				1	12,000	12,000	1			П		1		$\ \cdot\ $	
						Ι ΄				10,000	200,000	. 10	7,000	70,000			-			2		11	
	70,656	70,000		<u> </u>				ļ	5	9,200 10,000	46,000 20,000	2 - 21	}j		-		- [	-		1 2	-	-∤-∤	
1	10.000	, 10,000							4	10,000	40,000				Н			{		. 1	ļ		-
			10	50,000	500,000					10,000 10,000	60,000 350,000	10	10,000	100,000		il	-	11		3	:		Ì
<u> </u>		:	3	46,000	138,000							8		64,000				Ш		2		$\perp$	-  -
1	80,000	80,000	10	50,000	500,000	: 2	Z3000	145,000		12,000	12,000 380,000	٠.		:	Ľ		1	ΙI	Ţ	3			1
						•				10,000	100,000	١.		•			1	<b>!</b>		1	-		1
		1		1 :		,	60000	120,000		1				1	1	1	-		ł	1			
			4		<b></b> -	i	5000	5,000	6	13,000	78,000	3	7,000	21,000	1		1-			î			-1-
1	50,000	50,000	1:			5	49000		8	10,000 10,000	80,000 100,000	١.,	8,000	40,000					Ì		Ì	li	Ì
,	1 .	: "					1	1.4	j :		1. 1.50				13	ĺ			Ì		ì		
			1	20,000	20,000	3	45000 50000			10,000 15,000	100,000 225,000		4,000 12,000	28,000 60,000				<del> </del>				11	
			1			<b>'</b>	30,00	300,000		12,000	120,000		8.000	16,000				Н		2		$\ \cdot\ $	1
			2	50,000	100,000	2	85000	170,000		12,500 15,000	100,000 45,000		8,000	32,000					ŀ		1		-
1		1.1		"		l		1 .	. 6	12 000	72,000		7,000	28,000			.			2			1
17				17-7-		2	90000	180,000	10	15,000	30,000 150,000	1	14,000	14,000	1	,						$\prod$	İ
			5	35,000	175,000	2	70000	140,000	1		150,000	١,		. 4	l		1						-
			2			,				10,000	110,000 68,000		8,000  7500-€	16,000 23,500									
1				40,000			80000	180,000 80,000		10000- 10,000			8,000	18,000		- -	-	$\vdash$		†"†		1	- } -
ĺ	İ		2	35,000	70,000		1	1		10,000	50,000		6,000	18,000		П		H	ļ				١,
İ			3	35,000 35,000			1E+05 65000			10,000 8,000	\$50,000 32,000		0,000	10,000	1				-	2			
1	ļ		ļ			.	]	1	30	10,000	300,000		:		1		-		_ .	. !	-	4	-
		: .				2	47500 80000			10,000	40,000		1		ľ		.						
1.	!	. :				2	74000		12	10,833	129,936		a,000	16,000	7	ŀ	-			3			
1	85 000	85,000	,	40,000	80,000		18+05	120,000	73	7,500 10,000	15,000 730,000	5	8,000	40,000						5			.   1
1	33,000	1	1	1.5,000				1	1777	8,000	8,000	1			1.		-   -		-1	Ī			1
			4	40,000	160,000	16		240,000	300	ĺ	1,500,000	1	1	4.1	2								1
			2	30,000	60,000	( 1	70000	70,000	. 8	8,000	64,000	3	4,000	12,000									1
			3	30,000	90,000	! ! !	40000	40,000	1	10,000	40,000		1	<u>.</u> . 1	÷	-		-	} ; }-	.   -		11	-
				40,000			41000					l : .										]	
	1	1	4	35,000 25,000			\$1000 39000			6,000 10,000	150,000 20,000	1 5	5,000	25,000	"					3			
		1.	[ 3	).	95,000	] 2	40000	80,000	20	10,000	200,000	1	1		١	Ш		1.		3			
1		Ī	[	20000	154,000	7 2	60000 80000			10,000 8,000			8,000	8,000 49,000						4			
. 1	50,000	100,000	1	40,000	80,000	. 6				7,500			4,500	63,000			.   -						- 1
	70,000			25,000			í						Ì	j	ı					2	l		
				45,000	40,000	10			_ <del>!</del> 00	10,000 12,000	1,000,000 60,000		ļ		-	-	-   .:	-		3		1-	1
1				25,000	50,000	1	1		8	6,000	48,000		١			$  \  $				2	[		İ
				30,000 30,000			40000 \$5000			6,000 10,000			3,500 !	17,500	4	П				İ			Ì
			.[]	13,03		.	35000	70,000	10	10,000	\$30,000					ij				.   .		-	1
				70,000	70,000		30000 37333			7,000	980,000	11	4,000	144,000	H		Ì			1			
ļ.,	40,000	160,000		25,000						10,960	2,600,000	1			i	$  \  $	ĺ			ļi.			2 13
		1		t	1	1	1	i	1	1	i	1	į.	!	1	1 1	- 1	1	. 1	- 1	1 1	1 !	ł

Table V-4.10 Results of Herders & Farmers Interview: 7.1 Sales of Live Animals (2/2)

1: Mah Inpax, 2. Railway Company, 3: Army, 4: Coal Mine, 5. Provate Company, 6 Agricultural Cooperative,

1															re <b>, 8</b> . Priva	(e i	10.00									E CUIC
			eat (five)			leat (live)			eal (five)			eat (live)			eat (live)	Ι.		- ,						νę.	- 1	1 7 2 2 3 7
-	Unity	Price	Arret	uny	Pice	Amot	Unty	Price	Amnt	Unty	Price	Amnt	Only	Price	Amrit	l a t	31					veji¢ T		0 11	. ایج	Amet
6 1										10	10,000	100,000		ļ		H		-	713	1	1	*	+	1	1	100,00
7	4	30,000	120,000	3	35,000	105,000	Э	50000	150,000		10,000	70,000	9	6,000	54,000	l		1		1	۱ ا		1	Ì I		439,00
8	1		·											,	,		1	-	ı	Ì		-	-		1	•
9					1	i												1	1.	1			1	į	1 1	
-	4	70,000	70,000		ļ											-		- -		ļ			- 🖟	. ļ	<b> </b>  -	70,00
2	j			1	60,000	60,000	2	60000	120,000	5	8,000	40,000	2	7,000	14,000			Ì	i	1	ŀĺ	4	Ì		11	234,00
3	- 1				100,000	1	•	1	120,000		10,000		Ì	1,505	41,000	Ш	li	ĺ	1.	Ì	1	1			1	204,00
4	1				] .						i					Н		İ	1	ĺ		ì	ţ	1	11	:
5					l		:				1							. 1.			H	. i.	١.	1.		
6	- 4.	·			!									ĺ		ш			1	1	Н	-		1		
7					İ							·				П			Į			-				
ě	+ , l				]					10	10,000	100,000	8	7,000	\$6,000			1	i		Н	ł	1			156,00
0 [	- }						14	55000						.,				1	Į	1	Ιİ	1				220,00
T		52,000	104,000	1	40,000	40,000	6	40000	240,000	40	15,000	600,000						Τ	1	1		4		[ ]	1 1	984,00
3	ં ટે	120,000	240,000		i i		40	8000	320,000	1/4	- ~~	60,000	10	7,000	70,000			1		Į	<b>!</b>	I	1			310,00
4					ļ		40	8000	250,000		6,000 10,000	200,000	4	6,000	30,000			1		L		1				380,00 230,00
5	. 1	60,000	50,000	3	35,000	105,000	4	40000	160,000		10,000	800,000	30	6,500	195,000	l		1		1		I			1	1,320,00
5 T					i ———												-†	t	-†-	1-1	<b> </b>	-   -	1	-	-1-	1
7	3 -				ļ						ا ا							Ì	1	L	l	Ī				
8	٠	1	7				. 2	60000	120,000		8,000	160,000	12	4,000	48,000				İ		1	3				328,00
0	٠ ا				1	1	*	-			10,000 8,000	30,000 96,000	1	· 1								1	Ì			30,00 96,00
ř:							-6	40000	240,000		10,000	120,000		6,000	30,000			-   -	+	<b>∤</b> -⊹	- 1	3		ŀij		330,00
2					į		1	60000			8,000	72,000	Ĭ Ĭ	1	,				1			2	-	1 !		132,00
3	l	1		1 1						12	8,000	96,000	12	4,000	48,000			1	1			į		l i	2	144,00
4	إ	100,000	200,000	٠, ٨	50,000	100,000		60000	433.000	100	8,000	15,000										!		1		16,00
6			200,000		50,000	100,000		60000	420,000		15,000	1,500,000		i		-		- [		ļ- ¦		듸		-	- 2	2,220,00
ĭ	. 1								- 4				1.					İ	i			1		1		
8		1 1					i					14			:			i	İ	1			-	! i		
9	-				ļ	1.0			100					'			ı	1		1		1	1			
0 1 -		80,000	80,000		i			40000	80,000	- 12	7,000	105,000	12	5,000	60,600		<b>.</b> .	4.		-		╁		1-1		18 X21 XA
.	'n	00,000	50,000	1	4		<b>-</b>	4.000	80,000	13	7,000	IVS,UUV	. '2	\$,000	60,000		-	Ì				1		Ŀ	1	325,00
3				1			1	44800	44,800	1	10,000	10,000				2	-			!		1	].	11		\$4,80
١						* * *	100			30		200,000	7	7,000	49,000		1			L		2		1 (	•	249,00
				<b>x</b>	85.432		2	47000	94,000							_	11.	1	1.	L			1			94,00 50,00
	-			2	25,000 20000 -	50,000 92,000		29000	116,000		8,000	48,000			1.2	ا؞ا	1		1!	H			1:	ы		
	1			1	2000-	92,000	3	46000~	246,000	•	1 4,000	45,000				2			H.	l: i	1	11	15	$\Gamma$		255,00 245,00
i [	1			1	50,000	56,000		10000	140,000	10	7,000	70,000					- [-		ž	П		2	. [			120,00
4]			1.2		1				200	5	8,000	40,000	2	7,000	14,000		- [-	1	1			2			.   ·	54,00
5			11:11		41,200	11,200	2	51800	103,600		12,490	260,400	1	0.000	8,000	"		1	1	1	- [	1	1	7	7	413,20
,										16	12,000	192,000	5	5,000	25,000	: <b> </b>	- ¦	1		11		2	1			217,00
	. [									1				.	174		1	1	∄.				i			
П			1	2	50,000	100,000	- 4	45000	180,000	5	18,000	90,000						.	1			3	1:			370,00
1										5	10.000	50,000					ĬĖ.	1	17	-	-1	ĭľ"	7 7	1		50,00
!			1.5	1	40,000	40,000	1	52000	\$2,000	. 4	12,000	48,000	2	7,000	11,000			I.				1				154,00
3	- {		- :	,	50,000	100,000	800	58000 230	58,000 184,000	35	13000	430,000	3 1	9,000	9,000			. F		١.		3	Н,	1.	1	547,00
ĭ I	. ļ	- 1	* * ·		40,000	40.000	***	40000	40,000	1	10,000	10,000		- 1	30.00	2		.   .	,	!!		1				284,00 90,00
š †					1		2				10,000	210,000				h	-+	;	1-		1	ī		-		285,00
6		111	1 :					1		1			- [		1 1				1			1	1		1	
?	. ļ	٠ ]		1 1	1			20000	C0 AAA	. 7	11,000	77,000	]									11	1	1.1		77,00
8	_ i	1	'		1		5	30000	60,000	10	9,000	90,000	. 1				- [	)		ļ l		1			1	60,00
δĖ				7	30,000	66,860	3	60000	300,000		10,000	60,000		<b>ا</b>				-   -	-1			3  3	+-		- 1-	_90,00 420,00
۱ [							8	20000	160,000	2	12,500	25,000	16	7,500	120,000				2		i t	ĭ	1	1		305,00
2 j						1.	1	20000		10	12,000	120,000	- 1	.		l	- [.		1.			2	1			140,00
3				4	40,000	160,009	2	40000	\$0,000		11,000	20.000		.					-	$ \cdot $		- 1			1.	
s-f					1 -0,000	130,000	77.7	40000			11,000	33,000] 11,000]	2	8,000	16,000	3		-   -	3	Į I			-  -			273,00 67,00
6 j	· [								+4,000	<b>'</b>			- 1	0,000	,	'			1	H	1	- [	1	$  \cdot  $		07,00
7	!	- 1	-	i l	• •	. **	5	30000	150,000	, 8	10,000	80,000				1			1	H	1	1	1			230,00
8	: 1			5.5			. 2	33000	66,000		: .	- 1			11.	1			1	1	1	1	1.			66,00
9			<del>:</del>	-,			- 11			777	15 000			[		<b>,</b>		. _	. <b>.</b>	<u> </u> _	- ‡	٠Ļ.	-1-	[_ l		
	ì		1				2	20000	48,000		15,000 8,000	15,000 80,000	2	5,000	10,000	۱, ا	-	1	1		1	2	1			13,00 130,00
ź	i					;	[]	-0000	10,000	. 10	0,000	30,000	-	3,000	,0,000		ļ	1	1.	į I	1	'	1			130,00
3 [		1 -			.					÷ .		- 1			1.4		ĺ	ļ	1		1	-	1			
4					اا		2	50000		15	9,000	135,000	[	]			_[		1		1	2	. [			235,00
6	: [	_ [		2	40,000	80,000	2	50000	100,000		2000	20 000	1		-		T					2	1.,			100,00
7	Ì		7 :	'	40,000	40,000	3	50000 30000	150,000 30,000	5 64	7,000 7,500	480,000	·					:				3	1			225,00
a				:	f		'	20000	50,000		11,000	11,000		1	j		-	1	1	П	l	1	ļ			510,00 11,00
9				l i	<u> </u>				:				}	. 1	1		- [	1	1	П		1	l			11,00
2			7	77.73	30,600	30,000	1	32000	152,000		7,000	35,000				3	· † ·	†	3	[-]	-1	-1-	1-	†1	-1	217,00
01	٠ . [	.,. I			i .		-			80	10,000	800,000			ı		I	ı		ļ			í	ļ		800,00
		.						10.00	140 000		8,000	49,000	1		l		ŀ	1		П		!	Í			40,00
02 j	- 1							1E+05 40000	140,000 40,000		12,000 19,000	120,000			1		1.	,				١,			1	260,00 140,00
03	ı				4			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			13,000	169,000					·   1	٠1.		ł l	ļļ	4	. I	1	· Į	
03 04 05					į l	. 1				13	3,000	197,000	,	•						, ,	1	,	1		3	10A III
03 04											11,000	99,000	}	Ì							1	1			-	20,691 99,00

Table V-4.11 Results of Herders & Farmers Interview: 7.1 Sales of Block Meat

		met M		- H	xse Me	eäl 💮	1	Cattle IV	eal	[ · · · · · · ·	sheep T	783E	ा द	cal Me	al	lock me	Ner Me	af							10	ain	eat.			
	Only	Price	Amni	Oxy	Price	Anni	Only	Price	Amnt	Oney	Price	Ann	Ont'y	Price	Arnal	Only	Price	Anvit	-	• •	\$	le Ko	(de	sima	(IO)	.10 1	==-	Q'XY	Price	Āmr
			L						L										1	2	3 [ 4	[3]	6	7] :	Ţ,	10 1	1,12			
35 36 37							!	40,000	45,000	15	8,000	96,000								-	-	1	-	Ţ	ŀ					40,0 95,0
38 339 340								40 000 15 000	200,000 32,000	15	10,000 8,000 20,000	120,000	1					,	2			1								40,00 320,00 112,00
v 36 v 37 v 38 v 39										30	17,000	510,000	:																	510,00
35 36 37 38 38 39 40 40 40 40 40 40 40 40 40 40 40 40 40																					-									
0-05 0-06 0-07									:			I	; ;					: .	1	-	-	-		-		-	-			:

Table V-4.12 Results of Herders & Farmers Interview: 7.1 Sales of Animal Hair (1/2)

	Camel Price	Hard Hair Arrus	03 7 Qni	(Cam y Price	elSolH: €Ammi	03 T	Hors Proc	e Hard Ha Arrot	03 4 03%	Cah	1-3 Sales e Hard Hai Amni	4	03.5 W	ool 1		6 Cas Price			Oth Pro		1 ~~		\$	ale to			
50	450	22,500	-	-		1	}_		ļ. <i>'</i>	-		200	1	49,000		5 500	82,500	1		1	143	3				1011	
6					1	:		:		<u> </u>		350 40	220	77,000 6,000	45	7.500 7.000	337,500 140,000						1:1	1	2 .		. 41
		0.000	3	4 50	1,70	)						500	180	90,000	70	6.500	455,000			}	$ \cdot $		4.	1	2 -		- 54
5	500	3,000		-			}				·i.	270 120		54,000 27,600		7,000 7,200	420,000 144,000			ļ		+:-	1	5	1:		· 4
									]	ł ł		100 30		20,000 7,500		6,000 5,000	66,000 60,000							1	1 .		
							ļ			}	8,250	33	250	0,250		5 500	44,000			;				1	1		. 6
									1			60	180	10,800	3,	4.000 1.000	16,000			ļ			<b>;</b> ;		2 :	+	1
			ĺ					-				100 50		16,000 9,000		4,000 5,000	32,000 35,000							<u>: : </u>	2 .		
						!									S	6.000	30,000				ŀŀ	.   -   ·	$\left\  \cdot \right\ $	- -	1 .		- 3
				-								60 30	180	10,800 5,400	15	6 000 6 000	24,000 9,000	-			[.]:	+: :		#	2 -		
												130 50		31,200 10,000		5.500 5.750	13,750 28,750								2 -		- 4
3	350	1,050				10	100 50	1,000				145 30	200	29,000 7,500	10]	7 000 6 000	70,000				l·l·	$ \cdot $	$ \cdot $		•		- 10
				1		-':	Τ					<b>∃</b> 00		20,000	72	6,500	143,000	}	l ·	$\vdash$	- -		+	#	2		· 12
		+1								. :		10	200	2,000		5,000 5,000	15,000 40,000				[:[:			:[:[	1 -		
.							1.		•			24 48	200 200	4,800 9,500	. 7i	5,000 6,000	35,000 78,000	1			$ \cdot $	: :		- -	5 -		- 3
}	امرد			†			-					20	200	7,000	17	7,000	119,000	1			<b> </b> †•	-	†-	:†:†	2	-†-	12
10	400	4,000						:				60 200	200 160	12,000 32,000	30	7,000 5,000	140,000				: :	: :	:		3 · 1 ·	:[:	• 15
.				Ì	1 .	-						. 50 105	160 170	8,000 17,850	(٤	5,000 4,000	20,000 120,000				<u> : </u> :				2 .		13
			—·	1 -		7									4	5,000	20,000		†-·	-	:	-		- -	1	1	- 2
				!							· ·	130 14	200 200	26,000 2,800	30	5,500 4,500	412,500 135,000					: :		1	2 -		· 43
	600,00	200,000				20	60	1,200				700 88	150 150	105,000 13,200		4,500 6,000	360,000 240,000				[:]:	: :	1:1	1:	· .	: :	- 66
10 35	300 300	3,000 10,500						:				150 150	180	75,000 27,000	35	7,500 7,500	262,500 375,000				H	- -		:[-]	3	1-1	· 28
ĺ				İ								7	350	2,450	9	6,000	54,000	1		ĺ			.	$\cdot   \cdot  $	2 -		- 5
100 32	400	40,000 12,800	20	180	3,600			900	ΙÌ			280 64	180 180	50,400 11,520	22	4,000 4,000	252,000 68,000				: :			<u>                                     </u>	4		- 34
55	430	8,600				60	30	1,800		200 200	TVALUE 0,000	70	200 200	17,500 15,500	30 40	5,000	150,000	ļ							3 .	1:1	. S
260	500	130,000		'		-				. "	0,000	120	200	24,000		6,000	390,000				$ \cdot $	$\left  \cdot \right $	$\left  \cdot \right $	1 4	3 -		54
15	250	3,750	:_	ļ		_						95		19,000		8,000	24,000					<b>.</b> [.			3 -		1.
		: ]									7.7	50	250	12,500	3	6,000	18,000		]		[:[:	[:]:			:[:	: :	. 3
10	100	1,000		:								50	200	10,006		6 000 6 000	48,000 18,000					: -		$\ \cdot\ $	<u> </u> ; :		- 5
15	330 350	4,500 5,250		-								52	200	10,400	23	9.000	207,000								3 .	.].	- 22
			:	-								260 24	200 - 180	52,000 4,320	17]	1,000 8,000	165,000 136,000					2,5	j.		2 .		- 22
5	500	1,000		İ		12						210	160	37,800	: 12)1	0,000 4,500	120,000 13,500				<u> : :</u>	: :		<u> : </u>	<u>: :</u>		15
10	250	2 500		ļ								40 86	250 180	19,000	: - <b>(</b> `.	0000 7 000	32,000 43,400	<u></u>		ļ;	$ \cdot $				: [:]		- 4
15	200				2.1	10	<u> </u>					300	300	90,000	→ 10 <b>)</b>	6.500	115,000				[.]:	[.].			4		20
10 S	160	2,000 800		.		1						50 20	250 200	12,500 4,000		8,000 4,500	16,000 9,000				[:]:	<b> : :</b>	: :			: :	- 3
						1.						16 43	150 200	2,400 8,000	2	4 500 6 000	9,000				<u> : :</u>	1			2 .	:  :	1 2
\$ 45	200 250	1,000 11,250			:	15	50	750		50	\$0	13	: t	3,000	1	7,000	7,000				-  -	$\ \cdot\ $	$ \cdot $	-[-]	4	$- \cdot $	- 1
20	280	5,600		1		<u>''</u> '	~	130			i	110 16	185 220	20,350 3,520	- 1	5 000 6 000	75,000 6,000				. .	. .	[:]:		3 .		- 10 - 1
35 35		8,750 10,500		ļ ;							;	150 120		45,000 30,000		6,000 <u>.</u> 9,000	30,000 126,000					: -	: 3		: :	- :	- 36
19 25	250, 350,	2,500 8,750				9	80	720		190	11,700	2 40	6,000 180	12,000 7,200		9 500	85,500				$ \cdot $	<u> -</u>  -	$[\cdot]$		-   -   2	:::	- 20
10	450	1						'-			4.		- 1		2	6,000	12,000				$ \cdot $ :	-  -				- -	- 1,
	j	4,500		<b>†</b>								65 18	235	15 275 3,240		6 000°	60,000 6,000	:	: - :		: :	- -		1-	: -		:   -
40 25	350	9,300 8,750		j		30	103	3,090		.		17	200	3,400		8,000	\$44,000 10,500	. ;			: :	: 3	: :				- 154
			-			Ü					1 :				. !	5,500	1	;			- -	-			$\left\  \cdot \right\ $	:[-]	•
3		1,250					;		[*]		:	15	300	1,500	. 2	000,8	16,250			-			: ;				: 1
40 5 5	200 190	8,000 900			1 .	9						170	183	30,600		5,000 1,000	198,000 14,000			·		: :		7 1	1 ·	1:1:	- 231
20	180)	900 3,600				1 4	200	830	2	200	400	10 350	250 200	2,500 70,000	- 41,3	5,000 8,000	5,000 32,000			1						1:1:	10
5	180° 350°	900 3,500	-,			-						33	183	7,020	2.	7,500	15,000						- -	11	-1-1	- -	- 2
30	330,	5,300				14				.		80 250	183 150	14,400 37,500		7,000	123,500 252,000						: :		3 2	1:1	- 141 - 281
75	÷							1		Ì	; i	65	150	9,750		5,000	105,600		İ	1		· :	:  <u> </u>		;   -	1:1	- 111
5	300	600		]	· · ·		-		-				1			1330	4,500									1.	"
10	300	3,000								. [		1		1		000,	56,000				: :		1:1:	!:	!:		: s
-	. 1													- 1	3	000,	27,000					<u>: :</u>	:1:				2
20	200	4,000		ļ" ·		Ì						600,	160	126,000	50, i	5,000	300,000			**-	•	$ \cdot $	-		2	• •	121
15	250	3,750							35	150	5,250	175	240	15,000 12,000	33		60,000 161,500							( • ∫ •			23
20	700	14,000		ıl			i 1		100	100	16,000	350. 150	180	63,000 13,000	25	5 000	125,000					11.		1-13	3 -	-1-	· 20

Table V-4.12 Results of Herders & Farmers Interview: 7.1 Sales of Animal Hair (2/2)

03-1.	Came	Hard Hair	03-2	Came	Soa Ha	03-3	Horse	Hard Hai	33-4	Cattle	1-3 Sales Hard Ha	(	03-5 W	20	03-6 Cas		037(						Yotal	Har	
Sul X	Price	Amni	Oui,	Pice	Amni	City	Price	Amel	Ųπ,	Price	Amnt	Ďď).	Price	Amot	Only Price	_ Arant	Ont) i	JUC E	rin	1]2	3] 4] !	Sale 6		, iği Ç	Ŧ2
			-	T		<b></b>				Ì		45 20	200 200	9,000	25 7,000 25 8,000	175,000 200,000				1	11	11			:
			1	1								~	200	4,000	44 4,500	198,000		ı							-
												100	150	15,000	60 5,000 30 4,500	300,000 135,000		- 1	.			1:1:	1:1:		
15	400	6,000				<del> </del>	-					150	150	22,500	145, 6,000	840,000	1	1		1		1:1:	2 -	1	-
10	500	5,000	1			5	100	- 500	3	70	210	85	150	12,750	10 6,000 62 5,000	60,000 310,000		ı					5 .		
						ļ						60	150	9,000	30 5 000	150,000		j	1	-   -	-[.]	-   -   -	2 -	$ \cdot \cdot $	-
20	700	14,000									,	18 162	40, 150	720 24,300		20,250 90,600							: :	1:1:1	:
								:				1			200 8,000	1,600,000		ļ			11	· · ·	1 -	$ \cdot \cdot $	- 1
10 25	500 550		1							•		30 168	150 150	4,500 25,200	8 7,000 30 4,500	\$6,000 135,000			: 1			$\ \cdot\ $	$ \cdot $		-]
				-:								60 168	100 160	6,000 26,880	25 5,000 42 3,000	125,000 126,000							2 :		:
												30		4,500	20 4,500	90,000		:				-[:]-	- -	$ \cdot \cdot $	•
10	200	2,000								]		200 240	230 170	46,000 40,800	30 4,500 12 4,500	135,000 54,000		-	1			: :	: :		
20									20	250	5,000	300	160	48,000	25 6,000	150,000					- - -	: - :		- -	
				1		12	80	960	ĺ			50 130	100	5,000 15,600		48,000 48,000		.				$ \cdot $	3 -		
35	250	8,750		;			. :					30	80	2,400	25 4,000 8 3,500	100,000 28,000			:	: :	11	: : :	2 -	: :	
5	500	2,500	Ĺ.,		<u> </u>					<u> </u>		150		21,000	14 3 000	42,000		1		$ \cdot \cdot $	- -		3	$ \cdot \cdot $	•
_			1			1	Ι ΄		20	210	4,200	90	120	10,800	10 3,000 6 1,200	30,000 7,200		1		: :	:[1]:	]:]:			
15	350	5,600	1	.					•			30 30	140	4,200 3,000	15 3,000			1			11		3 .		:[
						1.			L	L		³º	100	3,000	22 5,000	110,000		_			-[-]-	1.1	[1]-		.]
	-		Ι				<u> </u>					50	90	4,500	30 5,000 10 5,000	150,000 50,000					$ \cdot $				-
			1									30	150	4,500	3 8,000	24,000				\ ·	$\cdot  \cdot $	2	-  -	$ \cdot \cdot $	-
10	420	4,200							10	400	4,000	100		14,000	20, 7,000	16,000 140,000		- {				2	3 1		
30	450	13.500	1		1							,40	100	₹,600	10 8,000 6 7,000	80,000 42,000							3		
					į							130		15,600	15 8 000	12,000		. [			-[-[-			$\left  \cdot \right  \cdot \left $	-[
30	400	12 000	,			12	70	840	10	40	400	120	100	12,000	25 7,500 18 7,000	187,500 126,000		Ì			. .	3	i .		
20				1						1		70	179	11,900	32, 6,500	208,000				• •	11	1	1:1:		-
		-	l		- 1	20	70	1,400			1 : 7	120	220	26,400	16 6,000	96,000		٠			11	.   .	3		-
	- "		l						•	:	13	110		22,000 3,400		97,500 16,000		: }		1:1:	11				1
-						1	ļ		_	ļ					11 5,000	55,000	11	- 1			11	1.1	F1:	Ħ	1
					<b>i</b> .		1			l		150 20		37,500 5,000		95,000 25,000			1		:[.]	[].]	2		;
			'								1	45		15.000	6,000	24,000		. [		$ \cdot \cdot $		<u> : </u> :	2		
			-		i		ļ		• • • • •			13	200	2,600	6 6 000	36.000		i	:	4-1	11	. 17	2 -	1.	1
	1:					20	80	1,600	40	300	4,000	385	230	88,550	10, 5,000 20,11,000	50,000 220,000		1			11				
			1:	ļ								Ι.			10 7 000 7 7 500	70,000 52,500	1						11:		•
			-	<b>}</b>		70	100	1,000	20	80	1,600				9, 4,500	49,500					11:				-
		1. 1. 1			1:21				-		: :	418	230 350	1,840 146,300		6,000 52,500		-	1.	[:[:]	:	1:1:	2		:
i i	,			į		[:::	l :		l			35		12,250	1		I. I				$\cdot  \cdot $	·   ·   ·	11-	1.1.	1
<u></u>	-		10	-				} <del>-</del>				50		7,500	6 6,000 2 4,000				÷ -			1:1:	2	†: :	: -
		İ	1		:	6	70	420				20 50										:1:1:	2 -	: :	
		·		{		۱ٌ	"	} -20				35		7,700	]	1. 11	1 1	- [		- -	$\cdot  \cdot $	- - -	11.	$ \cdot \cdot $	-
					<del> </del>			}			* - ;	20	170	3,700	3, 6,000 4,7,000	26,000	1	}				]; ;	2	+:+:	:
		1 :				15	90	1,350	۱,	) ). 90	5,330	ı			4 5 6,000					•		: 3	:	: :	:
						'3	1	l	1			100				24,000	li			$ \cdot \cdot $		. [ 4] .	1.	- -	-
				,	<b> </b>	-[5	90	360	10	210	2,100	j			6,7,000	42,000						2	i :		-
				1		١.	1	١	10						2, 3,000	6,000		.		- -	1	1:1:	3.		1
				1		'	60	420	7	120	E40	120	250	30,000	2,7000	14,000	1			- -	$\cdot   \cdot  $		2 -		
					<u> </u>	ļ						50	180		7 5,000 2 5 5,000	35,000 12,500			- ;-	: :	: :		2:		•
					}	10	70	700	20	100	2,000	50	200		3 5 000	15,000		1		- -	$\cdot  \cdot $	1	11	[-[-]	f
	i			1					١,		į	550	240 170					.		: :			2	: :	:
			. ;	1			l,	100	١.,			i					l . j				:	-   -			-1
		1	1		1	1	90	360	30	90	2,700	52	200	10,400	5 8 500		i	. ]	:	. .	.[.]				
			1.		1	1	1		1	1		40 60	170 300	6,800 18,000	9,7,200 10,9,000			:		<u> : :</u>	11		2		:
		İ		İ				1		L.,		30	200	6,000	2,7,000	14,000			انہ	- -	2 .	$\cdot  \cdot $	1.1.	$ \cdot \cdot $	
			Ĭ.,	1		1	1			•		200	200	40,000	6 7,500	45,000		-			1:1			$ \cdot \cdot $	
	ļ	[		1	i		1	l	ĺ		1	1	l			1	]	ţ		. .	$\cdot  \cdot $	.[.].	į.,	[.].	

Table V-4.13 Results of Herders & Farmers Interview: 7.1 Sales of Hide & Skin (1/2)

	041.0			C42T67			23 Cal	t/a	I	14.15		I	04-50	ioal		16 Other	1						710	)lai		· ·
Ġū)	y Price	Arres	Only	Price	Amal	Unity	Pace	Annit	Onty	Price	Amai	Uniy	Pike		Ų1)	Price Amni		21	<b>5</b>   4	ļ <b>5</b>		le Io [7]		911	<u>), i î,</u>	15. Yu
1	1		·	1	·	-	0.000	0.400	20		50,000	6	3 000				11	Ť		Ť	7			7		68
1			,	3.000		l '	8,000	8,000	28) 8	3,000 2,500	84,000 20,000	13 5	1,500	14,300 7,500			$\  \cdot \ $		: :	:	[:		3	. .		106
			l ş	5,000	10,000	11	8,100	89,100	23 20	3,200	73,600	10 30	4,800	48,000 75,000			$ \cdot $	1	٠   ٠	-	-	-	4		j-]	220
				ł I					15	4,000 2,700	80,000 121,560		2,500	1.850			-	$\exists$	: [ :	1:			2	:   :	+-	355 123
	İ		l						20	3.000	60,000	8	1,500	12,000			-	•	١.	-	-	$ \cdot $	•	• •	-	•
			Ιt	500	500	Ī			11;   17;	5,000 3,000	\$5,000 \$1,000	- 2	1,500	3,000		1			: :			:				
	ļ † ;		<u>  1</u>	830	800		3 656	2,000	15 6	3,000	45,000 18,000		800	3,200			I:¦	: :	:   :	1.	ļ.	:		: :	$\ \cdot\ $	<u>.</u>
ļ						l i	2,000 5,000	5,000	15	3,000	45,000	i	1,000	7,000			:		. .		Ľ	$\  \cdot \ $		- -	.	
]			. !	2,000 6,000	2,000 6,000	1	6,000	8,000	10	3,500 3,000	35,000 36,000	6 2	1,500 2,000	9,000 4,000			H	-	: :	1:			•	: -		1
l				2,000	2,000	- 1	8,000	8,000	35	2,500	B7,500	. 2	2,000	4,000				1	. :	:				: :		.
Ī	[ "		1	2,500	2,500	1			10	3,000 4,000	30,000 40,000	1	2,000	2,000		1 1 7		1		1			]	:[:		
									(	2,000	8,000						ŀ	-[		.	$ \cdot $	-	-	. .	1.1	-
ŀ				3,000 1,500	3,000 1,500		7,000 3,000	7,000 3,000	12	3,000	36,000 21,000	8	1,000	8,000 4,500			Ш		: [ :	Ì:	$ \cdot $	<u> :</u>	:1:	: :		:
	Ì		· i	3.500	3,300	····i	7 500	7,000	15	3,000	45,000	š	2 000	10,000	~ * .		H	:   :	†-	1-	†=	-	-		1-1	
	l		,	1,800	1,800	1	6,000 3,700	6,000 3,700	17	5,000 2,500	25,000 42,500	5 5	1,500 1,500	7,500° 7,500				:1:	:1:	1:	:	1:1	:1:	:1:		:
1	<b> </b> -				,,	į.		-,	6	2,000	12,000	5	1,800	9,000	į		-	٠]٠	٠ŀ	ļ٠	$ \cdot $	$ \cdot $	•	٠   ٠	-	-  :
	ł·						9,000	9,000	-13	3,500	45,500 24,000	3	1,500	4,500			1:1	:1:	: :	-	ŀ	<b> </b>	- -	: -	:	
1			!	2,000	2,000			•	11	5,000	55,000	2	2,000	4,000			ŀ	٠.	ŀ	١.	-	$ \cdot $	1	·ŀ	-	-
1			. 1	4,006	4,000	1	4,000	4,000	15 10	4,500 2,500	67,500] 25,000]	15 5	1,500	30,000 7,500	.		$\  \cdot \ $	:[:	: :	1		:	1	1:	$ \cdot $	
	ļ					1	6,000	6,000	11	3,000	33,000 18,000	11	1,000	11,000	ļ			: :	1:	ŀ	Ŀ	$ \cdot $	: 1:	4.	<u>. </u>	·
-									15	3,500 3,500	52,500	11		8,000 28,000			:	]	[]:				1		$\ \cdot\ $	.
				1,500	1,500				30	2.775 2.500	11 100 75,000	5	1,000 800	5,000 8,400				: :	1.			$ \cdot $	: -		-	:
ı				500	,,,,,,,,,,		<u> </u>		11	1,500	49,500	15		33,000				]:		[:			]	]:	].	1
1									9	4,000 4,375	36,000 35,000	. ,	2,000	4,000			ן:֓֡֓֓֓֓֡֓֓֓֡֓֡֜֜	1						T	11	:[
١.	4				7.	1	10,000	19,000	8	3,000	18,000	10	800	8,000			H	-[	. .	ŀ		-		.].	-	-
			5	3,000	5,000 3,000				20; 8	2,000 5,000	56,000 40,000	5	1,500 2,500	9,000 17,500			:		:   :	1:			:   :	:1:		1
1			_i	4.600	€,000				20	3 500	76,000	5	1 000	5,000	7	-	1-1	:†:	1.	ţ٠	-	-	-	- -	1-1	-1
								- 1	10	3,200	32,000] 15,000]	. 4	2,500 1,000	10,000 2,000			I:i		:1:	<b> </b> :				:1:		
1			1 :	l [				*** ***	: -				1.4				ŀŀ	- -	ŀ	ŀ	-	-	- -	٠ ٠		-
	1						9,000	18,000	<del></del>	3,000	24,000	31	3.000	93,000 3,500			H	: :	1	ł÷	H	-:-	#:	#:	╂	:
1			2	300 2,000	630 2,000	2	\$,800	11,600	10	1,800 3,000	7,200 30,000	8			.		H	٠.	-  -	ŀ	$ \cdot $	$ \cdot $	- -	-   -	-	•
			1	1,200	1,200	1	7,000	7,000	"	ļ		:		12,000	i			$\cdot   \cdot$	. .	Į.			1	. :		
	į		2 4	1300	1,500	1	7,000 3,000	7,000	35	3,000 2,500	12,000 87,500	10		7,500 20,000					-	۱. ا	Ŀ	-1	:4:	4:		<u>-                                    </u>
]				1 . 1		1	6,500	6,500	6	4,000	16,000	ž	800	1,600	j			1.		-			-1.	. .		-
	.		5	2,000	4,000	,	7,000	7,000	1	3,500	14,000	3	1,500	4,500				:1:	1:	Ŀ	<u> :</u>		:[:	:1:	-	-
1	ļ		1	3.000	3,000		6,000	6,000		3,500	3,500	1500					Ŀ	<u>. </u> .	:		ا۔ا	Ŀ		.].	Ш	.L
			2	630	1,200	6	2,000 6,000	2,000 36,000	19 - 30	3,000	57,000 93,000	2	2,500	10,000	. }			:[:		[:	:					:
,	•		1	4,000	15,000	2	\$ 500	11,000	8,	1,000	32,000	: ]			٠,	.	$ \cdot $	$\cdot   \cdot$	ŀ	-	$ \cdot $	-		: [ -		-
				300	900		5,000 5,000	5,000	1	2,500	2,590		500 2,000	8,000 8,000	-					:	.					.
			. 5	500	1,000	2	1,200 1,500	2,400 4,500	5	3,500 3,500	17,500] 7,000	. 3	1,000 2,000	3,000 4,000				• •	1	-	[:]	-	-13	1.	-	┪┈┈
1		193	• •	3 000	12,000	2	4,000	8,000	13	1,000	13,000	9		7.200			1.	. .	. .	-	$ \cdot $			. .		-1
}	-		1	1,500	1,500	2 2	6,700 6,000	13,400 12,000	37	2,000	8,000 42,500							: :	: :	1:	:	:	:[:	1:		-
1			1				2,000	2,000	3	1,300	7,500]		200	850					-	F	1	1	1	: :		
			1	1,500	1,500	1	7,000 4,000	7,000 4,000	5 15	4,000	20,000 40,000	7		3,500				:1:	: :	1:	[:		1	1:		:
						!	4,000 5,000	4,000 5,000	7	2,500	17,500		F.A.			1	$ \cdot $	$\cdot   \cdot$	1.	ŀ	$ \cdot $	-	-[-	٠ ٠	-	-
1	<del> </del>						7.500	4,500	5	1,500 2,700	28,500 13,500	10	500	5,000			-	: :	1:	<del> </del>	-	+	: -:	. .	-	:
			12	350	4.200	1 1	3,000 5,000	3,000 12,000	50 95	3,200	160,000 261,250	10	500	5,000			$ \cdot $	$\cdot   \cdot$	١.	•	$ \cdot $		- -	1.		•
1			'ί	2 000	2,000	2	6,000	12,000	6	2 000	12,000	2	1,200	2,490				$\cdot   \cdot$		:			1	$\cdot   \cdot  $		.
	<u> </u>					2	5,000 7,000	10,000	5	3,000 2,000	15,000 6,000	2	500	1,000			:		1:	1:			:[:	1:	:	:
١.	!		1.0	1,200	1 200	2	7,000	14,000	10	4,200	42,000	2	2,830	5,600	i			. :	1.	۱:			-[:	$\cdot   \cdot$	1.	-
			-1	1,500	1,500	1	4,700 7,000	4,700 7,000	2	2,800	5,800	11		1			[:[	: :	1:	1:			:1:	: :		:
il .	L 70.3		<u>1</u>	200	200		7,500	15,000	12	1,500	18,000		330	300	.			$\cdot 1$	1				1	.[.	• i	.
1	000	1,600	] : }	7,500 7,500	7,500 7,500	. 1	5,000	5,000	8	3,500 3,600	17,500 30,400	1		1,000 4,500			[:[			1.		:	:			
ı				1 1	:		5,000	35,000	25		75,000	12					$ \cdot $	-[-	1-	۱.	-	٠	-	$\cdot   \cdot$	-	-
	-		; 2	1,500 1,250	3,000 1,250	2	6,000 4,500	6,000 9,000	10	5,000	50,000						[:]	:[:	: :	1:				: :	:	1
1	1			3 000	3,000	5	8 000	16,000	9	3,500	\$1,500						:	•	†-	1	1	•	- 1	-	<b>⊥</b> I	
			2	2,500	5,000	2	2,500 4,200	2,500 8,400	15	2,000 3,600	6,000 54,000	10	300	3,000			:	1		1:			1	: :	:	:
			3	3,000	9,000	1	7,000	7,000	10	3,500	35,000	`2		1,000			H	1	١.	-	-	ŀĺ	•	$\cdot   \cdot$	-	.
			[: <del>-</del> ]	4,000	4,000				<u>-5</u>	2,000 3,000	10,000 135,000	22	2,000	17,000			:	: :	: :	1:	-	:	:	: :		:
	1.			٠	9.444		.		20	4,000	80,000	10	2,000	20,000			$\left  \cdot \right $	-1-	٠Į٠	ŀ	-	-	٠1٠	٠,	-	-
	1	t '	1 1	2,000	2,000	ı	: 1		40 16	2,500 2,000	100,000 32,000	10	1 500 3 000	15,000 24,000	- 1		ı٠i	٠.	٠1٠	٠.		ı • 1	-1.		J - I	٠l

Table V-4.13 Results of Herders & Farmers Interview: 7.1 Sales of Hide & Skin (2/2)

		amel		वश्र			14-3 Çat		ļ	04.5		<b>X</b> :0-	(4.24			460		ļ				<b>&gt;</b> 11		Tot	<b>3</b> 1	·	
Qni y	Price	Amnt	Onty	Price	Amot	Qnry	Frice	Amnt	Only	Price	Amnt	Only	Price	Amai	hig	Price	<b>₩</b> III	hī	ž	3   1	T 5	Sak		9 [	710	H	Α. (Σ
		1	-	1					12		24,000	18	700	11,200				Ħ	Ť	-	+	1	1	-	Ť		-
	:					,	8,000	8,000	10 15		30,000 45,000	20 10	1,000 2,000					:		: :	1:						:
1	i	!				3	5,000	15,000			90,000	20	1,000	20,000	ĺ.			-		٠   ٠	-	-	-]	٠   -	-	-	- j
				~ ***					10		30,000	50	900	18,000		<u> </u>		Ŀļ	•	<u>: :</u>	<u>:</u> :	-	- -	1:		+	
			;		2,000 2,500				5	3.000	15,000 15,000	10	2,000 2,000	20,000						. [ .		-	1				.)
		!	Į į		2,000	2		10,000	15	2,500	37,500	20	2,000	40,000				-	-	٠.		-	-	٠.			- [
:	:	1	۱,	3,000	3,000	' '	5 000	5,000	30		135,000 12,500	30	2,500 1,500	75,000 6,000								۱.۱			1:		-
	350	150		3,000	3,000	<u>  —</u> ,	5,000	5,000	20	1,000	80,000	16	2,500	43,000	! '			1-1	-†			-	1	١.	1	-	•
			2	600	1,200	1	2,000	8,900	20	3,000 3,000	60,000 15,000	25 10	2,000	50,000 25,000						: :				: :	1:		:
	Į	1	]						10		45,000		3,000		!			-			-	.	-				-
	ļ 		2	500	1,000	3	2 500	7,500	10		30,000	13	2,000	26,000	ļ				•	: :	-	:	- 1	:			: i
									6	4,000 3,000	72,000 18,000	8	2,000				1	].	.]		-	-			١.		-
			ŀ		1.0				20	4,000	80,000	10	1,800	13,000			1.	•	4	- -	-	•		٠.	1.	- [	٠Į
		i ·	l						16 20		48,000 60,000	- 5 15	1,500	7,500 22,500	ĺ		4.			:1:							-1
		÷ :							_ · · · · 6	2 000	T6,000	۳-	1,800	T2,600		<b>i</b>		1-1	:	-1-	1	-1	-1	:   ;	-		-
		1							40	2,000	80,000	8	500	3,000	i	i		1:1		: :	1:						[]
			l			٠,	1,500	1,500			20,000	6	500	3,000			1.5	1-1		$\cdot   \cdot$	[:	$[\cdot]$	+	- -	-	$ \cdot $	·
	¦	ļ	J	ļ		 	900		25		44,000 30,000	6	500						-	: :	1:	:	4	: :	1:1	- -	:
	[	1		}		2	1,500	1,800 3,000		2,000	30,000	ľ			1			$ \cdot $		. :			-[	٠ ٠			-
1			I						- 14		42,000	8	500 800	4,000 1,600			- :	1:1	:1	: :			1	:   :	[:	:	:
1	ŀ		I	İ		] 3	6,000	18,000	26	2 500 3 000	5,000 78,000	2 6	500	3,000	ı¦	Ιİ	1	[:]	-	. [.			]			$ \cdot $	.
1	 		l	1	1	· <u>`</u>			9	2,500	22,500	2	600	1,200		[ ]		[=]	-		[	П	1	1-			.[ _
1 . 1			I			l			15 8		45,000 20,000	3	800 500			i							-1	, :		[.]	.
	į		1					1 .	10	2,800	28,000	]		1 1	i			$ \cdot $	٠	$\cdot   \cdot$	-	$ \cdot $		$\cdot   \cdot$	$ \cdot $	$ \cdot $	:
				650	650				15	2.500 3.000	17,500 45,000		500 1,200				·	<del>  ;</del>	-		-	-	:	+	-		:
			Ι ΄	1 000	0.0		/	100	9	2,500	22,500							$ \cdot $	٠	$\cdot   \cdot$	-	$ \cdot $	-	١.	[-	1	∙
				1					,	600	4,200				1												]
	1		L 1	2,000	2,000		1		12		24,000	7	1,000	7,000				ĿÌ	•	1.	-	$[\cdot]$	1		•	$ \cdot $	·i
	-		1	\$,000	5,000				10	2 000 3 000	20,000 15,000	5	1,000	5,000	i		. 7			: :			$\mathbf{I}$			:	:
			1	3,500	3,500				15	<b>)- 1500</b>	49,000	10	-1800					$\left  \cdot \right $		$\cdot   \cdot$	-	$ \cdot $	-[	٠ -	1.	$ \cdot $	-
1	1	1	I : 1	7,000	7,000	2	10,000	20,000		4,000	64,000	4	2,000	8,000	1			:	*	$\cdot   \cdot$	1		1	$\ \cdot\ $		:	:
			ļ <sub>1</sub>	1,200	1,200	2	1,800	3,600	- 21	2,400	50,400		1,000	1,000	ļ			:	+	+	1-	╁┼	1	.   :	1:	┟┼	1-
1			l '	``		i `			50	3,000	60,000				1:	]		$ \cdot $		- -		$\left[ \cdot \right]$	1	•   •		$ \cdot $	:
				'		l			14	2 300	32 200	. 3	1,000	3,000	ή:		1					:					-
l	L	t i Amerikan	1	500	500	2	7,000	14,000			7.200	1 1	700					<b> </b> :	- !	- .			- 1		1:		-
			ļ,	3.000	3,000	١.	8,000	8,000	19		7, <b>6</b> 00 57, <b>0</b> 00	5	600 1,800				1 - 1					:		: :			.
1	1		1 :	2,000	2,000	Ι .	1.500	5,500	1	5,500	5.500	2	1,500	3,000	),		1 1	H	+	- -	1.	-		١.	•	-	
			1	2,000	2,000				,,9	3,000 4,500	27,000 43,500	1	1,000	4,000	" : `							1:1		: :			.
					ļ		·		- 10	4,000	45,000		<u> </u>			<b>t</b>		H	-	-	1-	1.1	7	-   -	1:	-	-1
]				1 .		l		- 1	21		7,000 52,500		500	1,000		[	: .	[:			1:	:		:1:			] :
						1	30,000	30,000		1,500	6 000	l '	3.0	""	1				-	-	ŀ	$ \cdot $		-   -		-	•
1		<b> </b>		- B 16.62					20	3,500	70,000 30,000		724	8,000	J	<b> </b>			-	: :	:	:	: .	1			:
			:	2.000 1.450		1			15		30,000		1,000 300						-	$\cdot  $	١.	1.		. [ .	1.	$ \cdot $	-
			1						10	2 500	25,000	1								:1:	1	$\ \cdot\ $	:	1	1:	1:1	:
			1	1,000	4,000	'	8.900	8,000	3	\$,000 	15,000	١,	2,000						- [	1	. :			. :	1.		-
	f	1	1	1	1		2,550	2,590			13,000	1				1				1	1				1		:[
			1	1 .		١,	1,500	10,500	10	3,000 2,500	21,000 25,000			1	1					:[:	. :	:			[:		
1	1		1	1		'	1,550	""	8								}	-	-	•	. -	$ \cdot $	-	- -	ŀ	-	-
	1								50	2,000	100,000		2,000	8,000	<u>,                                    </u>	<b>├</b>	<u></u> -	1:		: :	1:	:		:   :	H	:	]:
1	1	Ì	1 - 3	3,000	6,000			9,000	1 9	(3,000	27,000	3						$ \cdot $	-	- -	۱.	$ \cdot $	- [	- -	1	$ \cdot $	-
2]			1 .		1			800		3,000 3,000	30,000 27,000		:		1:		· ·	:		:[:	1	:	-	:[:	1		
	!			2 4 000	8,000		2 000		) i	2,500	12 500	1	1.000	1,900				$ \cdot $		.].	. .	].				ł - I	
	1	1		1			5		7 72	5,000	10,000				1			[]	:		i	П	:[				.  `
			1	1 2,000	2,000		5,000	15,000	Ĭ 2			3	2,000	6.44	Ί			$ \cdot $	.	• ;	. .	$ \cdot $		.   .		$\left  \cdot \right $	
			1	1,300	1,300	1			1 . "				} ;			j: I		$ \cdot $	$ \cdot $	- }	١.	$ \cdot $	$ \cdot $	٠١,	•	$ \cdot $	1
	ļ	·	ļ			3	1,500	2,000	J -11	2,000	55,000			<del> </del>					:	:	:   :			1	ŕ	-	-   :
И	1	1	1		!	1	i	1 :	25	6,000	150,000	1				:		$ \cdot $	-	-	١.	$ \cdot $	-	٠	•		1
) <b>2</b>				1 0,000	8,000	1	10,000 2, 9,000						5,000 3,000			[: -]		[:]		1	: :			:   :	:	:	1
Š.		1	1				1, 7,000	28,000	o[ ˈt∢	6,000	60,000	5	5.000	25,000	)			ŀ	ŀ	$\cdot  $	٠ [ .						
35	1	1	1	1	1	1	1,11,000	41,00	N 13	6,500	97,500	5	5 000	25,000	)	[ ]			1	:[	: :	•			!	$\  \ $	:
×	Ĺ	1	1		1	1	9,500	9,500	'i 13	I) 4,500 1	` 58,500 I	} 2	3,000	6,000	'n	1	١.	1			1.		] [		. 1 .	Ш	.1

Table V-4.14 Results of Herders & Farmers Interview:7.1 Sales to Dairy Products (1/2)

05-	1. Carri	el (m/k)	65.2	Horse N	deat (milit)	05-3	Cattle	deal (milk)	05.2	Sheed	ducts (milit d Meat (milit)	1 65	5 Gcal I	deat (mik)	1 05 A	Other A	nimai (milk)	1	5-7 Yet	(mar
		Anni	Onty	Price	Aeat (mičk) Amnt	Only	Price	Ame	Ony	Price	Weat (milk) Amnt	Cory	Price	Āmi	Only	Price	Annt		Price	
		······································			:	ļi			-		<u> </u>	-	†	<del> </del>					-	
		0			0								-	0			0			
		0			0					† · !	1 6			0			0			
		0			0			0						. 0			0			
								0						i 0			0			
		0			0			0			i		1	0		,	ŏ			
		0			0			0			0	j	<del> </del>	0	4		0			
		0			0			: 0			0	1		0	1		0	ŀ		
		6			¢	-i		Ċ		. i				ö			ŏ			
į		: 0			0			0			0			0	Ì :		0			
		<u>-</u> 8			0			0			0	İ	ļ	, o	] :.		0			·
		0			0			- 0			6			, o	r .		0			
		. 0 0 0			0 0						0	<b>.</b>	<b></b>	0			0			ļ 
,		0			0			0			0			o o			0			
		0 0 0			0			Č	ļ.;i	;	0	<u>.</u>		0			0	<u> </u>		
		0			0			6			0	:		0			0			÷ :
		0			0			0			0			, o	: .		0			
		0		:	0			0			900	l :-'		0			0	 		-
		. 0			0			ŏ			0			0			: 0	:	1 	
		0			0	: ]		0			0	1: .		C O	-		0		7	
		0			0		.	50.000 0			29,000			0	:	,	0 0			1
		0	600	250 150	375,000 90,000	1350	160	135,000 30,000			0			0			0			•
V		0			0			0		.	0			900	1	: :	0			
		0			0	147		00			Ò		:	0			ŏ			
	.	0			0			30,000 0			0			000	1		0			
Ì					0		j	0	1:		ŏ	i .	;—	0			0 0		** ***-	
	.	0 0 0	ļ	.	0 0			0			0 0 0		.: " .	. 0	:		0			
		000			0			0			0			0			176,800 0			<del></del> -
		0	•		0		Ì	0			0			0			0			
	<del>-</del>	- 0 0			ò			950,000			0 0 0			0			35 2 40 0			- 15
		0			0			0			0	7	. :	0			0			
		0	+ ;		0			0			0	:					0			
		0			0	:		0		: 4	0 0 0			0			568,800 317,100 6			
		0			0					·	0			0 0			Ç			
		0			0			0		1	0			0 0			0	İ		
					0			<u>.</u>			0			0			0			
		0		.	C C			0			0	. ,		0			G		·	
		0			0	. [	1		· į	•	0	į	i	0	1		0 0			

Table V-4.14 Results of Herders & Farmers Interview:7.1 Sales to Dairy Products (2/2)

7.5	1 Came	l (milk)	05.7	Hores L	eal (mile)	05.7	Cattle N	eat (m2k)	05-4	Sheep !	real (mix)	05-5	Goal k	eal (mik)	05-6	Other Ar	nimal (mčk)	7	5-7 You	l mi
Only	Price	Arrot	Only	Price	leat (milk) Amot	Only	Price	.1-5 Sales o eat (π⊉k) Amei	Onty	Price	Amet	Only	Price	Amot	Onty	Price	Amol	Onty	Price	1
			<del> </del>			<b> </b>		7		<del>                                     </del>		<u> </u>					<u>8</u>	_		
		0	1		0			0	ļ			: 1	•	0	1		0	1		
į		. 0	1		0	1		0			i (			0	1	1	0			
					č		l;	· · · ŏ					i	į	1	1 1				ļ
		0	:		. 0			. 0					1	. 0			0	Ì		
		Ŏ		j	0	1		0				3		0	1		0			ĺ
		·ŏ			· · · · · · · · · · · · · · · · · · ·			ŏ				}				ļ <u>-</u>	jŏ			· · ·
		. 0	1		0			0						"	1		: 0			l
		Ö			0			0					1	. 0	Ì		0		:	
					·			···ŏ		1		)	1	Ò		1				†
		0	1	i	0			0					ļ	0			0	1		
		0			0	•		0			. 1	D D					0			
		O .	1		<u>-</u>		- :	, g	;			·		j	-	· · · · · ·	Ò	1777		
		G						0			1						0	1		١.
		0	1		0			0						0			0	1		
	<u> </u>	···ŏ	l	ļ		·		č						1			<u>ŏ</u>	1		
		0						0									.0			
		0					•	. 0	1		;	3		1 0			;0			
		č			}			Ŏ		ļ			} `- 	; <u>j</u>	1	T	Ŏ	1		1
		0	1	į ·				0		1		0				1:	244,800	1		
		0	}		: - {	) 		0		1				. 0		1 :	0			
	, .						:-	Ō		·		b		9		1	0	1		-
1 .		0	<u> </u>					0	1	1		0	]				Ò			
		0	) .		(			0				0 0		3						
		<u>6</u>		1		}	1	) o		1		0		9	2		0			1
		0						ŏ				ŏ		}	3		Č		1	
					. (	)		0				0			3		0			
			)			)	1	Ŏ		1		Ċ	1		3		0			
,	1			1				Ŏ	1:			ŏ				"	Ì			
				11				. 0				0	Ì	7	3	: .				1.
7777		7	300	200	60,000	5000	70	182,000 140,000				0			)	1				
		Č	{			1						Ŏ					Ċ			
٠,		. (	3			2	800	1,600				0		1 3	3			1	l	
		3	}					0				0								
			}					44,000				0		1 :	2			)		1
			íl			2000	100	200,000				0			<u></u>		<u> </u>			
						2000	70	140,000   0			1 :	0 :			9		6			
		(						0				0	ļ			ĺ	8			1
		(					ļ		1			C			1	1	ļ	·		
						1000		\$5,000	1.			0		] (		]	1			
			0			1500	1	į (				0 :-				1				
	Į	. (	š		l	0 1000 1000		75,000				0			3				ļ	
	ĺ	(	0		1. 1.1	2000	70	140,000	)			Q]	1 : .	j., (		•	(	1		
	İ					2500 2000	70					0] 0		1 . (						
		) (	Ŏ	<b>]</b>	[ (	2000	60		)	ļ		0	ļ <del>;</del>	(		1	- {			
ŀ	]		0			C .	1	į (	)	ļ:		0		1	)	•		1		:
	1		0			0 0 3000	26	210,000				0	1			}		1		
		- 11	0	J,		6 2000	) 80	160,000	)		1	0		1 (			. (			
	1	1	0] [	150		0	, <sup>80</sup>	. (	)	1		0		1 1	0	•	1	)		Ì
			0			0		(				0			0	Ì		2		1
		į <del>(</del>	0			ò	   623	1 6		ļ		0	ļ	1 . 1			(	3		
			0		[ (	0	( °<3	(	)	İ	1	٥			D	i	(			
2			0	1		0	1					0	İ		0	]		)		
4 5	ļ		č	ļ	1 1	0	ļ							1 (	0	.]	1 (			ļ.,
,	1	1	0	1		0	1			1		0				i	•	Ś		

Table V-4.15 Results of Herders & Farmers Interview: 7.3 Other Income (1/2)

		aies		2. W.	335	!	3. Tremit	Hlá∩c	[ 4	Loan &	Credit	5 Persi	ng & Insui	rance		6. Other in	L 17K	1
What	1. Other 5 Amol	Remark	What	Amol	Remark	What	Annt	Remark	What	Amni	Remark	What	Amnt	I Remark	What	Amnt	Remark	1
									1		1	Г <sup></sup> -	119,520	wie:Tg4				1
						]					ŧ	l	68,800	wife	i			<b>I</b> ⁴
								1				l	127 200	wife:5800	]		<u> </u>	10
1												I	1			-		ı
j j						[		† ···	!					husband	]			
] [			[			<b> </b>			:			I	85,080	husband (	1	!		l (
]:	.:						.				:	1	į	1	ı			1
					-		10,000	! !	;			I	60,000	parents	ĺ		1	L
i		· · :::=•									·	ĺ	43,000	1		35,000	marmois	113
				,		1			1					wife:4000				
1 1				1								husband		wife.4200			masmot	] 1!
1 1	3 3													sold a ma wore:4200			driver for t marmot si	3(
			\		,					:			1247400	1000.150		15,000	Individue 3	ì
!			l · I			ı							120,000	5000,500	Ó		1	12
					. :	-			H			ŀ		1				]
1												1 : -	3.7	1		25,000	masmot s	1
<b>} }</b>			} <b> </b>		<u> </u>						ļ		<u> </u>			- 86 665	fur 10 x 80	[
		17		1.1	1	:							86,400	grandfath	ı	50,000	TOT IVE OF	1
	: 1											:		]	1			1
		1	[ : ]								ļ				1		1	1.
ļ., <b>l</b>		<u>-</u>		30,000	2500 x 12	-:			[—]	·	L		81,500	6800x12	ļ · -			
												1	156 000	  wite:6000	]	1.5		1
		. 1													1		1	l '
I	-	1				:						l · · ·					†	1
11			<del>-</del>			12			[	المحتسحة			48,000	4000 x 12		·	ļ	:
								1.1			'		67,200	5100 x 12 mother, 7				1
	1 %												130,000	, moules, /	1		]	l '
1		•								. "		:						1
11			[ <u>]</u>			]			الله ا		[·.	ļ		1	·		ļ <u></u>	١. ـ
1 -1			[ ]											1			1	1
		1			1 1	.						1 .	39.000	mother			1 / 14	۱,
	1	1						100			· ·		48,000		1		1	}
		1			/  /	l. 3						l	l	l	l	1.2	1:	1
		1						3.7		-					J		1	1
		Ì										1	36,000	3000 x 12	1		.	;
		j :											4.5					1
							75,000	} . ∤	]		7.7			1	l i			
11		!	1			]	20,000					[		1	l			1
	150,000				1		200 000			:	1		142,800		I		j -	2
						1	350,000 300,000	i :						1 4	l	.:		3:
		İ	]		į	1	, 500,000	1 :	1				84,000		I			"
1	80,000		1 -	358,430	(19800 + 990	<b>(</b>	175,000	•:	1		l	1		· · · · · · · ·	1			6
		1				[ ]					1 1		00.555					
-							55,000 80,000		]	:	1.00		80,592					1
	1	1				[	200,000	f		:		1	1.800	į Childrens	ı	i		l a
		1	[		1	[	50,000		† †				72,000		1		1 7 7	137
								1			1	1	192,000		1	•		19
	1 1	1 : 1									l .		404 844	1	1:	l ·	1	۱.
					]	1			1: 1			l ·	124,800		1	1	]	11
11			]	1	· · · · · · · · · · · · · · · · · · ·		50,000	\$			ļ- <del></del>	I	108,000	<u> </u>	]	,+	[	Hi
! !					ì	1	5,000				1. 1	1	120,000			·	•	Ιi
		· ·	1	176,558		1	50,000					1		Ι .	1	<b>]</b> .		2
		1	1 .	72,000	i .	1	70,000 100,000	ı					}		1	!		1
				140,000			60,000					1		ł.—			l	ż
1 1		ļ ;		2,000	j	1 .	55,000	i			:	I	54,000	) <mark>;</mark>	1	1	1	[ 1
]		1		179 160		1	150,000							1	1	1	1	3
1			1 .			1	60,000					1 :	96,000		i	1	10 H	
			1:0	ļ			30,000	. خبُد			·		72,000 144,000					1
		1		919,511		1	10,000		1		:		145,000		1	1	1 1	10
1.			1:	120,000		1	40,000					1			1	. :	1. 3	1 1
1	<b>!</b>			96,000		1	30,000		I						1 .	15,000	made son	1
	122			222.434		j	EA KAS	ļ	i			1	50,000		1			1 :
	1		1	414,000	1		50,000 164,000								1			1
			:			1/	32,000		l i				1 1	1 : **	1	[ ·		'
i			Ι΄	į	1 11	1.	5,000	1	1			1	1	'	1			1
1		1		1		1	15,000		1				105,000	1	:	ļ	l :	1.1
	"		[· ]	}			!	1		``	I	1 :	100.00		1	7000	]	
	1		1	1	1		150,000	ļ	1			1.0	108,000	4	1	28,000	<b>'i</b>	
			1	1		1	,w	1 :	1		i i	1	1	i	1		1	Ι'
	!	]	1	120,000	1	1	80,000	1	1			1		1	1	1	l	2
	1		1			1	20,000		1		1		1		1	10,000		1
	}		1	i		1.	34,000	]	1			1		1	1	1	1	1
		1 .	1	ŧ	1	1	80,000		1	ł	I	1	1	1	1	1	1	۱,

Table V-4.15 Results of Herders & Farmers Interview: 7.3 Other Income (2/2)

	1. Other	Sales	s 1	····	2. W:	306	T	3. Tremm	itanc	J. 21	Income Lloan &	Cre St Remark	5. Pensi	on & Insur	ance	I	6. Other in	come	10
What	Amot	R	en sik	What	Anna	Ramark	What	Amri	Remark	What	Amot	Remark	What	Array	Remark	What	Anni	Remark	A
		!	ı															İ	
	1	į	l	1	200,000	0.6% of the re						1		l			<u> </u>		200
	l	1		ļļ												į.	ļ		
		.		· <del> </del>						. ,			· · · · · · · · · · · · · · · · · · ·	63,200			ł		- 6:
		}	- 1													l		ļ	
	1		- 1													i .	i		1
	ĺ	1	- 1	ll						l. !				1					
		Ì												1		1	I	Ī · · · · · · · · · · · · · · · · · · ·	
	l	ļ		.											1 1		İ	ł	١,
	l	ì				j								1		ļ .	ļ :		
	l	<u> </u>				<u> </u>	l		<u>.</u>					l		in and the			
.,		1												105,000				. : '	10
	· ·	ļ		Ιİ					4							l		1 1 1 1 1	•
	l				٠.				4										١.
	L	. ļ				l				i		ļ	<u> </u>	<b> </b>	<del> ,</del>				
		ĺ		li		-					le : i					1	:		
										1			1	1					
			ł				l '	•					1				1		i .
<u>.</u>	ļ	.   _				ļ					l		<del> </del>	ļ <u>-</u>		l			l
	.	-		]	-	ł .					'	:			2.5		l	'	١.
	l '		-			1	l	!	ĺ					48,000	i	l .		'	44
								1				l		78,000			l		78
	<del> </del>	+-		<del>  </del>				<del>-</del>	<u>                                     </u>					120,000			t		18
	ļ											į į				ľ	İ.		I
								100							:		1	ļ .	١.
	1			.						:		<u>_</u>		1			L		
٠.		-1	25			l			Ī		· · · · · · ·	]		1	]	-			
54	1						'			-	100	l			:				ľ
11					80,000		; ;				:	1	. :	1 2					,84
		. _	العاملا	Į., į		ļ:			I	[	<u></u>			ļ		.,	l	L	1
	20,00	o¦										1	, .						20
	1	ì				l			1:				:	108,000		•		:	100
		1								1		1 4 4	I	48,000				!	-44
	ļ	4							ļ. ———	<u> </u>		ļ		42,000	L		ļ		- 7
:		-			48,000	!	1	: .	1	1	}			1 -2.500	l	·	1		- 48
. :	' : '	1		:	-,	ļ				1:		}			l '		48,000	ពាងការាង	48
		1.	:			<u>.</u>				1:				84,000 58,248	•	1	1		84 54
<u></u>	ļ							· <del>-</del>	ļ				1	48,000		ļ·	<u> </u>	·	44
1.			11.		i i			· ·		1	l ·	1		192,000	]				193
	,					1			}	1:	1 4 4			1,000		1			160
						1			l	1						l. '	l.		
		-	- <del></del>			1	1		1	1			1	144,000				[:	11
2					١,	1		1	1			1.		132,000 62,400			100,000	94n' 1 2	134 164
				l. '			:	:	1.	1			I.	102,500			1	i .	ľ
ľ		: [	1	l. !	1: 1:	<u> </u>		L	L	1_	1	]		L			1		1
	I	-1		[ ]	[		1_			1	1		1			:	24,000	ļ	2.
	1	1	-	1		!			l	1.		į .		115,200	1	1	,	-	111
·	ļ:			1	2,000	1	1				:	1	1	i	1 .	1		ĺ	
	ļ:	.		ļ		1					1-2	ļ		129,600	i	1			12
							1			1		Ì		1	!		1		1
	1			1	}	1	1		1	1			1						١.
١.		1		1	j ·	li i	1	1					1	75,600		1	50,000	l	7; 54
ļ				-:								i		1	1		30,000	f	-
	1	1			/				1	1			l '	1 .	1	1 .	1	1	1
		ı					1		1 : -	1			1			1.	1		1
ľ		1		1	1		100		- ;	1				1			İ	1 / 1	8
	1			1	100,000	,	1	1	t	1-	1	rent.		45,000	+		1	in state	14
					]		1.			1	}			93,600	2 persons			1 5	9
:	1	1		1	İ			1	1 1	1:		1	1	110,000	J. J.	ļ		]	<b>616</b>
		-		1	1					1				1,700%	1.		300,000	į. laik	30
1	1			1	130,000	) <del></del>		1		1 -	1	1	1	1			[		13
				1	1	1	1		1 .	1	1	, ,	1 ***	45,000	1		ļ		4
				1		1	1		1	ı	i		1				•		
	1 .								' '	1	1		1	1			1	1	1_
<b>†</b>	20,00			1		1	1	Ĭ	1	1		1	1		1	1	1	1	13
ĺ	5,600,00			1	1,240,000	<b>}</b> i	1	150,000		1	1		1	45,000	Į	1			7.03
)	Ì				600,000	Ί	1		!	1	1	1	I	1	1	1			1
í	}	-		ĺ	190,000	) <mark>.</mark>	1	100,000				1			l	1		ļ	29
	1	-1-			190,000	)	1	100,000		1	1	1	1	I		1			30
<b>5</b>	i	ł		1	em.m	,l	1	100,000	Į,	1	1	F	ł		1	1		ļ	70 48
		- 1		1	600,000 420,000	<b>1</b>	1	1,00,000	<b>'</b>	1	1	1	í	68,400	Į.	1.	1	i	1

Table V-4.16 Results of Herders & Farmers Interview: 7.4.1 Expenditure (1/2)

1				avie	y -	4, 1		lesu					TATHE	me Ex	cença	ure .				in i					<u> </u>			
. [	wit,	qriy	price	amni	บกัส		2. Rice price	amre	ωž		çvice		(M) g		pialor price	amai	ιάξ	05. V qrvi y	egetab price	es amnt	ยักสิ		ocking price		oral		7. Salt price	amna knma
	_					<u> </u>			_								L.				<u> </u>	<u> </u>	ļ		$\vdash$			
N-01 N-02 N-03	kg kg kg	350 500 425		84,000 145,000 110,500	kg kg	100 250 100	580 450	45,000 95,000 45,000	kg •	10	320 280	3,200 2,600		•			kg	3	450	1,350	:				kg kg	80 40	80 50 · 60	8,400 2,200
N 04 N 05 N 06 N 07	kg kg	5000 600 750 250	260	250,000 156,000 210,000 65,000	kg kg kg	100 100 140 100	380 380 580 450	38,000 38,000 53,200 45,000	kg.	40 70	260 310	11,200 21,700	kg	10 70 50 5		1,200 11,200 10,500 1,100	kg kg	52 10 1	130 400 600	6,760 4,000 600	· •	3	2,000	6,000	kg kg	70 30 10	36 70	2,500 2,100 1,300
	kg kg kg	600 295 325	280 260 260	168,000 76,700 84,500	ę, kg	25 100	250 420	6,250 42,000	kg kg	5	365	1 825	kg ·				kg	2	390	600	•	-   -   -		-	kg kg kg	50 50		7,500 10,000
N-12 N-13	kg kg kg	450 6000 600	300 260	117,000 180,000 156,000	kg kg kg	2 100 50	420 400 400	42,000 40,000 20,000	kg				kg		•	•						:	:	-	kg	30	150	6,50
N-14 N-15 N-16 N-17	kg kg kg	600 600 525 400	260	168,000 156,000 136,500 106,000	999	100 300 84 80	400 400 400 450	40,000 120,000 33,600 38,400	•	-			•	•		·	: ::-:				-	ļ.:.			kg kg	48 36	110 110	5.28 3.96
N-18 N-19 N-20	kg kg kg	140 300 250	260 280 260	36,400 84,000 65,000	kg kg kg	5 25 50	400 400 380	2,000 10,000 19,000	•					•		:	· ·						:		kg kg kg	10 35 35	100 80	10,00 2,80 4,90
N-21 N-22 N-23 N-24	kg kg kg	600 395 400 375	260	156,000 102,700 104,000 97,500	kg kg	25 20 10 30	450 450 500 530	33,750 9,000 5,000 1,590	kg kg	20	250	5,000	kg	5		10,000								-	kg kg kg kg	35 50 35 14	100 60 100	3,500 3,000 3,500 1,400
N-25 N-26 N-27	kg kg	240 225 1000	250 250 250	60,000 58,250 250,000	14 14 14	50 20 150	305 550 480	18,300 11,000 72,000	ķq	10	300	3,000	•				-					<u>-</u> -	<del></del>		kg kg	35 50	100	3,50 8,00
N-28 N-29 N-30 N-31	2222	676 170 600 360	270 250 260	180,900 42,500 156,000 93,600	kg kg	350 50 10	500 500 500	157,500 25,000 4,300 2,000	kg :	35	350	12,250	:				: 								kg kg kg	50 35 10	80	7,000 2,800 700
N-32 N-33 N-34	222	400 420 600	230 270	100,000 105,000 162,000	kg kg kg	25 140	400 500	19,000 <b>70</b> ,000	kg	:	-		-			•					:		:		kg kg kg	60 35 70 50	50 30	3,000 1,050 10,000
N-35 N-36 N-37 N-38	kg kg ko	400 300 600 400	250		kj	75 20 35	380 380 500	28,500 7,600 17,500					-					:							ig ig ig ig	35 70	40 40	1,50 1,40 2,80
N-39 N-40 N-41 N-42	k) k)	750 450 475	280 250 250	210,000 112,500 118,750	M N N	150 130	500 430		ka		-		-			•	-		-,-		_	-	-		kş ko	70	100 43 200	5,00 3,00
N-43 N-44 Lk-01	kg kg kg	540 250 400	260 260	122,000	k)	100 20	420 360	42,000 7,200	<b>a</b> g	40		19,400		•		-									kg kg	25 36	200	5,00 3,60
UL 60 UL 64 UL 65	kg	200 340 420 300		74,000 102,400 126,000 96,000	kg	24 50 60 20		10,800 25,000 27,000 11,000		20 60 20		7,600 21,600 760	kġ	10		800	:								ka	12 25 24 12		2,16 3,75 4,32 1,20
(1.06 (T.07 (1.08 (1.09	kg kg	700 1200 300 600		245,000 360,000 96,000 122,000	*g	96 50 40		43,200 20,000 22,000	<u>1</u> 1	130 30 20		43,000 9,000 9,000		100 25		8,000 4,500	÷	50		5,000		:			kg	15 24 24		2,25 3,13 4,32
LK-10 LK-11 LK-12		450 400 200		135,000 12,000 50,000	kg kg	62 15 40 60	:	34,100 6,900 18,490 30,000	ko	10 76	<del>-</del>	3 800 21 000		70		11,200		20		5,900		:   :		 	kg kg	36 25 36 12		5,40 4,20 5,70 1,20
Lk-13 Lk-14 Lk-15 Lk-16	kg kg	480 250 366 300		87,500 146,400 120,000	kg kg	40 60 24 20		22,000 30,000 12,000 10,400	ļķ	20		7 600 7 600 7 600	ko	30		2,400	kg	10		1,800		:			kg kg kg kg	24 12 15 30		3,84 1,80 2,25 4,50
(K-17 Lk-18 (k-19	ký kg	100 320 350		145,000 117,000 112,000	kg kg	24 6 50		12,000 3,000 20,000	kg kg kg	20 40 50		9,000 16,000	:									:			kg kg kg	24 20 18		3,64 3,00 1,80
Lk-20 Lk-21 Lk-22 Lk-23	kg kg	400 400 400 300		130,000 122,000 120,000 90,000	kg kg			57,000 30,000 16,800 22,800		-:-	:		kg	10	-	1,000	kg	5	2 000		-	:			N Section Sect	36 24 24 24		3,60 5,28 3,12 2,68
LK-24 LK-25 LK-26 LK-27	×,	400 400 360 300		122,000 120,000 108,000 96,000	kg	60 10 60 4		25,000 5,500 27,000 2,400		10 50		4,500 17,500		20 10 10	-	3,500 100 800 1,800		15 10 6		5,250 250 1,800				} }	kg	24 40 30 18		3,12 6,00 6,00 2,89
Lk-28 Lk-29 Lk-30	555	1300 340 343		396,000 152,000 102,000	kg kg kg	30 50 360		14,400 25,000 33,000	kg kg	600 40		228,000 14,000			-	•.B.A.		:   :							ig ig ig	40 50 30		4,60 5,00 3,60
Lk 31 Lk 32 Lk 33 Lk 34	kg kg	400 650 400 480		120,000 192,000 120,000 168,000	kg kg kg	80 60 60 20		3,000 30,000 18,000 9,000	13	10	:	1,500	·- <del>:</del> ·				19	5		500	-	-			252	36 24 48 12	:	3,60 5,30 5,76 1,44
Lk-35 Lk-36 Lk-37	19	150 600 300		40,500 170,000 94,000	kg	10	-:	4,000	*3	3		1,080	13	5		430	I٠	3		<b>3</b> 50		:	-		252	24 24		3,60 4,80 2,40
Lk-38 Lk-39 Lk-40 Lk-41	kg kg kg	300 900 300 1000		105,600 270,000 90,000 285,000	j ;	50 80 24 300		19,000 40,000 9,500 140,000	l - I	50 20 30	-	15,000 11,000 10,500		30 200 50		2,400 36,000 10,000	1 .	150		37,500					kg kg kg	18 50 50 84		2,70 9,00 5,00 8,40
Lk:42 Lk:43 Lk:44	kg kg ka	360 160 400		108,000 32,200 145,000	13	30 10	:	14,000 4,000	,	30 8		14,000 3,200	٠				:					:			kg kg	30 24 50		3,10 2,40 6,00
k-45 k-46		506 400		160,000 120,000	13	70 30	<u>                                     </u>	27,300 11,600		50		19,000	Ŀ	<u> </u>	:		Ŀ	<u> </u>	<u> </u>	<u> </u>	Ŀ	<u> </u>	<u>[_</u> :	]:	ko ko	15 36	:	1,8 3,2

Table V-4.16 Results of Herders & Farmers Interview: 7.4.1 Expenditure (2/2)

F		1.9	heat Flou		r	0	2. Rice				. M.fet		·	C4.	cenca Polato	25	 		egelab				ocking				7. 5ak	
Ü	na	<u>q</u> n(y	price	Billuid	บกลั	gory	price	ama	₩≹	Qnl'y	price	amnt	unit	3.0	birce	ลกเก	unit	dur, A	buce	amni	er i	go(y	price	iners.	unit	Q:(Y	price	B.
01 6		900		216,000	kg	50	-	18,000		•		·	-	100	-	10,000	-	49	٠.	52.000	•	·	-	<del> </del> :	kg	50		3,
03] k		900		215,000 218,000	g	50 50		19,000 19,000		:			:	50	-	10,800	:	-			pcs	8		4,800	kg kg	120 50	]	16 1
04 k	kg į	900 840		215,000 201,600	kg	100 50		50,000 19,000	kg	10		2,500	:	100	:	15,000 8,000	:								kg	200 100		16 3
06 k	1	900		216,000		20		11,000 22,500		•			l a	70 50		7,000 5,000									kg	60 20		1
C8 a	kg [	450 600		108,000 144,000	kg kg	50 100		45 000	ķg.	10		30,500	* 1	١.	_					:	-				kġ	70		4.
		600		144,000 144,000	kg kg	50 50		20,000 17,000	:		-		kg kg	50		5,000 5,000	l.;	:							kg kg	70 50		3
11 k	kg	600 250	-	144,000 60,000	kg kg	20 10		8,000 4,500		-			kg kg	50 50		3,000 4,000	kg kg	40 20		4,000 2,000	[ ]	:	:		kg kg	40 30		2 1
13 k	kg ]	600	-	144,000	kg	50 50	-	20,500 20,000	ċ	30		9,000	kj	430		43,000	ľ	:	:		l : :	:		1	kg kg	50 50		3
15 }	kg kg	900 750		216,000 180,000	kg _kg	50		19,000	kg 		_ :	3.000	<u>:</u>	4			.:				l			ļ	kg	50		3
	kg	250 900		60,000 216,000	kg	100		35,000 45,000	:	į :			kg	100 150	:	10,000 15,000		50	:	5,000	١.	:		] :	kg	10 40		2
9	kg	500 900		144,000 198,000		50 100		20,000 35,000	] :	<b> </b> :			:	60 120		9,000 7,200	:	100 150	:	5,000 15,000		:		:		50 25	•	1
0 1	kg [	900		216,000	kg	50		22,500	kg				ķg	200		12,000					<u>-</u>	<u>-:</u>		; 	k <u>a</u>	40 90		2
2] (	kg kg	600 300		844,000 72,000	kg	100		5,500	:	:			kg	100		10,000	:		:	-	:	:	-		kg	30		2
	i d	600 450		144,000	kg kg	50 10		17,500 35,000	kg kg	20		5,600 800	kg kg	60		6,000 10,000					:	:			kg kg	45 50		3
	ķģ	900 300		216,000 90,000	9	10		3,500 42,000	-	÷		·	.kg	60		60,000		÷				÷	:		kg	70 70	:	8
7 6	kg	600		168,000		٠ ا	]				,		-				-	٠.	-		١.		-		kg	70		7
	kg kg	900 450		243,000 126,000	kg kg	10 5	]	4,500 2,000		:	-		ko	100		8,000				] :	:	:	:		kg kg	50 50		1
이 :	kg   kg	600 500		168,000 176,000	10 10	20		9,000	ŀ	- <u>:</u> -			-	۱÷	<u> </u>		÷	÷		ļ:	-	-		<b>.</b>	kg kg	70 70		-
5 1	kş	600		88,800	-3	50	-	22,500 31,500		-		1.	kg	100 10		13,000 1,000	kg	50		4,000	1	:			kg	100 70	•	1
4 1	kg kg	600 250	-	120,000 62,500	10	70		31,300					-			1,000	.				-				kg	70		1
5 i € i	kg	600 300		168,000 75,000	÷	÷							-	ļ- <u>-</u> -		-:	ŀ÷	÷		}:	:				kg kg	70 70		1
7 1	kg kg	600 360		156,000	kg	100		35,000					:		:		:	:			li	10	:	9,000	kg	80	•	
9 1	kg i	300		84,000		50	-	20,000		٠			•		•	•		:							kg	50 50		
י ויַ	kg kg	300		60,000 84,000	70	20		9,000		÷			F								-	÷		1	kg kg	100	<del></del>	П
	kg   kg	300 145		75,000 40,600	:					1	:		*3	3		450	:	:			H				kg kg	50 30		1
9 1	kg kg	600 300	11	132,000 84,000	kg	50 50	]	17,500 27,600		:			ko	100		8,000	:	:	:		l :	:		7	kg kg	25 50		
6	ko	600		140,000	κg	100	-	23,000	Ţ-	·	j		1.7	-"	-	3,5	-			ļ:		-	-		kg	20 70	•	
2 1	kg į kg į	900 300		252,000		501		25,000	ig	20		6,600	kg	10		2,000	:	1					:		kg kg	70		3
13 I 14	kg	400 240		120,000 72,000	kg	20 360		9,000 16,560		-							:				:	:	: :		kg	30 50		1
)5 )6	: 1	600 300		160,000 90,000		50 5		22,500 2,500	ŀ		•		1:			•										60 50		1
37 I	kg	300		90,000	kg.	40		16,000	.	•	-		۱-				·	1			1	-			1	100		1
)0 )9 . j	kg	300		93,000	:					<u> </u> :							<u> </u>	]		ļ		<u> </u>		1	kg	20		13
D	kg	200 4000		60,000 120,000		10		4,500		:			-		; :		:			į .		:			kş	20 60	-	1
12	kg kg	400 250		86,000 60,000		20 50		9,000	1	:			kg	50	83	4,000	:				:	1:			kg kg	70 80	100	37
14		450		134,500	-	20		9,000	<u> </u>			7	-	40		8,000	l	1			ļ					60 60		
6		400 150		112,000 49,500	١.	10		4,800	.	15		7,000	١.	:	:	"."	1	-	'		:	:			-	6		l
7	:	700 350		175,000 105,000		20	:	9,500 2,500					:	:	:		:					:				60 30		1
9.	lg	600 600		180,000 240,000	٠.	50 10		27,500 4,500	13	50 10		12,000 3,500		100	- :	50,000	:	:	:		-	+			kg	60 50	:	1
1	.	600 600		170,000 150,000	1 -	50 20		25,000 10,000	`	:			1:		:	<u> </u>	:	-			:	:	:		k <sub>Q</sub>	70 50		
3	ا ا	120		34,000	lig	3	-	1,500				,	•	-			-	-	-		•		-			15 50		
4	:	500 300		140,000 90,000	:	5		2,500		ļ			÷		ļ	} <u>-</u> ]	1					-:-				50	tenni.	
_1 .	kg	300 600		90,000 180,000	ij	10		4,500		:			k,	10		2,400	] :	•	:	]	;	;			ko	20 70		1
3		200 150		60,000 4,500		10		4,500		:				-			1:					-		1		15 30		
0		600		180,000		10		4,600				N. 000	1			ļ	÷			1	•			1		70	50	
32	kg ; kg ;	1500 1000	350 260		ký ký	10	180	4,800 4,200	]	10	360	3.600			:		:	:			:	] :			kg kg	200°	90	1
33 34 1	ka.	300 600	180,000	90,000	13	20 10		9,000 \$,000			:		ks	15		3,800	] :		] .	İ,	[:	:	] ;		kg	35 70		
35, 1	ko ko	350 600		100,000 168,000	149	7		3,500 18,000		3	[ :	1,000 1,680	kg	20		1,400	kg	12		1,600		:			kg kg	25 70		
3.7	``	600	] [	180,000	•	1 -		44,500	{ ; }		]		•					:		-	•			1	1.	60		1
36 39		160 800		44,800 12,000		5		2,200	:		] ;			<u> </u> :_	<u> </u>		Ŀ	٠.	1	1		] :	<u> </u>			70		L
10 -0		300 550	230	90,000		10	430	6,000 4,000		10	!:	3.800		[	] :	į .						15		\$5,000	)	45 36	80	
-0	kg	250	170	42,500	kg		400						:	:	:			1:	:		pes		900		k;	20 50	80 70	
-0	kg -	800 400	185 310	123,000		60	450			20	400			200	100	25,000 25,000	:	<u>5</u>	150	750	pcs 	10	1,000	10,000		24	120	
-0	l g	400 600	170		l kg	20	450 350	9,000 7,000		10	400		l kg	100 50	250 200	€ 10,000	lig	50 8	300 200	15,000		٠.	1,200	-	<ul> <li>pcs</li> </ul>	24 50	70	
-0	. [	300	300		-	5	450	2,250		S	400	2.000	10	-100 100	50	1,000	i . ·	1 -	.	15,000	1 .	5	1,000	5,000		24	150	

Table V-4.16 Results of Herders & Farmers Interview: 7.4.2 Expenditure (1/2)

		Öğ	Sugar	9000	0	9. Çar	3y 8 Co				0. Tea		Home E					(01-10)	·····				
ľ	v' ' <b>"</b>	gia y	Suice	amne	UTIN	(A.D)	price	amra	B-∪K	( get)	price	amnt	ยกสั	1/2 AC	3400	5/5 OC	7/8 FS	9 Naim	10 other	gnt'y	buce	amni	rem
┢	kg	10	190	4,900	kī	15	1,200	18,000		8	500	113900		,,,,,,	4100		1.010	1	70 01112	-	├	487.550	-
ı	Ĭ.				14	,,	1,200	10,000		ľ	25000		•			•	•	6				167,900	1
	kg kg	50 10	500 430	2,500 4,900	:	:	:	60,000	pcs	1:	2,000 1,800		•	5	·		:	5	i	:	1:	258,900	
1	.	50	420	21,000			-	120,000		1	2 000	8,000	-	:	-		-	9	:		-	454,660	( )
<b>1</b>	kg kg	50 10	500	20 000 5 000	-: -	-:-		30,000	pcs pcs	6	1 500 1 500			3				83				292,000 284,700	
	ký	4	450	1,800	- 1		-	10,000	•	5	1,500	3,000		1		٠		7				127,800	
					•	:		25,000 10,000	pcs pcs	12	250 600							:				203,825	
	ko -	4	600 450	2,400	- 15 Ts			15,000	pes	. 3_	1,100					·	ļ <u>:</u>			<u></u>		157,800	
ľ	**	٠ [		2,000	fog	:		5,200 10,000	pcs pcs	12	1,100 700									i :		176,450 238,600	ï
	kg   kj	10	450 400	4,500 4,000	kg kg	•		10,000 10,000	pcs	3	1,100		•	•	•	-	•	-	-	•	١.	192 300	
	î s	45		20,000	Ts	:		30,000	DCS DCS	. 8	600				:						1:	225,200 336,080	!
	k j	10	500	5,000		•		15,000	pcs	6	800		•		•				•	-		193,860	!-
		3	450	1,350	kg kg			10,000 10,000	OCS OCS	10	800 750					:		:			:	167,490 61,250	1
1	k,	5	400 380	2,000 1,900	T's	•	-	10,000	pcs	5	1,000	5,000	•	i	•	•	٠	-		-		113,800	!
-	kj .	à	450	9.000	tg. Tog	÷	20,000	5,000	pcs	. 2	1,000	2,000 3,000	<del>:</del>						<del>:</del>	-	-:	99 800 205 250	<del>-</del> -
	kg For	5	500 450	2.500 2.250	Ts To	٠	\$5,000	8,250	pcs	8	1,200	9,600 2,400	•	-	-	. •	•	- 1	-	-	٠ ا	131,800	
	i l	2	500	1,000	•			15,000	pcs	2	1,200 1,200	2,100		:	:	:	:	-			:	135,400 148,890	
	kg [	40	480	19,200		ŀ÷		20,000 3,000	ocs	3	1,100 600	2,200 1,800	<u></u> -							<u>.</u>	Ŀ	119,700 76,550	ļ
1	kg 📗		-	]	tor	-		5,000	bca bca	5	800	4,000		:	-	:			:	:		76,550 339,000	
	kg   hg	20	500 550	10,000 5,500	kg head			30,000 20,000	pcs pcs	1	•	800 800	•	•	•	•	•	•	•	•	•	398 450	ì
		3	450	1,350		ـــا	<u>.</u>	15,000	pcs	6	100	6,000		<u> </u>			<u> </u>		_:	_:		93,800 185,450	!
,	ka	10	500 500	500 5,000			<u>:</u> i	5,000 30,000	pes	6	800 900	4,800 5,400	:						•			106 600 153 400	
				٠	·	٠		20,000	pes	5	900	4,500							, -	÷		130 550	
	kg   kg	10	500	5,000 500	i.g	:		30,000 15,000	pcs pcs	5 12	1,000 900	5,000 10,800	:				-			•	:	282,000 156,300	
Т	kg [	5	480	2,400	kg	•		30,000	ocs	2	700	1,430										117,800	
	kg į	15	500	7,500	kg Ts	:		44,000 12,000	pcs pcs	5	700 800	3,500 3,200									:	219,800 132,700	
ì	kō	4	480	1,920	kg	:		56,000	pcs	В	900	7,200	٠.		•	- 1	-					356,120	
	kg	10	450	4,800	OC1	3	825	1,650 20,000	pcs		800	2,400										114,600 204,850	
1	kg	12	500	6,000	lg	ż	1	30,000	рсз	12	750	8 000		.			-	-				240,500	
1					kg -			10,000	pcs	3		2,800		:		.				•		65,000°	
1	ką į	10		4,500	"kg,	30		45,000	PC8	18		16,000								•	1.	210,500	 
1	۱, ۱	24	- 0	2,500 16,800	kı	3		3,900 7,500	pcs	12 36		15,000 54,000			•							109.360, 217.850	
	٠	60 24		36,000 13,200	•	15	7.3	22.500	•	12	•	14,490	-				•	- 1		•		2\$1,820	
1	ا وا	70	-3	35,000	kg	20		16,000 20,000	pćś	12		9,600 14,400									:	147,760 399,850	
	:	60   30		30,500 18,000	•	20 10		15,800 15,000	DCS	12		10,300 14,400										162,230	
	٠	10		5,500	÷	ş		13,500	,,,,	24		28,800	: 1			- 1		1 .	:			182,220 226,500	• •
	:	3		1,650	kg	5 16		7,500 2,560	pcs	12 18		\$4,400 21,500	:			•				. [	ì	171,800 61,910	•
	kg [	36		18,000	lg.	\$		6,000	pcs	1	-	7,200								÷		143,400	
	ka	24		2,500 16,800	kg kg	12		18,000 12,000	pcs pcs	12		\$4,400 6,000					: 1	:	. :	•	:	222,140 154,100	. '
1	kg	10		7,000	kj	5		6 500	DCS	34		51,000	- ]	•				•				235,150	
	kg .   kg	16 16		<b>8</b> ,000	-kg	20		16,000 25,000	pcs pcs	12 24	:	21,600 28,400					:	:		-:-		188,900 222,040	
١	kg f	07	1	840 5,000	No	3	٠	6,000	pcs	10	-	16,000		. [		·		-	.	-	- 1	154,840	
•	ğ	20	- [	10,000	ko ko	24		7,500 36,000	pcs pcs	12	]	15,000 21,600	:				•					179,300 258,200	
ŀ	ig [	3 120		4 500 60 000	kg.	22		3,000 38,000	pcs pcs	6 24		7,290 28,800		[	:							171,980	
	. }	٠ ا		-	lo i	24		3,900	DCS	18		27,000					-				ij	267,720 146,580	
,		35 10	- 1	16,750 6,000	kp	20 10		30,000 15,000	pcs	18	j	31,000 10,000	:	•		-	-	-		- [	· . !	236,720	•
	<u>. i</u>	43		22,000		10		15,000		12		14,430								اا		168,150 212,500	
	- 1	10 30		15,000 15,000	k,	5 20		7,800 30,000	pcs	6 15		6,000 19,500		•							- 1	131,890 701,700	
ļ		10		5.000	kg	8		14,400	pcs	26		31,200						- 1		-	- [	246,600	•
k	ا ا	8		4,430	k;	15 4		22,500 2,200	DCS DCS	12 16	1	14,400 12,800	:	-				:	: 1	:		175,500 145,000	•
ŀ	9 [	3	7	1,500	kg	3		4,500	pes	12		14,400				·i	-				1	252,700	
	9	12		E.000	ko ko	16		7,200	pcs pcs	12 24		14,400 28,800	•					:	:		-	183,160 214,440	. •
ŀ	9	2	: -	1,150	٠ ا				pcs	4	-	4,800	.		.	• [		.	.	•	-	51,143 200,650	
, ik	.	3		6,000	*9.	- <u>6</u> -		7,200	pcs pcs	15 12	:	18,000 14,400				:		:		÷		200,650 120,800	
	ا و	10	-	5,800	kg	20	•	40,000	pcs	6	-	7,200	-			• •		.	- [	•	.	198,100	
k		180		67,500 25,000	kg	30 5		39,000 2,000	pcs	24 12	1	28,800 12,000	:	:					:	:	.	538,800 164,100	•
k	اد	50		25,000	kg	5	}	37,500	oès	18	:	18,000				<u>:</u>	i				-	514,900	
. *		15	:	7,506	kg kg	35 2	• • •	42,000 3,600	pcs pcs	12	į:	14,400 18,000			:	:				•		203,000 56,200	
	<u>ب</u>	3 10		1,500 6,000	No.	4		4,800	ocs	24	-	26,000	. ]	.	-	- :	- 1	-	-	-	-	192,500	
k		10	.1	5,000	kg i	5 15	- 1	8,500 18,000	pcs pcs	20 12	-i	26,000 14,400	• ]	• 1	. 1	٠ ١	٠ :	-	- 1	-	·	227,600	

Table V-4.16 Results of Herders & Farmers Interview: 7.4.2 Expenditure (2/2)

	08	Sugar		7	9 Ca	dy B Cox	kies			0. Tea		Home E	promote B			Subtotal	(01 - 10)	· · · · · · · · · · · · · · · · · · ·	r:::::::::::::::::::::::::::::::::::::	117.1	) - <u></u>	
unit	givt y	price	amnt	นาสั	QN y	price	88001	ur:it	quiy	price	amet	Un <b>≹</b>	1/2 AC	3/4/00	560C	7.8 PS	9 Naim	10 other	<u>q</u> nry	price	amnt	rem
	50		22,500	<del></del> -	15		16.500	pcs	15		45,000	<del></del>							-	<del>  .</del>	383,500	
kg	25	-	11,250	kg	10		11,000	pcs	12		19,200	-	-	-		-	•	•	-	-	293,250	
kg	50 15	:	20,000 7,500	kg	50 15		70,000 16,500	pcs pcs	8	١.	15,000	:	-	:	:			! :	:	1:	357,100 331,500	
_kg	20		6,000	_kg	10	<u> </u>	13,000	pes	5	l	9.000	<u>.</u>			·	<u> </u>	<u> </u>				262,600	
kg	10 20	1:	5,500 12,000	tg.	7 20		2,700 22,000	pcs	24	:	38,400 5,000			1 :	Ì :				:		290,400 175,900	
kg	20		9,000	kg	12		13,200	pcs	24		46 000		-						-	-	294,600	Ι.
kg kg	30 20	:	16,500 11,000	kg kg	30		42,000 33,000	pcs	13	:	15,000 6,000		:	:	: '	:			:		247,400 219,500	
9	10		5,000	kg	10	ļ <u>-</u>	11,000	pcs	8		8,000				ļ·-				-	-	186,200	
kg kg	10 30	-	5,000 13,500	kg kg	10 70		11,000 76,000	pcs pcs	12	:	12,000	-	:		1 :		:		:		94,300 263,000	
kg	25	] [	11,250	kg	50		50,000	pcs	12		18,000	: -		•	.	-	-		-		370,250	
. <b> Q</b> .	100 20		9,000		15 10		13,500 11,000	_\$3 .	15	:	26,400 18,000		:							<u> </u>	281,900 148,500	
ŧo.	15	٠.	6.750	kg	60		66,000	pes	12	٠.	12.000	-	-	-	•	-	-		-	-	362,750	1
•	20	:	9,000	:	13		13,000 8,600		12		24,000 12,000			:	:	] :	:		:		217,500 286,250	
kg	10		5,000	_kg	15		15,000	pes	12	ļ	12,000				ļ		ļ <u>.</u>		<u>.</u>		284,700	ļ
kg	12 5	l :	5,040 2,750	kġ	5		5,500	pes	12	:	25,200 4,400	:			:		:		:		184,240 96,750	١.
kġ	20	-	9,000	kg	25		27,500	pes	12	٠.	13,200			-	-		-	÷.	٠.		227,800	:
kg kg	20 10	l :	10,000 5,500	kg kg	10 5		11,000 5,500	pcs pcs	12	:	7,200 13,200	i :	:		:	:			:	] -	185,000 309,700	ļ
-	4		2,500		•	4	-	•	12		24,000		-	•			- :		-	T-	166,600	ļ —
kg	20	:	10,000	kg	40 20	[ :	40,000 26,000	pcs pcs	12 24	:	12,000 52,800				:	:			:	:	237,000 328,800	!
kg	3	-	1,500	kg	5	-	5,000	pcs	12		12.000				•		-	•			158,500	
kg .	<u>5</u>	ļ:	2,000 6,000	-kg	. <u>6</u> .	:	12,000	pcs pcs	12 24		12,000 60,000		· · · • · · ·		<del> </del>				<u> </u>	<del>:</del> -	201,400 270,000	ļ
kġ	30		18,000	kg	200		260,000	pcs	12		14,400		-	•	•		•	-	: •	•	429,700	
kg kg	15	:	6,000 2,000	kg kg	12	[ ]	12,000	pcs	24		48,000 6,600						1 1			:	226,500 75,800	•
kg .	24		15,500		i		4,500	pcs	12		10,800			_::					•	ļ	208,900 100,600	ļ
•	4		2,500		8		5,100 10,400	pc.s	12		12,000 26,400									:	203,400	
kg	20		13,000	kg	25	-	20,000	pes	12		12,000		•			- "	-				193,000 214,525	
kg i	25 3	:	65,925 900	l g	40		32,000 7,200	pcs pcs	12		12,000					i					85,500	( 4:
kg	1	•	1,200	kg	- ji	-	1,300	pes	4	,	4,000	•		•	•		•	٠	•		107,500 119,500	
•	] :	:		kg	3		3,900	pcs pcs	12		33,600 12,000							-			54,100	
k.g	10	١.	6,000		12	-	14,400	pcs	12		26,400	٠		•		•	1		•	!	198,800 155,500	
kg	20	:	7,000	- k3 - k3	12	[ <u>-</u> ]	3,300	PCS No	12		27,600 24,000		<del> </del> -		} <u></u>					<del> </del> -	213,450	-
•	:	[ -	2,250	143	5		5,000	pcs	8		14,400 7,200	-	-	•	•	•	-	-	12	1:	279,400 145,450	
kg kş	5 20		11,000	kg kg	30		2,400 24,000	kg pcs	;		B 000				[	- 1				!	172,900	t i
	4	<u></u>	2,200		10		15.000		12		2 500 16 000		فيد		i	<b>:</b>					97,760 245,500	ļ
	50 7		22,000 3,500		. 2		2,800		12		15,000					•	-			-	117,300	
٠,	:	1			- 5		3,000		5		7,500	: :									123,500	i
		ا . ا		kp	3		4,800	pcs	2	100	3,600	1_:			<u> </u>				[2		103,400	<u>!</u> _
•	10	1	5,000	kg	20		3,200 36,000	9	12		4,800 16,000										69,400 189,500	
kg	15	l	6,000	kg	35		9,000		18	١.,	19,800	-				•	•	•		-	132,800	
<b>kg</b>	20 15	460	9,200	kg	1		30,000 6,800	pcs	12		7,680		-	j :						13	136,880 176,000	1
	ð	_	1,000		15		24,000	7	6	1	6,000			·				[		Γ	173,800 57,860	
	10	:	5,000	:	20		3,900 26,000	:	3 7		3,500 13,300									:	241,900	
•.	4		2,000	•		2		٠	- 5		7,200		•	, •	:	•		•	:		118,800 290,400	
kg	25 15	}	16,300 6,250	- 1	20	1	16,000 16,000	pcs	6		6,500 15,000						:	·- <del>;</del>	•		295,250	
. •		-	15,000		3		3,000 4,200		6	'	7,500 7,200		:	•	l :				•		210,400 189,900	
3	10 5		2,300	*3	2		2,400	p,s	6	] :	4,800	:	•						١.		46,000	[
<u>.</u> -	1:3		1,400	<u></u> -	5		7,500 4,800	-:-	8		18,000 7,400			<b> :-</b> -	·	-:		-:	-:-	ļ÷	163,000	
	-		-}		1		, 4,000		5		5,000		• .		İ	-				· .	104,900	
kg	8		4,500	1g	3		4,400 3,000	çes	3	21,000	3,000				:				:		203,300 71,500	
	10		5,500	L.	14		17,000		4	<b> </b>	- 8,000								ļ <u>.</u>		37,100	
kg	20	550	21,000		15	1,200	18,000	pcs	6 35	1,175	7,800 42,300		;						1	:	220,400 622,700	
	-	"		l g	2	1,100	\$ 500	`-	12	300	3,600		•		•	٠	. •	-	-		278,000	
kj	10 25		4,500 12,500	l.	5		7,500 6,000	p.s	8	1	- 9,500 - 12,000	•		•					-	:	123,100 46,300	! !
*3	10	1-	5,000	Ī	5	1	6,000	pcs	6	1	2,400				<b></b>				-	-	122,700	!-:
kg	16 50	:	8,000 27,500	kg	10	. :	3,800 17,000	p:s	3	:	3,500 5,000		1 :	1:	:			:			207,980 245,500	
-	4		2,000	-	١.	]		-	3	i ,	4,000			-	•	٠	٠. ا			•	51,850	ľ
	15		1,000 7,500		10	<del> </del> ]	7,000 12,000		12	ļ	10,000	:	<del>:</del>	:-	-:	<del>:</del>	<del>:</del>			÷	37,800 127,500	į
	20	500	10,000		10	1,600	15,000		3	1,004	3,000	-		١.					į ·	-	177,380	١.
kg kg	50	450		Tor Tog	1:	:	100,000		2	1,200 2,500		:	:	! :	:	:	;		:	:	178,200 218,000	1
	60	150	27,000		10	1,500	15,000	{ `~	4	1,20	4,800	_	:-		1	· · · ·	<u>.</u>	[			226,430	į.
ocs	10 20	400	4,500 8,000	pcs	39	:	30,060 15,000		5	1,50	- 6,500 3,000		:			:	:	:	:	1:	150,100	
hes	12	500	6,000		10	1,500		•	2	120 60	0 2,400			•					٠		127,250 89,800	ì

Table V-4.16 Results of Herders & Farmers Interview: 7.4.3 Expenditure (1/2)

	11.126	acca I	TCF	arel		12	Aicolo	y	1	13	Walch		г	77	Candla				TK-F	Marter				<b>3</b> 5.50		יית	(pae	Usa P		
	unik gn			anve	unit		price		unit			âma	unit			amnt.	reman	unit		buce	hime	นกลั	qny	price	arrel	unit	onty	price	amili	tert
の今ののの11年11年11年11年12年ででできることであるのであるのであるのでは、11年11年11年11年できるできなどでは、12年12年12年12年12年12年12年12年12年12年12年12年12年1	1   2   2   2   3   3	5522222 1 1 5 5 2 2 1 1 5 5 2 2 2 2 2 2	100 100 100 100 100 100 100 100 100 100		kg pos pos pos pos pos pos pos pos pos pos	15 50 8 40 50 40 10 · · · · · · · · · · · · · · · · · ·		24,500 12,000 12,000 65,500 15,000 15,000 16,000 17,500 18,000 11,5000 18,000 11,5000 10,600 35,000 10,600 35,000 10,600 7,600 10,600 7,600 10	box head	9017 30 50 524 52 12 36 12 12 36 12 12 12 13 40 12 14 15 12 14 15 16 17 18 18 18 18 18 18 18 18 18 18 18 18 18	2500 2000 1300 1600 1600 1600 1600 1600 1600 1	7,500 10,000 6,750 2,160 1,200	pcs head pckg head head head head head head head head	250 15 39 36 50 70 70 100 5	290 220 250 130 200 200 250 250 250 250 250 250 250 25		7800	pcs pcs pcs pcs pcs pcs pcs pcs pcs pcs	10 20 180 20 20 20 20 20 20 20 20 20 20 20 20 20	1,200 400 250 380 300 300 200 200 200 200 250 250 250 250 250 2	### 12,000 ### 12,000 ### 12,000 ### 12,000 ### 12,000 ### 12,000 ### 12,000 ### 12,000 ### 12,000 ### 12,000 ### 12,000 ### 13,000	pcs pcs pcs pcs pcs pcs pcs pcs pcs pcs	150 50 50 50 50 50 50 50 50 50 50 50 50 5	2 Soat price   240   260	2,000 12,000 12,000 12,000 12,000 12,000 12,000 12,000 12,000 12,000 12,000 12,000 12,000 12,000 13,				3,500 4,100 3,600 15,600 15,600 15,600	
G 61 G 62 G 63 G 64 G 65	005 12 005 12 005 12	! [	· 1	8,000 4,400 4,400	pcs i	15 10 20 10		21 750 14 500 28 000 14 500	box pos pos pos	430 360 1000 200		3,600 10,000	pcs pcs	380 360 365 800	- 1	7,600 8,000 9,125	÷ -		60		18,006 10,320 31,006	:	:			:	$\vdots$	-{	1	

Table V-4.16 Results of Herders & Farmers Interview: 7.4.3 Expenditure (2/2)

		o L Cigaret price   ami	unit		Alcoho price		ink		Malch price	8mir#	ūńί	(4. 9:1)	Candle price	апи <b>т</b>	remark	unit	1 <u>5</u> 1.	powder price	amre	บกใ	gai y	2 Soap price	a iivit			Vag. 6	ooks amril	ţm
pcs pcs	18	- 15,0 - 28,8	O pcs	6 20	_	8,100 29,000	pcs ber	720 240		7,200 2,400	ocs.	720 730		36,000 21,900		pcs pcs	50 6		9,000 1,800	pcs	72		10,800	•	:		2,700	-
pcs pcs pcs	24 25 24	- 46,0 - 37,5 - 36,0	0	20 10 8	į	28,000 14,000 12,000	pcs pcs bcx	680 300 360	-	6,800 3,000 3,600	ocs	500 200 360	-	10,000 4,000 18,000		pcs	60 36 60		28,000 5,400 10,800		-				:			-
		-		20		28,000	bex bex	200 200 120		2,000 2,000 1,200	rcs.	400 200 250	-	20,000 10,000 6,250		pcs pcs	60 36 120		8,400 5,760 16,800	•	:			:	•			:
pcs pcs	15 15	6,0 22,5		20 36	-	28,000 50,400	pes pes	350 389 300		3,500 3,800 3,000	pcs pcs	200 360 340		5,000 7,200 8,500		pcs	36 48 36		5,760 7,680 6,450	:				: ::-	:-			
	12	- 18,0		20 10		28,000 14,000	pcs	200 360	-	2,000 3,600	ocs.	250 180		5,000 10,800		pcs	60 60		9,000 7,200	:							•	-
pcs	12 12 24	- 18,0 18,0 26,6	O DCS	20		28,000 32,400	ocs ocs	180 180		4,300 1,820 12,000	pcs pcs	500 180 200		25,000 10,800 4,000		pcs pcs	40 60 72		6,000 9,600 14,000		:.			:	:-			
pcs pcs	24 12	33.5	pcs C pcs	7 20 10	į	9,800 28,000 13,000	pcs box	120 400 360	-	1,200 4,000 3,600		360 500 400		21,600 22,500 16,000		pcs pcs	36 50 360		5,760 8,000 6,480	:	-							
:			· pcs	20 5		28,000 6,000	£cs	500 100	-	5,000 1,500	<u>pcs</u>	540 150		32,400		pcs	180 25		32,400 5,000	÷	-		:	÷	-:			-
pcs pcs	18 12 15	- 21.6 18.0 - 22.5	XX pcs	6	-	54,000 8,100 12,000		300 370 360		3,000 5,550 3,600	posa	400 720 365		10,000 18,000 9,125		pcs pcs	40 25		7,000 18,360 3,750	:	•		· ·	-	:			
pcs pcs	24 12	- 36,0 18,5	X pcs	11 20 30		14,300 27,000 40,500	pcs pcs pcs	240 300 50		2,400 3,000 1,250	ocs ocs	300 200 200		7,500 6,000 5,000		PCS PCS PCS	60 40 76		9,500 6,400 6,080			-		7.	÷		30,000	
pcs pcs	24 10	- 36,0 - 15,0	XI bottie	20		36,000	por por	240 80	-	3,600 800	pcs pcs	400 400		10,000 10,000	-	pcs	60 10		15,000 2,500	•					•		•	
-			pcs	8		20,200 1,350	pos pos	30 120 25	7	450 1,800 375	1	600 600		1,000 15,000 15,000		pcs	24 72 15		10,500 11,500 5,250	÷			:	•			3,600	
pcs pcs pcs	8 8 12	- 10,4 - 8,0 - 24,0	0 pcs	20 15 2		26,000 15,000 2,700	pcs pcs box	120 120 60	. 3	1,200 1,200 12,000	pcs pcs	150 300 120		5,250 6,000 10,800		pcs pcs pcs	15 190 60	350	5,250 16,000 9,600		50	160	8,000		1	-	18,000 3,950	
pcs pcs	12 12	- 24,0 - 30,0	0 pcs	2		2,600	pcs pcs	300 36		4,500 540	ocs ocs	200 360		10,000 27,000		pcs pcs	1 3 12		1,600 1,440 2,000	pcs pcs	36 52		10,080 10,400	:				
pcs pcs	12 12	- 12,0 - 14,4		7 10		9,100 13,150	pcs pcs	360 360 500		3,000 5,400 5,000	905	365 700		9,000 17,500		pcs pcs	120 15		15,600 2,400					:			2,500	
ocs caca	3	. 4,5 . 4,8		5 10 2	1	6,500 11,000 3,000		72 240 180		1,680 4,800 1,800	QC 5	180 360 180	-	4,500 21,000 10,800		pos pos pos	4B 36 560		5,720 12,000 12,100		1.4.1							
3	145	16,0	:	30		48,000	pcs	70 60 360		2,000 1,200 7,200	-	60 110		3,300 5,500		-1	35 25 120		6,300 5,400 25,000	·				:	•	:		     -
:	12	24,0		6		24,000 4,800		80 360		1,600 12,600		180 100		8,100 28,000			120		24,000		•			-	•		•	-
pcs	12	12.0	XO pes	3		4,500	pcs pcs	120 43		2,400 800		90 180		3,600		pcs pcs	120 24		24,000 5,300					-		-		
box box	12 12 12	35.6 13.8 14.7	XI bottis		1,300	7,500 4,125 6,500	pcs pcs	360 120 365	20	7,200 2,400 7,300	oc s	120 183 365	4.5	7,600 7,300 14,600		pcs bex	50 188 12	450	31,200 34,690 5,400	pcs	207		39,180	[:	•			
	24 8	28,8 10,4	х)	10		15,000 15,000		360 180	:	7,200 2,700		365 250	: "L	7,000	ļ <del>.</del> -	<u> </u>	112 112		26,000 21,000					-		,	4.000	-
	12	14.4	×			1,500		100 360 50		7,200 1,000		105 100 150		6,000 5,000 7,000	!		52 72 150		12,900 18,000 25,000								16,000	1
DC S	12	24.0	ocs	10 7		15,000 10,500	pcs	53 1000 50		1,060 20,000 1,000	pcs	100 100 25		5,600 9,400 2,500		gcs.	60 32 125		15 500 7,550 24,000		-:			$\vdots$			11 700	<u> </u>
2 · 3 ·	2 30	. 2.0		8		12,500	pcs	50 20 55		1,200 400 2,500	•	80 50 55	,	4,800 3,000 4,000		pcs	100 60 102		23,000 12,000 20,000				:	] :			•	
5				2		2,500		50 50		1,000		180 150		9,000 15,000			130 33	•	10,000 5,500				7.00	: :	•			
tox	12 10 12	- 15,6 - 12,0 - 19,2	X.	3 2 4		3,300 2,800 7,200		70 240 100		1,200 3,600 2,700		550 50 200		11,000 15,000 8,000		backagi	5 23 14		2,250 4,500 4,000		50		7,500				3,000 480	
l box	12 24 24	1500 36.0 1,500 36.0	0				ocs	180 365 120	20	3,000 7,300 720	pcs	200 730 385	35	12,000 25,550 1,825		ocs	62 100 50	200	15,000 20,000 19,000		40	350	14,000					
2 <b>bc</b> x	12	1,500 30,0	00 	2		5,000		60 120		1,500 2,400	pc <u>s</u>	200 260		7,800		gcs.	20 125		6,600 20,000		1 ·				÷			ļ
5		430	x pcs	6 15 10		9,000 22,500 15,500	pcs	60 30 360		1,200 600 7,200	pcs.	150 360 365		7,500 16,200 18,250		şcs	45 120 36		11,700 26,400 15,100	١.				:			13,000	į.
8 .	6	7.0	×	2				120 50		1,800 1,000		80 150 120		4,800 7,500 7,200	•	-:-	18 70 36		4,500 14,000 9,000	-:		_			í		1,800	
0 .	12	18.0	oo pos	30 30	1,500 1,500	3,000 45,000 45,000	pcs	180 360 10	130		:			• :		pcs	78 10	350	15,960 3,500	pcs	50	100	5,000	:			2,400	. 
0	12	1,200, 14.4 15.0	oc pcs	50 30	1,500 1,500 1,500	75,000 45,000 30,000		7 150 150	200	1,400 2,250 2,400		10	160	1,600		1)CS	12 84 132	350	4,200 12,000 21,600		120	150	18,900				2 500 15 600	i
0 .	15	1,500, 22,5	- pcs	13 10	1,590 1,990 1,050	19,500	head		130	650 540	:	-		:		pcs pcs	12 96 6	450 360	5,400 18,000	pcs ·	60 36	200 120	12,000 4,320	- i	:	:		

Table V-4.16 Results of Herders & Farmers Interview: 7.4.4 Expenditure (1/2)

	17.	Ger Cov	er		18	Ge	у Нера	ning amai	Ι	1	. Carpe	<u> </u>	Т	20	Cal	in		1					oal (11 -	20)				
in i	quy	price	amnt	ńυ	q	Y,	price	amin	υńξ	Qnry	price	anut	uni	only	once	aners [	rema.	o vini		F		OB		L	qci y	price	amre	ľ
_				ļ	1				L		<u> </u>	ļ	ļ_		<u> </u>	<u> </u>	<u> </u>	L	1/2 AC	1	5/6 00	7:8 PS	9 Naim	10 other		ļ	113,500	L
				:			j	3,300	pcs	1	70,000	70,000		:	:			Ü	5		"		i	"		] :	183,100	7.
٠	٠.		. •	Ŀ	1:	:	-		1	-	-		-	٠	١.	·}	·	ŀ	•		•	-	4	-	•		21,550 209,040	
:	1	25,000	25,000	¥g		•	•	4,500		2	48,000	96,000	١.	:				ŀ	:		:	:	,				207,060	'n
- 1			-	kg			1,200	9,600					1 -		٠.			1					5		•		26,900 141,600	), _
:	!		12,000	,	1		1,000	5,000	] :	5	40,000	80,000	"	:	:			1:	:	:	! :	:	:		:	[ ]	35,440	
-	-		-	•	1.	١.	i		nug.	; -	١.	50,000	٠	-		·] ·	·	ŀ				٠	1				79,650 22,400	
: ] Cs	1		23,000	DCS	+-			20,000			:		1-	- <u>:</u>			j	-			<del> :</del>		- <del> </del>	<b>:</b>		:	67,280	
•	-	-	140,000	-	}.	٠	-		١.	-	١.		ŀ				·	ŀ							-	٠ ا	177,200	
					1	:	Ţ.		į:		:	[ :	:				į :	:	:		:	:	:	:		:	56,400 34,260	
٠					1.	:			<u> </u>	<u> </u>	ļ:	<u> </u>	Ŀ	<u>-</u> :-	-:	ļ	l	ŀ	<u></u>	ļ:	ļ <b>:</b>			1			41,860	Ţ
:		ij	- : [		1				:		] :	] :				] :			:		:	:	:	:		:	7,440 51,620	
4	•		-	•		٠				٠			•	٠		╎ .		١٠			-	٠.			-		27,600	
									:		] :		1:			:				;			:	:	-	:	37,500 37,200	
¢\$	1		25,000	•		- 1			ocs	1		18,000	ŀ	•		†	-	Ī٠	<del> </del>			-			•	ļ <del></del> ;	02,400	ţ-
				-	1:					:	:	:	1:	:	-	:	1:	1:	:		:					:	35,200 27,700	
-	٠		-	•	-	۱.		-	٠.				1.	-	٠		۱.	ŀ	-		-	٠ ا			·	١ .	25,500	ı
:	-:-	<u>:</u>		÷	1:	-		1,500	- <u>;-</u> -	-:-	} <u>:</u>	:	:	-	:	:		1		·- <del>:</del>		- <u>:</u>	- <del></del>	<del> :-</del> -	- :	:	14,800 12,700	Ĺ
- [	٠,	: .	<b>,, ,</b> , ,	-	١.	. [		-				¦ .	1.	۱.	•		•	ŀ	-	·	-	•	. •	-	-		26,300	
ics •	1	:	25,000	m ÷	3	٠	200	7,000	:	:	:	:		:	:		! :	Ľ		:		:	:	: :		:	70,600 48,900	
_	_1		27,000	•	ļ			10,000	<u> </u>		ļ <u>.</u>	ļ:	Ŀ	<u> </u>	_	ļ:	<u>  -                                   </u>	Ŀ	<u> </u>	<u> </u>			<u> -:</u>		<u>.</u>	ļ <u>·</u>	48,450	ł
:			- 1	•				80,000	·:			13,000		] :	:		] :	[:	:			:		: :			8,200 128,750	
٠,	-		-	4	} }		•	24,500		-			١.	١.	-			ŀ		•			• .	•			52,000	i
es.	1	į	45,000	•		:			pcs	2		26,000		2		2,400		1:		1		;		:			58,760 106,100	ŀ.
-				kg	1	Ī		25,000	-			1	1-			1	<u> </u>	j -					•				65,650	t
				:	1						:	1				:	į .	:		:		:					37,900 12,400	
ان			145,000	٠		.	-		pcs	1		50,000		11	-	20,000		ŀ					1 :		-	. •	248,100	
Ç\$	-!-		22,500	-:	1	:			[cs			50,000 58,400		- <del>-</del> -		ļ <u>-</u>	-	<u>:</u>		- :			<b> </b>	ļ			117,550 65,240	L.
٠	:		-	pći	• [·	:		100,000	ocs	2	25,000	50,000	pca			13,000	1	-		:		٠.			•		212,400	Ĺ
-			•			:					:					] :	į,			:	1.0		:				37,150 0	1
-	-:-			÷	1	-		<b>_6,0</b> 00					-	-:-		ļ:	:	Ŀ			L	<u>-</u>	: <u>.</u>	ļ	Ŀ		106,975 24,350	
							į		] :		:				-		į ,	Ü			.				:		87,240	L
	٠		30,000 45,000	•		٠		16,000	•	-		60,000	•	٠	-			٠		•					•		173,000 84,300	
		_				: [			1		l	<u> </u>						Ŀ			l			İ			64,800	ĺ
	1		45,000 36,000	:			i	490,000				45,000	]								:						197,400 564,800	
		-	18,000			-	-	400,000	-		:	75,000	1.	:				-									76,800	Ĺ
:			17,000	<u>:</u>		:		190,000	] :	:			1:	•	-			-		-		1	1:				50,320 269,480	
ii )	1		25,000	÷	. 4	-		******	ŀ	-			1-				1	-	<del>                                     </del>		- <del>:-</del> -	-	<b> </b>			:	58,500	ľ
:		]	30,000	:		:			1:			38,900			:	:	j :	1:			ĺ .				:		74,570 81,800	
			25,000			.	<b></b>					ļ .				.						-					79,460	l
:	~::		25,000		1.	:				1 -		i	-	<del>  -</del> -	_:			÷					ļ				60,300 90,000	
٠	•	-		٠			-	3,600	-	-	.		۱.	-	:			ŀ		:		: 🕹	•			.	78,425	ı
:	:			:		:		18,000	[ ]	i	:	45,000	1	:	:		:	1:					1				104,300 120,900	j
				:		:			ŀ				1.	ļ. <u>.</u>	_ :	ļ	<u> </u>	ŀ		:-	-		· ·		<u>i - </u>	و إ	67,100	ŀ
	:		23,000			:		2,500 12,000		:	1 :	j :	1:	:	:			[:		:	:				:		88,600 58,050	-
-		-	30,000	٠		٠١	•	_,	۱.	-	•		-	۱.			Į.	ŀ				-	1 -				127,450	i.
				:		:		35,000	1:	:	:	j.	1:	:				:			:				:		15,180 109,750	ď.
-				٠.		•				-	:			<del></del>	ļ	T		-	-	7				<u>-</u> -	•		23,400	i
:		:	34,000	٠		:			1:		:			:			! .	į.				1					115,100 91,650	
				٠	1.	٠١	-		•				١٠	٠		1	¦ ·	٠				•					67.050	
-				÷	-	:	7		ः	<u></u>	:	}·	-					-							.:.	:	34,640 54,600	ŀ
œs			65,000	*::	1:	٠Ι			l	- '	• •		ŀ	-	1 .		:	١.	2 • 1	•	1 - 2 - 1	٠.			٠,		125,150	ŀ
?	,		1			:			:	į		] '	1:	:	:	<b>)</b>		:		•						:	85,300 18,550	ŧ.
4				٠		:			J : .			1	:		<b>.</b>	\ <u>.</u>		:			<b>↓_:</b> _		1:	ļ <del>.</del>	<u>.</u>	_	37,800 57,000	١.
:	2		39,000	:		:		6,000 7,800			i :	25,000			1::	25,800		Ï				1:	:			<b>i</b> :	57,000 142,700	į
٠			35,000		í	٠ ]	-		1	:		]	ŀ٠	•				ŀ	1		١.			.	•,	:	119,250	ı
	,		25,000 56,000			:	:		1:		:		1:	:	:	j :		Ľ	:		:	1:	:		:	:	59,400 269,450	
-	1		30,000			<del>.</del> †		- ; - ; -	1			15,000			ļ	1		:		1- <del></del> -				<del>                                     </del>	÷	:	133,800	Ţ
		:	30,000	:		:	:		1:	1:	:		1:	1:	Ι:	] :		L		i :	:		:	:	:	:	36,000 102,330	
٠			18,000	٠	ŧ	.	.		ŀ	] :			۱.		Į i			ŀ	:	•		;	:	:	:	:	90,600	į
		<u>-</u> -:		- :-	1-	:-		:	÷	:	ļ:	·			:	<b> </b>	<b> </b>	÷		- <u>÷</u> -		:			-:-	:	81,590	
		•		ŀ		٠١		.	١.	1	.	50,000		] :				Ŀ	:	:	1 :	:	:		:	;	96,420	1
•			50,000	•		:	-		:	3	١.	100	1.	:		20.00		1:	:	'					•	۱ .	96,925	
٠,١	2		-V,UU	٠.	t				•	, ,	Ι.	90,000 20,000	1	1		20,000	) -			Ι.	j -			1 -	•		241,900 42,600	ri i

Table V-4.16 Results of Herders & Farmers Interview: 7.4.4 Expenditure (2/2)

		Ger Co	81		18. G	er Repa	annt	١	1	. Carpe	11 6 222	Γ.	20	Carta	'n	[rama/k		, <b>.</b>			\$66 941	∪(a) (31 -	20}	i was	1 227	1-2	
in i	doi)	price	emit	nue.	duil	price	8/THR	P.T	1 <u>840</u> )	once	amnt	U.	gniy	price	amma	1803A	USH		3/4 CC	4	7/8 PS	9 Naim	10 other	duch	pice	BUNIL	1
1	<del>.</del>			-		-	-	ļ ;	·		<del> </del>	†-	<del>-</del>				·	-	-	1	-	<del> </del>	1		<del>  .</del>	63,000	
	i		30,000		:			:	,		25,000		1	:	28,000					:	:			;		65,900 155,800	
	•			l :	ĺ:	_		:				<u> </u> :	-	:	` :		٠	-			1 :	1:	:	•		26,400 44,400	
-	<u> </u>									······································		E				ļ	-			-	) )					30,100	)
pes pes	2		30,000 75,000	:	:			pcs	1	:	25,000		i :				-				:		:	:	:	72,760 127,250	
pes	1		35,000 25,000		٠.	-	-	۱.		١ .		۱.	1:		11.000	•			-	•	•	1		•		77,260 109,080	
-			35,000		1		20 000		1		25,000	÷	2-2-		15,000 17,000					<u> </u>		·			:	114,980	ì
<b>!</b> :		:	:	:	· ·			1:	:		:	pcs	1.		25,000 20,000		:	:		1	:	:				69,000 55,600	
$ \cdot $	•		. •	١.				-	-		-	ŀ	-	_				١.		-				•	٠	35,300	)
:		:	<del>-</del>	<u> </u>	-			9C 5			20,000	:	÷				÷						:			50,220 82,450	)
	•	:	-	1:		:	•	1		1:	1	<b> </b> :			: :	1:	Ŀ					•		•	:	38,360 62,500	
pc a	1	•	19,200									.			[ .							. •		•		58,280	)
-	-	-:	30,000 25,000		<u> </u>			-:-	:			÷	÷				÷							÷		127,800 40,500	
pcs	1	:	35,000	pca	1		20,000	:	:		-	Ŀ				•	ŀ			•				•		129,000 50,010	
-			-	·		]		`			-		ì			:				-	•		:			28,475	×
-		:	··-··	-	-		<u> </u> :	-:-		:		÷					-			- <u>:</u>	- <u>:</u> -	<del> </del> -			-	33,800 42,100	
:		-	37,000	•		-	18,000 10,000		•		:		· .			•		:		:	!	-	1	•	-	100,830	Y
	÷	-	37,000	i.		]	1,000				.	ŀ	•			:										13,300	١
~	÷				-		4,000			:	<del>  -</del>	<del> </del>	-	_:	:	<u> </u>	÷	•		<del>:</del>				<u> </u>		35,750 32,300	
-	1	-	30,000		,		6,000 6,000		٠			-	٠.	: -	-				1	:				•	٠	57,975 69,700	
-		-	: ]			-	30,000	-	-		15,000											) -				87,150	ł
-	-		24,000 28,800	÷			20,000 30,000		-2-		50,000	÷-	•		14,000		-			- <del></del>		7:1		-:-		129,100 101,580	ľ
-	:	-	20 000	•						-				: •					1		:			:		39,380 25,000	
-			32,000		.		9,000	-	:									٠						•	.:.	82,500	ľ
-					-4		58,000	—				÷														96,050 17,800	t
903	1	•	18,000 18,000	٠	٠	,			1		70,000		•					:			•			•		136,800 45,700	ıį.
OC S	i		40,000	Ė					: 🕻			:						•	;							48,300	l
$\div$			· <u>:</u>	-	;			-	; -		28,000	-:-					-				$\div$	÷	-:-	<u>.</u>	:	9,900 113,700	
-	: :								. 1	-	40,000			٠	•				•			:	:	•		97,700 45,400	
				•								ŀ	•		-									-	1.	0	į.
-	÷			kg	.1_		4,800	-2				:	:-	:	. i			- :			} <del>-</del> ;			- :-		39,300 14,100	ľ
-	. 1		26,000 26,000					-	•	,			•	-		•						:		:		79,500 74,515	
pcs	-	-	20,000				10,000	pcs	1	23,000		sel	1		15,000			•	•		•					117,980	Ī
-			<del></del>		3		60.000					<u>:</u> -			,		÷	:						÷		55,200 112,700	ľ
:	:		18,000	•				•	:	- 1		:					:				-	1:	1:1	-		22,400 54,200	
	٠.			-				-	٠						, <b>-</b>			•		: )				.		33,000 48,660	1
ocs	ं		16 000	kp	4		800					OC 8	+	, -	13,000			· <del>:</del> -								17,250	ľ
ocs.	1		16,000					•	:			:					٠	:			:			:		27,500 57,500	
pes	-	-	•	-	:	-	40.000		:	-							٠			٠						15,400 116,500	
÷	÷			-:-	10 20		10,000 20,000		5		B0_000						-	:		- <del>:</del>	- <del>:</del>	-:-		-:-		19,000	t
6	50		18 500	:								1:	•	:		÷	•	:		:		:			:	24,350 46,750	
• 1	-	-		٠.	:	-			٠				•				•									26,380 46,900	ľ
- [	-1-		25,000									-			<u> </u>										:	30,000	1
•	39		26,000		:			•				:	•				:		] :				:	:		66,850 38,545	
•		: -		i		-			ļ ; '		20.000	-					$ \cdot $				-		•			20,100 65,200	Ĺ
ocs.	1	:	25,000					pos pos		;	30,000 30,000	•	-			-	-	;	-:-		•	-:-	<del>-</del>	•		84,400	ĺ
	2		40,000 15,000	kg	30 1		36,000 177,000		5	: -!	70,000 15,000		1		15,000		:		: :		* :				:	211,700 291,050	ĺ
- ]	-	-	(	•		-			•			٠	·		-5,000	•	$ \cdot $	•	-		•	•			4	17,100 23,500	
-	$\dot{i}$		42,000				5 500	:	1		32,000		• :				÷		-:					77 2 77		103,300	
pt; \$	i	:	15,000 16,000	ا - ا				o.  ocs	;		37,000 62,000	-			10,000		[:]	:				:		-		130,160 135,200	i
pc s	2	18,000	36,000	pcs	3	3,500	10,500		i	]	\$1,000		:	-				• 1	•		•		•	I		197,700	ŀ
-			43,000	•÷	÷.		6,000			—— <u>:</u>	35,000	-					÷									61,750 153,000	1
:	:	-{	J	:		-		:		-		1	•	-	•			•				:	.		1	37,550 37,540	l.
		ı j	j	I : I		1 3	. 1	l :	[ ]		1		•	•		1 .	ا . إ	! :	1 .			Į .		i l	1	19,730	